

Provincial Park

Municipal Boundary

++++++ Railway

- Hydro Corridor —

Proposed = = = = = = = = = =

Alternative





# Aurora: Nokiidaa Trail (St. John's Side Road - Wellington Street)



York Region

Lake to Lake Route Design

			Μι	ulti-Use Pa	th		Cros	sings	On-F	Road		Route Info	rmation	
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route	Photo Location #	Move Utility Pole/ Box	Move Support Pole	 New Retaining Wal Trail Connection
Alternative											<ul> <li>Private Entrance</li> <li>Bus Stop</li> </ul>	Move Light Pole Move Signal Pole	<ul> <li>Use Existing Pole for Signage</li> </ul>	 Property Line Municipal Boundar

# Sheet 4-1





[Aur-1] Nokiidaa Trail (West of John West Way - East of John West Way)

**Preferred:** Construct a 3.0m granular surface pathway following existing desire line under John West Way.

[Aur-1] Nokiidaa Trail (East of John West Way - North of Vandorf Sideroad)

**Preferred:** Construct a 3.0m granular surface pathway following existing desire line under John West Way.











			М	ulti-Use Pat	h		Cros	sings	On-R	oad		Route Info	ormation	
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route	Photo Location #	Move Utility Pole/ Box Move Liaht Pole	<ul> <li>Move Support Pole</li> <li>Install Pole for Signage</li> </ul>	e +++
Alternative											Bus Stop	Move Signal Pole	<ul> <li>Use Existing Pole for Signage</li> </ul>	

York Region

Lake to Lake Route Design

# Sheet 4-2











			М	ulti-Use Pat	th		Cros	sings	On-R	oad			Route Info	orm	ation	
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route		Photo Location #	Move Utility Pole/ Box Move Light Pole	<b>)</b>	Move Support Pole Install Pole for Signage	+++ ! !
Alternative											Õ	Bus Stop	Move Signal Pole	)	Use Existing Pole for Signage	



## 4. Facility Design Considerations

Segment	Road / Path: Nok	iidaa Trail	Start: Nev	wmarket / Aurora Bounda	ry	End: Bayview Avenue		Ward: N/A	Sheet#: 3	3-1A – 3-3A
				Facility	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Ro	ad and Driveway Cross	ings		Other Consi	derations		
		Utility Poles: None	New Crossing: 2			- Preferred: Lake to Lake Route	uses existing mu	ulti-use pathway on	Nokiidaa Trail;	
		Light Poles: None	- Nokiidaa Trail @ Va	ndorf Sideroad		At the existing Nokiidaa Trail un	nderpass at John	West Way, constru	ct new 3.0m gr	ranular surface
		Signal Poles: None	- Nokiidaa Trail @ Cr	ossing Bridge Place		pathway along existing desire li	ne to provide mo	ore direct route for the	ail users.	
		Bus Stops: None	Use Existing Crossing:	2		No other upgrades are required	to existing path	way surface.		
	Multi-Use Path		- St. John's Sideroad (North and East Sid	@ Industrial Parkway es)						
			- Wellington Street @	John West Way (East Si	ide)					
			Existing Underpass: 1							
			- Nokiidaa Trail @ Jo	hn West Way						
			Existing Bridge: None							
			# of Private Entrances:	5						
				Estimated Cost					Phas	ing
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segmer	nt Cost	0-3 Years	4-5 Years
Aur-1	Granular Surface Road Right-of-Wa	ed Off-Road Multi-Use Trail Outside of by in an Urban Setting	0.21	linear KM	\$140,000.00	\$29,400.00				
	Pathway / Road tr (crossride)	ansition at existing signalized intersection	3	each	\$25,000.00	\$75,000.00				
	Pathway marker s	igns	7.76	linear KM	\$1,500.00	\$11,640.00				
	Staging area kiosl	K	1	each	\$5,000.00	\$5,000.00				
	Signboards for sta	aging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$131,5	565.00	$\checkmark$	
	Pathway marker sign (Single sign on new post)	ign (Single sign on new post)	2	each	\$250.00	\$500.00				
	Pathway marker s previously propos	ign (Double sided sign on existing post or ed)	11	each	\$200.00	\$2,200.00				
	Pathway marker previously propos	sign (Single sign on existing post or ed post)	13	each	\$125.00	\$1,625.00				
	Pathway marker s	ign (Double sided sign on new post)	14	each	\$300.00	\$4,200.00				

Segment	Road / Path: Bay	view Avenue	Start: Nok	iidaa Trail		End: Bloomington Road	۷	Ward: N/A	Sheet#: 3-	3B
				Facilit	y Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Roa	ad and Driveway Cross	sings		Other Conside	erations		
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Bus Stops: None	New Crossing: 2 - Bayview Avenue @ I - Bayview Avenue @ S Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: 5	Beacon Hall Drive Steeplechase Avenue Jone Ie		<ul> <li>Bayview Avenue is expected to b Works program.</li> <li>Preferred: As part of future road path with 1.0m splash strip (use vehicles and path users.</li> </ul>	e widened in 202 d widening on Ba red stamped cond	20 as part of the Reg ayview Avenue, co crete) in order to in	gional Road 1 nstruct new 3 ncrease separ	0-Year Capital 3.0m multi-use ration between
				Estimated Cos	st				Phas	ing
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segmen	nt Cost	0-3 Years	4-5 Years
Aur-2	Two Way Active right-of-way	Transportation Multi-use path within road	1.36	linear KM	\$275,000.00	\$374,000.00				
	Concrete Splash between Active Roadway	Strip placed within road right-of-way Transportation Multi-Use Path and	1,360	m²	\$150.00	\$204,000.00				
	Pathway / Road (crossride)	d transition at unsignalized intersection	2	each	\$5,000.00	\$10,000.00	\$589,5	575.00		$\checkmark$
	Pathway marker sign (Single sign on new post)		1	each	\$250.00	\$250.00				
	Pathway marker s previously propos	sign (Double sided sign on existing post or sed)	3	each	\$200.00	\$600.00				
	Pathway marker s previously propos	sign (Single sign on existing post or sed post)	1	each	\$125.00	\$125.00				
	Pathway marker s	sign (Double sided sign on new post)	2	each	\$300.00	\$600.00				

## 5. Summary of Preferred Route

• The following table presents a summary of the preferred route by facility type for each phase and outlines the overall capital and maintenance cost for the Lake to Lake Route in Aurora. A more detailed Cost Summary highlighting the estimated capital costs and estimated maintenance costs is found in **Appendix A – Unit Costs Schedule and Detailed Cost Tables**.

	Pha	se 1 (0-3 Years)	Ph	ase 2 (4-5 Years)	Total Length	Total Estimated Cost	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	for all Phases	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	\$0.00	\$0.00	\$0.00
Multi-Use Pathway	7.74	\$131,565.00	1.40	\$589,575.00	9.14	\$721,140.00	\$36,560.00	\$91,400.00	\$639,800.00
Total Network	7.74	\$131,565.00	1.40	\$589,575.00	9.14	\$721,140.00	\$36,560.00	\$91,400.00	\$639,800.00



### Section #5: Town of Richmond Hill 2.4.5

## **1. Route Alternatives and Rationale**

- The Lake to Lake Route within the Town of Richmond Hill will be comprised primarily of a multi-use pathway with some on-road signed route segments.
- From Bloomington Road, the route will use a multi-use pathway on the west side of Bayview Avenue to Snively Street. The route will shift to a section of on-road signed route segments on Bayview Court, Sunbay Court, and Old Bayview Avenue to a multi-use pathway on the west side of Bayview Avenue to Oak Ridges Community Centre. The preferred route crosses Bayview Avenue at the community centre into the Toronto Region Conservation Authority lands where the route will follow the proposed trail network within the Oak Ridges Corridor Nature Reserve. The route will return onto Bayview Avenue just north of Stouffville Road and will continue as a multi-use pathway on the east side of the road to 19<sup>th</sup> Avenue. The route will proceed east along 19<sup>th</sup> Avenue on the south side of the road, and will connect to a multi-use pathway on the west side of Leslie Street via a proposed trail following the existing watercourse through the North Leslie development lands. The preferred route will travel on the west side of Leslie Street as a multi-use pathway to Highway 7.

## **Local Municipal Policies**

- The Town of Richmond Hill completed their Trails Master Plan in 2004 which identifies key destinations and offroad trail connections consistent with the preferred Lake to Lake route.
- Town of Richmond Hill Pedestrian and Cycling Master Plan identifies both municipal and regional on and off-road routing consistent with the preferred route alignment along Leslie Street, Bayview Avenue and the existing off-road trail connections

## **Regional Policies**

- Northern areas of the Town of Richmond Hill are proposed as part of the strategic priorities for the potential Regional Trail Corridor System identified in the Greenlands System Trail Study.
- The preferred route alignment is consistent with the existing and proposed pedestrian and cycling routes found within the Region's Pedestrian and Cycling Master Plan (PCMP) and the Transportation Master Plan (TMP), e.g. the proposed bike lanes and signed routes along Leslie Street. With regard to pedestrians, the proposed sidewalks on both sides of Leslie Street are consistent with the proposed pedestrian network identified in the PCMP and TMP.
- The Region's Official Plan outlines a Regional Cycling Network which identifies key cycling routes consistent with the PCMP. It is recommended that the Region implement routes / facilities which support the development and use of active transportation. The Lake to Lake Route is consistent with the proposed network and supports the idea of promoting active transportation Region-wide.

## 2. Consultation and Approvals

- Consideration should be given to consulting with the following stakeholders for the Lake to Lake Route: Local ward Counsellors and residents, Town of Richmond Hill staff, North Leslie Landowners Group, and the Toronto Region Conservation Authority.
- project under the new Canadian Environmental Assessment Act (CEAA) (2012).
- No further approvals are anticipated for the implementation of the Lake to Lake Route in Richmond Hill beyond standard local municipal engineering design and local municipal council budget approvals.

## 3. Design Sheets

- Map 2.5 provides an overview of the Lake to Lake Route in the Town of Richmond Hill.
- Sheet 5-1 to Sheet 5-6 outlines specific design considerations for the route.

Federal environmental assessments are not required for the proposed route as it is not identified as a designated



Base GIS Data provided by York Region and Town of Richmond Hill Copyright First Base Solutions Inc., 2011 Orthophotography





		_	М	ulti-Use Pat	th		Cros	sings	On-R	load			Route Info	rma	ation	
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route		Photo Location #	Move Utility Pole/ Box Move Light Pole	)	Move Support Pole Install Pole for Signage	- <u>+</u> -+
Alternative											Õ	Bus Stop	Move Signal Pole	y	Use Existing Pole for Signage	



June 2013 Map Scale: 1:5000 0 50 100 200 Base GIS Data provided by York Region Hew Retaining Wall Copyright First Base Solutions Inc. Trail Connection 2011 Orthophotography \*Image Source: Google, 2009 Property Line MMM GROUP Municipal Boundary



# **Richmond Hill: Bayview Ave - TRCA Lands** (Oak Ridges Corridor Nature Reserve)







		-	Mu	ulti-Use Pa	th		Cros	sings	On-R	oad			Route Info	rmatic	on	
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route	Phot	to Location #	Move Utility Pole/ Box		ove Support Pole	· ++
Alternative											Bus	Stop	Move Light Pole	y Us for	se Existing Pole	



# York Region

Lake to Lake Route Design

# **Richmond Hill: TRCA Lands (Bayview Ave - Stouffville Rd) Bayview Ave (Stoufville Rd - 19th Ave)**



Use Existing Pole Move Signal Pole Alternative Bus Stop for Signage Municipal Boundary



# Sheet 5-3

MMM GROUP

# **Richmond Hill: Bayview Avenue - 19th Avenue 19th Avenue - Leslie St**



			Μι	Ilti-Use Pa	th		Cros	sings	On-R	Road		Route Info	ormation		
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route	<ul> <li>Photo Location #</li> <li>Private Entrance</li> </ul>	Move Utility Pole/ Box	<ul> <li>Move Support Pole</li> <li>Install Pole for Signage</li> </ul>	- <del>     </del>	New Retaining Wa Trail Connection
Alternative											Bus Stop	Move Signal Pole	Use Existing Pole for Signage		Property Line Municipal Boundar

York Region

Lake to Lake Route Design

# Sheet 5-4

MMM GROUP

# Leslie Street: Richmond Green - Major Mackenzie

## Lake to Lake Route Design

York Region



# Sheet 5-5





# Leslie Street: Greenhill Avenue - Highway 7



# Sheet 5-6





## 4. Facility Design Considerations

Segment	Road / Path: Bay	view Avenue (West Side)	Start: Bloo	mington Road		End: Snively Street	١	Ward: 1	Sheet#: 5-	1A
				Facilit	y Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road Cr	ossings and Private E	Intrances		Other Conside	erations		
		Utility Poles: None	New Crossing: None			<ul> <li>Preferred: Remove sidewalk at so multi-use path within woodlot west sidewalk connection to Paradelle D</li> </ul>	uthwest corner of Bayview Ave Drive.	of intersection and enue between Bloor	ington Road a	asphalt and existing
	Multi-Use Path	Light Poles: 4 total Signal Poles: None Support Poles: None Bus Stops: None	Use Existing Crossing: N Existing Underpass: None Existing Bridge: None # of Private Entrances: 3	one e		Remove sidewalk and construct 3. stamped concrete) adjacent to wes connection to Paradelle Drive and between the roadway and the mult	0m asphalt mul st side of Bayvie Snively Street. i-use path.	Iti-use path and 0.75 ew Avenue between The splash strip pro	m splash strip existing sidew vides addition	) (use red valk al separation
			# of thrate Entrances. 5			- Required Structure: Retaining immediately south of existing sidev	Wall (1.0m h valk connection	high x approximate to Paradelle Drive.	y 75m lengt	h) in section
				Estimated Co	st				Phas	ing
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segme	ent Cost	0-3 Years	4-5 Years
RIC-1	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	0.39	linear KM	\$320,000.00	\$124,800.00				
	Two Way Active right-of-way	Transportation Multi-use path within road	0.23	linear KM	\$275,000.00	\$63,250.00				
	Concrete Splash between Active Roadway	Strip placed within road right-of-way Transportation Multi-Use Path and	390	m²	\$150.00	\$58,500.00				
	Retaining Wall		75	m²	\$600.00	\$45,000.00				$\checkmark$
	Relocation of Ligh	nt / Support Pole	4	each	\$4,000.00	\$16,000.00	\$333	3,050.00		
	Pathway / Road t (crossride)	ransition at existing signalized intersection	1	each	\$25,000.00	\$25,000.00				
	Pathway marker s previously propos	sign (Double sided sign on existing post or sed)	1	each	\$200.00	\$200.00				
	Pathway marker s	sign (Double sided sign on new post)	1	each	\$300.00	\$300.00				



W	a	rd	1
	~		

Segment	<b>Road / Path:</b> Bayv	iew Court South	<b>Start:</b> Snive	ly Street		End: Road Terminus		Ward: 1	Sheet#: 5-1	A
				Facility	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	0	ther Conside	erations		
		Utility Poles: None	New Crossing: Not applical	ble		- Low volume, low speed (40km/h) re	esidential road	dway.		
		Light Poles: None	Use Existing Crossing: N	ot applicable		- Preferred: Install route signs along	Bayview Cou	rt South; cyclists a	and pedestrian	s to share
	Signed Route	Signal Poles: None	Existing Underpass: Non	e		space with vehicles.				
		Support Poles: None	Existing Bridge: None							
RIC-2		Bus Stops: None	# of Private Entrances: N	ot applicable						
				Estimated Cos	t				Pha	sing
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segm	ent Cost	0-3 Years	4-5 Years
	Signed Bike Rout	e in Urban Area	0.23	linear KM	\$1,500.00	\$345.00				
					4050.00	<b>4</b> 050.00	\$5	595.00	$\checkmark$	
	Pathway marker s	sign (Single sign on new post)	1	each	\$250.00	\$250.00				

Segment	Road / Path: Off-	Road Connection	Start: Bay	view Court South		End: Sunbay Court		Ward: 1	Sheet#: 5-	1A
				Facility [	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	0	ther Conside	erations		
		Utility Poles: None	New Crossing: None			- Existing sidewalk connection between Bayview Court South and Sunbay Court.				
		Light Poles: None	Use Existing Crossing: N	one		- Preferred: At next scheduled resurfacing of connection, remove sidewalk and construct 3.0n				
	Multi-Use Path	Signal Poles: None	Existing Underpass: None			asphalt multi-use path.				
		Support Poles: None	Existing Bridge: None		- Interim: Install route signs along sig	dewalk.				
		Bus Stops: None	# of Private Entrances: N	one						
Ric-3						Pha	sing			
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segme	ent Cost	0-3 Years	4-5 Years
	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	0.10	linear KM	\$320,000.00	\$32,000.00				
	0 ,	5								
	Pathway marker s	Pathway marker sign (Double sided sign on new post)		each	\$300.00	\$300.00	\$32	,500.00	$\checkmark$	
	Pathway marker sign (Double sided sign on existing post or previously proposed)		1	each	\$200.00	\$200.00				

nsiderations				
roadway.				
- Preferred: Install route signs along Sunbay Court; cyclists to share space with vehicles and				
pedestrians to use existing sidewalk.				
	Phasing	(TBD)		
ment Cost 0	-3 Years	4-5 Years		
\$505.00	$\checkmark$			
	roadway. Court; cyclists to share ment Cost 0 \$505.00	roadway. Court; cyclists to share space with v Phasing ment Cost 0-3 Years \$505.00 ✓		

Segment	Road / Path: Off-	Road Connection	Start: New	man Avenue		End: Old Bayview Avenue	Ward: 1	Sheet#:	5-1A	
				Facility [	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	C	ther Considerations			
		Utility Poles: None	New Crossing: None			- <b>Preferred</b> : Modify guiderail at the terminus of Old Bayview Avenue and construct 3.0m asphalt				
		Light Poles: None	Use Existing Crossing: N	one		multi-use path connection between Newman Avenue and Old Bayview Avenue.				
	Multi-Use Path	Signal Poles: None	Existing Underpass: Non	e						
	Support Poles: None Existing E									
		Bus Stops: None	# of Private Entrances: N	f Private Entrances: None						
Ric-5						Phas	sing			
	Description Estimated			Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
	Two Way Active right-of-way	Transportation Multi-use path within road	0.02	linear KM	\$275,000.00	\$5,500.00				
	Pathway marker sign (Double sided sign on existing post or previously proposed)		1	each	\$200.00	\$200.00	\$5,825.00	$\checkmark$		
	Pathway marker sign (Single sign on existing post or previously proposed post)		1	each	\$125.00	\$125.00				



Segment	Road / Path: Old	Bayview Avenue	Start: Sout	h of Newman Avenue		End: North Lake Road		Ward: 1	Sheet#: 5-1	A/B	
				Facility [	Design Considerations						
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	Other Considerations					
Ric-6	Signed Route	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: Not applical Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	ole ot applicable e ot applicable		<ul> <li>Low volume, low speed (40km/h) residential roadway.</li> <li>Preferred: Install route signs at 1.0km intervals along Old Bayview Avenue; cyclists to space with vehicles and pedestrians to use future sidewalk proposed by the Oak Ridg Community Centre and Park Master Plan (2005).</li> </ul>				ts to share lidges	
Ric-6							Phasi	ng			
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segme	ent Cost	0-3 Years	4-5 Years	
	Signed Bike Route in Urban Area		0.47	linear KM	\$1,500.00	\$705.00	¢4.000.00		<b>√</b>		
	Pathway marker	sign (Single sign on new post)	1	each	\$250.00	\$250.00	φ1,060.00		·		
	Pathway marker sign (Single sign on existing post or previously proposed post)		1	each	\$125.00	\$125.00					

Segment	Road / Path: Ba	yview Avenue	Start: No	th Lake Road		End: Oak Ridges Cor	nmunity Centre	Ward: 1	Sheet#: 5-	IA/B
				Facility Design C	onsiderations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private Entrances			Other	Considerations		
	Multi-Use Path	Utility Poles: None Light Poles: 1 Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: 1 New Crossride at signali - Bayview Ave @ No Use Existing Crossing: Existing Underpass: No Existing Bridge: None # of Private Entrances:	red intersection rth Lake Road None ne None		crossride at Oak Ridges Community Centre to North Lake Road.				
							Phas	ing		
Ric-7		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
	Two Way Active	Transportation Multi-use path within road	right-of-way	1.16	linear KM	\$275,000.00	\$319,000.00		.t 0-3 Years 4- ) ✓	
	Install Light Pole			1	linear km	\$200,000.00	\$232,000.00			
	Pathway marker	sign (Double sided sign on existing post o	3	each	\$200.00	\$200.00	\$558,075.00	~		
	Pathway marker	sign (Single sign on existing post or previo	ously proposed post)	5	each	\$125.00	\$375.00			
	Pathway marker s	way marker sign (Double sided sign on new post)		1	each	\$300.00	\$1,500.00			
Ì	Pathway / Road t	way / Road transition at unsignalized intersection(crossride)			each	\$5,000.00	\$5,000.00			

Segment	Road / Path: Oak	Ridges CC Parking Lot	Start: Oak	Ridges Community Cen	tre Pathway	End: Bayview Avenue		Ward: 1	Sheet#: 5-1	В
				Facility I	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	0	ther Conside	erations		
Ric-8	Signed Route	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: 1 New Crossride at Signalize - Bayview Ave @ Oak Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	ed Intersection Ridges Community Cent one e one	re	- <b>Preferred:</b> Use existing crossing fro the trail alignment identified in the C	om Oak Ridge: Dak Ridges Co	es Community Cen orridor Nature Res	tre to proposed erve Trail Plan.	route along
				Estimated Cost					Phasi	ng
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segme	ent Cost	0-3 Years	4-5 Years
	Pathway / Road transition at existing signalized intersection (crossride)		1	each	\$25,000.00	\$25,000.00	\$25,0	000.00	~	

Segment	Road / Path: Oak Ridges Corridor Nature Reserve Trail       Start: Bayview Avenue					End: 200m north of Stouffville Road	Ward: 1	Sheet#: 5-1	B; 5-2
				Facility	Design Considerations				
	Facility Type	Municipal Infrastructure Impacts	Road Ci	rossings and Private E	ntrances		Other Considerations		
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: None Use Existing Crossing: N Existing Underpass: Existing Bridge: # of Private Entrances: N	lone		<ul> <li>Preferred: Construct new 3.0m (su trail alignment identified in the Oak Avenue.</li> <li>Trail Connection north of Stouffville</li> <li>Proposed Orientation Node (Trailh Stouffville Road; install interpretin location.</li> </ul>	uggested minimum: 2.4m) granula Ridges Corridor Nature Reserve Road to the Oak Ridges Trail. ead without parking) at high point ve information signage (regardi	r multi-use path Trail Plan to Bay approximately 2 ng watershed d	along the yview 275m north of ivide) at this
Ric-9						Phasi	ng		
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years
	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting		3.36	linear KM	\$140,000.00	\$470,400.00			
	Two Way Active Transportation Multi-use path within road right-of-way		0.20	linear KM	\$275,000.00	\$55,000.00			
	Flexible Bollards		20	each	\$100.00	\$2,000.00	\$565,550.00	$\checkmark$	
   	Retaining Wall		40	m²	\$600.00	\$24,000.00			
	Staging area kiosl	K	1	each	\$5,000.00	\$5,000.00			
	Signboards for sta	aging area kiosk sign	1	each	\$2,000.00	\$2,000.00			

Kink rob

Relocation of Light / Support Pole	1	each	\$4,000.00	\$4,000.00	
Pathway marker sign (Double sided sign on new post)	7	each	\$300.00	\$2,100.00	
Pathway marker sign (Double sided sign on existing post or previously proposed post)	4	each	\$200.00	\$800.00	
Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00	

Segment	Road / Path: Bayview Avenue (East Side)         Start: 200m nor				Road	End: 19 <sup>th</sup> Avenue	Ward: 3	3	Sheet#: 5-3	A/B	
				Fa	cility Design Considerations						
	Facility Type	Municipal Infrastructure Impacts	F	Road Crossings and Priva	e Entrances		Other Consideratio	ons			
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: 5 New Crossride at 3 - Bayview Ave - Bayview Ave New Crossride at 3 - Bayview Ave - Bayview Ave - Bayview Ave Use Existing Cross Existing Underpa Existing Bridge: I # of Private Entra	Signalized Intersection:		<ul> <li>Preferred: Remove sidewalk and construct 3.0m asphalt multi-use path and 0.75m splash strip adjacent to east side of Bayview Avenue from 200m north of Stouffville Road to Stouffville Road. The splash strip provides additional separation between the roadway and the multi-use path. Move guiderail back from the road and construct 3.0m asphalt multi-use path with flexible bollards from Stouffville Road to 150m south of Stouffville Road. Construct 3.0m asphalt multi-use path and 0.75m splash strip adjacent to east side of Bayview Avenue from 200m north of Stouffville Road to 19<sup>th</sup> Avenue as part of the Bayview Avenue Road Widening project (east side of road will have an urban cross-section).</li> </ul>					
Ric-10				Estimate				Phasi	ng		
	Description Estimated		Estimated Quan	ntity Units	Unit Price	Item Cost	Segment Co	ost	0-3 Years	4-5 Years	
	Two Way Active Transportation Multi-use path within road right-of-way		2.16	linear KM	\$275,000.00	\$594,000.00					
	Flexible Bollards		0.16	each	\$100.00	\$16.00					
	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway		2,010	m²	\$150.00	\$301,500.00					
	Pathway / Ro intersection (cros	Pathway / Road transition at existing signalized intersection (crossride)		each	\$25,000.00	\$125,000.00	\$1,477,731.	1.80	v		
	Install Light Pole		2.28	linear km	\$200,000.00	\$455,815.80					
	Pathway marker	sign (Double sided sign on new post)	2	each	\$300.00	\$600.00					
	Pathway marker or previously prop	sign (Double sided sign on existing post bosed post)	4	each	\$200.00	\$800.00					

Segment	Road / Path: 19 <sup>th</sup>	<sup>1</sup> Avenue (South Side)	Start: Bay	view Avenue (East Side)	)	End: North Leslie Lands – Proposed	Path	Ward: 3	Sheet#:	5-4A
				Facilit	y Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road Cr	ossings and Private E	ntrances		Other Consid	derations		
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: None Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	lone e lone		<ul> <li>Preferred: Construct 3.0m asphalt multi-use path on south side of 19<sup>th</sup> Avenue wit Avenue road widening. Exact route alignment south of 19<sup>th</sup> Avenue to be determine constructed by future developer.</li> </ul>				h future 19 <sup>th</sup> ed and
Ric-11							Pha	sing		
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segme	ent Cost	0-3 Years	4-5 Years
	Two Way Active Transportation Multi-use path within road right-of-way		0.85	linear KM	\$275,000.00	\$233,750.00				
	Pathway marker sign (Double sided sign on existing post or previously proposed post)		1	each	\$200.00	\$200.00	\$235,100.00			$\checkmark$
	Pathway marker sign (Single sign on existing post or previously proposed post) 2		2	each	\$125.00	\$250.00				
	Pathway marker sign (Double sided sign on new post) 3		3	each	\$300.00	\$900.00				

Segment	Road / Path: No	rth Leslie Lands – Proposed Path	Start: 19 <sup>tt</sup>	Avenue		End: Leslie Street	Ward	r <b>d:</b> 3	Sheet#: 5-	4B
				Facility	/ Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances		Other Considerati	tions		
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: None Use Existing Crossing: Existing Underpass: No Existing Bridge: None # of Private Entrances:	None ne None		<ul> <li>Preferred: Construct 3.0m asphalt multi-use path on southwest side of water Leslie Development Lands as per discussion with the North Leslie Landowne route alignment south of 19<sup>th</sup> Avenue to be determined and constructed by fur</li> </ul>			f watercourse downers Grou d by future de	within North up. Exact veloper.
Ric-12							Phas	ing		
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment C	Cost	0-3 Years	4-5 Years
	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)		1.65	linear KM	\$250,000.00	\$412,500.00				
	Pathway marker sign (Double sided sign on existing post or previously proposed post)		1	each	\$200.00	\$200.00	\$413,550.00			$\checkmark$
	Pathway marker previously propos	Pathway marker sign (Single sign on existing post or previously proposed post)		each	\$125.00	\$250.00				
	Pathway marker	sign (Double sided sign on new post)	2	each	\$300.00	\$600.00				



Segment	Road / Path: Lesl	ie Street (West Side)	Start: 1	lorth Leslie Lands – Propos	ed Path	End: Richmond Green Park	Ward: 3	Sheet#: 5-4	4B, 5-5A	
				Facility I	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Roa	d Crossings and Private E	ntrances	0	ther Considerations			
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: 1 New Crossride at Stop - Leslie Street @ R Use Existing Crossing Existing Underpass: I Existing Bridge: None # of Private Entrances	Controlled Intersection ichmond Green High Schoo g: None None	I Entrance	<ul> <li>Preferred. Construct 3.0m asphalt multi-use path on west side of Lesile Street between drainage ditch and utility poles north of high school entrance.</li> <li>Construct 3.0m asphalt multi-use path on west side of Lesile Street between road and poles south of high school entrance.</li> <li>Route passes in front of Richmond Green High School and connects to existing trail n within Richmond Green Park.</li> </ul>				
				Estimated Cos	t			Phas	sing	
Ric-13	Description		Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
	Hard Surfaced O Right-of-Way in ar	ff-Road Multi-Use Trail Outside of Road Urban Setting (New)	0.51	linear KM	\$250,000.00	\$127,500.00				
	Pathway / Road ti (crossride)	ransition at existing signalized intersection	1.00	each	\$25,000.00	\$25,000.00				
	Pathway marker s	ign (Double sided sign on new post)	2	each	\$300.00	\$600.00	\$159,550.00	$\checkmark$		
	Pathway marker s previously propose	ign (Double sided sign on existing post or ed post)	1	each	\$200.00	\$200.00				
	Pathway marker s previously propose	ign (Single sign on existing post or ed post)	2	each	\$125.00	\$250.00				

Segment	Road / Path: Rich	nmond Green Park Path	Start: Lesli	ie Street		End: Elgin Mills Road	Ward: 3	Sheet#: 5-5	A		
				Facility	Design Considerations						
	Facility Type	Municipal Infrastructure Impacts	Road C	ther Considerations							
	Multi-Use Path	Utility Poles: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: 1	New Crossing: None Use Existing Crossing: N Existing Underpass: None Existing Bridge: None # of Private Entrances: N	lone e one		<ul> <li>Preferred: Proposed Lake to Lake Route uses the existing asphalt pathway within Green Park immediately west of Leslie Street; no upgrades required to existing p Realign trail southern terminus of existing trail to abut the bus stop concrete pad northwest corner of the Elgin Mills Road and Leslie Street intersection.</li> <li>Existing Major Trailhead at Richmond Green Park includes washroom and parinstall route information signage at this location.</li> </ul>					
Ric-14	Estimated Cost										
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years		
	Hard Surfaced C Right-of-Way in a	Off-Road Multi-Use Trail Outside of Road n Urban Setting (New)	0.03	linear KM	\$250,000.00	\$7,500.00					
	Staging area kios	k	1	each	\$5,000.00	\$5,000.00					
	Signboards for sta	aging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$16,095.00	$\checkmark$			
	Pathway marker s	signs	0.33	linear KM	\$1,500.00	\$495.00					
	Pathway marker s previously propos	sign (Double sided sign on existing post or ed post)	1	each	\$200.00	\$200.00					
	Pathway marker s	sign (Double sided sign on new post)	3	each	\$300.00	\$900.00					



	<u></u>
	· · ·

Segment	Road / Path: Les	lie Street (West Side)	Start: Elgir	n Mills Road		End: Major Mackenzie Drive		Ward: 3 Sheet#: 5-5A/B		A/B
				Facili	ty Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road Cr	ossings and Private E	ions					
	Multi-Use Path	<ul> <li>Utility Poles: None</li> <li>Light Poles: None</li> <li>Signal Poles: None</li> <li>Support Poles: 1 total</li> <li>Offset 1 pole at SW corner at Princeton Ave to 0.6m east of path alignment</li> <li>Bus Stops: 6</li> </ul>	<ul> <li>New Crossing: 3</li> <li>New Crossride at Signalize</li> <li>Leslie Street @ Elgin M</li> <li>Leslie Street @ Princet</li> <li>New Crossride at Stop-Cont</li> <li>Leslie Street @ Toporo</li> <li>Use Existing Crossing: N</li> <li>Existing Underpass: Non</li> <li>Existing Bridge: 1</li> <li>Leslie Street (350m non</li> <li># of Private Entrances: 2</li> </ul>	ed Intersection Aills Road con Avenue Introlled Intersection wski Avenue Jone e	Drive)	<ul> <li>Elgin Mills – 115m north of Majonew 3.0m asphalt multi-use patter provides additional separation better Exception: At the SW corner of Lestreet at Toporowski Avenue, aligned Exception: At the creek crossing a surface; no upgrades are required relocate guiderail away from the matrix.</li> <li>115m north of Major Mackenzie and construct new 3.0m asphalt flexible bollards to visually delineated 1.0m west, remove sidewalk and a (use red stamped concrete), white multi-use path.</li> </ul>	ove sidewalk a stamped cond ath. at the SW con- ting light and s use existing 4 pproaches to f use path with 0 eferred): Rem urb of Leslie S cles. ternative): Of path with 0.75m veen the road	sidewalk and construct mped concrete), which he SW corner of Leslie light and signal poles. existing 4.0m concrete oaches to this crossing, path with 0.75m splash <b>rred):</b> Remove sidewalk of Leslie Street. Install s. <b>native)</b> : Offset guiderail with 0.75m splash strip en the roadway and the		
				·			Phas	ing		
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment	Cost	0-3 Years	4-5 Years
Ric-15	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	1.97	linear KM	\$320,000.00	\$630,400.00				
	Concrete Splash between Active Roadway	Strip placed within road right-of-way Transportation Multi-Use Path and	1,680	m²	\$150.00	\$252,000.00				
	Flexible Bollards		19	each	\$100.00	\$1,900.00				
	Pathway / Ros intersection (cross	ad transition at existing signalized sride)	3	each	\$25,000.00	\$75,000.00				
	Pathway Crossing	g of Private Entrance	2	each	\$2,000.00	\$4,000.00	\$971,37	5.00	$\checkmark$	
	Relocation of Ligh	nt / Support Pole	1	each	\$4,000.00	\$4,000.00				
	Pathway marker s	sign (Double sided sign on new post)	1	each	- 175       - 175         -					
	Pathway marker or previously prop	sign (Double sided sign on existing post posed post)	7	each	\$200.00	\$1,400.00				
	Pathway marker s	sign (Single sign on new post)	8	each	\$250.00	\$2,000.00				
	Pathway marker s previously propos	sign (Single sign on existing post or sed post)	3	each	\$125.00	\$375.00				

Segment	Road / Path: Les	lie Street (West Side)	Start: Majo	or Mackenzie Drive		End: 16 <sup>th</sup> Avenue	Ward: 6	Sheet	<b>#:</b> 5-5B, 5-6A		
				Facili	y Design Considerations						
	Facility Type	Municipal Infrastructure Impacts	Road Ci	ossings and Private E	ntrances	Other Considerations					
Ric-16	Multi-Use Path	<ul> <li>Utility Poles: None</li> <li>Light Poles: 18 total</li> <li>Offset 10 poles between Major Mackenzie Dr. and Greenhill Ave to 0.6m east of path alignment</li> <li>Offset 7 poles between Greenhill Ave and Headford Ave to 0.6m east of path alignment</li> <li>Offset 1 pole ~400m north of 16<sup>th</sup> Avenue to 0.6m east of path alignment</li> <li>Signal Poles: None</li> <li>Support Poles: 2</li> <li>Offset 2 poles between Greenhill Ave and Headford Ave to 0.6m east of path alignment</li> </ul>	New Crossing: 3 New Crossride at Signalize - Leslie Street @ Major I - Leslie Street @ GreenI - Leslie Street @ Headfo Use Existing Crossing: N Existing Underpass: Nor Existing Bridge: None # of Private Entrances: 1	ed Intersection Mackenzie Drive hill Avenue ord Avenue lone e		<ul> <li>Remove sidewalk on west side of road and align new 3.0m aspnait multi-use path west of hirst light pole at south west corner of Leslie Street and Major Mackenzie. Then remove sidewalk on west side of road and construct 3.0m asphalt multi-use path adjacent to west side curb of Leslie Street. Install flexible bollards to visually delineate space between path users and vehicles.</li> <li>1<sup>st</sup> Private Entrance south of Major Mackenzie Drive – Greenhill Avenue (Preferred): Remove sidewalk on west side of road, trim 470m of shrubs back from right-of-way, offset poles to 0.6m east of proposed path, and construct 2.4m asphalt multi-use path between shrubs and treeline to avoid displacement of 43 trees.</li> <li>1<sup>st</sup> Private Entrance south of Major Mackenzie Drive – Greenhill Avenue (Alternative): Remove sidewalk on west side of road, trim 470m of shrubs back from right-of-way, offset poles to 0.6m east of proposed path, relocate 43 trees to 0.6m east of proposed path, relocate 43 trees to 0.6m east of proposed path, relocate 43 trees to 0.6m east of proposed path and construct 3.0m asphalt multi-use path between shrubs and treeline.</li> <li>Greenhill Avenue – Headford Avenue (Preferred): Remove sidewalk on west side of road, offset poles to 0.6m east of path alignment and construct 3.0m asphalt multi-use path with 0.6m clear zones between treeline and poles.</li> <li>Headford Avenue – 300m north of16<sup>th</sup> Avenue (Preferred): Remove sidewalk on west side of road and construct 2.4m asphalt multi-use path between fence line and treeline to avoid displacement of trees in this section.</li> <li>300m north of 16<sup>th</sup> Avenue – 16<sup>th</sup> Avenue (Preferred): Remove sidewalk on west side of road and construct 3.0m asphalt with multi-use path with 0.6m clear zones.</li> </ul>					
				Estimated Cos	t	Phasing					
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years		
	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	1.96	linear KM	\$320,000.00	\$627,200.00					
	Flexible Bollards		0.15	each	\$100.00	\$15.00					
	Pathway / Road transition at existing signalized intersection (crossride)		3	each	\$25,000.00	\$75,000.00					
	Pathway Crossing	g of Private Entrance	1	each	\$2,000.00	\$2,000.00	\$787,465.00	√			
	Relocation of Ligh	nt / Support Pole	20	each	\$4,000.00	\$80,000.00					
	Pathway marker or previously prop	sign (Double sided sign on existing post posed)	8	each	\$200.00	\$1,800.00					
	Pathway marker previously propos	sign (Single sign on existing post or sed post)	6	each	\$125.00	\$750.00					
	Pathway marker s	sign (Double sided sign on new post)	3	each	\$300.00	\$900.00					

Ankado



Segment	Road / Path: Les	lie Street	Start: 16 <sup>th</sup>	Avenue		End: Highway 7	Ward: 2	Sheet#: 5-6	6A/B			
	Facility Design Considerations											
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	Intrances		Other Considerations					
Ric-17	Multi-Use Path	<ul> <li>Utility Box: 2 total</li> <li>Offset 1 Bell pedestal located ~490m south of 16<sup>th</sup> Avenue to 0.6m east of path alignment</li> <li>Offset 1 Bell pedestal located ~20m south of West Beaver Creek to 0.6m east of path alignment</li> <li>Light Poles: 10 total</li> <li>Offset 4 poles between 16<sup>th</sup> Ave and West Beaver Creek Rd to 0.6m east of path alignment</li> <li>Offset 3 poles between West Beaver Creek Rd and West Wilmot St to 0.6m east of path alignment</li> <li>Offset 3 poles between West Wilmot St to 0.6m east of path alignment</li> <li>Offset 3 poles between West Wilmot St and West Pearce St to 0.6m east of path alignment</li> <li>Offset pedestrian signal pole at southwest corner at West Pearce Street to 0.6m east of path alignment</li> <li>Support Poles: None</li> <li>Bus Stops: 2</li> </ul>	New Crossing: 4 New Crossride at Signalize - Leslie Street @ 16 <sup>th</sup> Av - Leslie Street @ West F - Leslie Street @ West F Use Existing Crossing: 1 - Leslie Street @ H Existing Underpass: None # of Private Entrances: 1	ed Intersection venue Beaver Creek Road Vilmot Street Pearce Street lighway 7 ie		<ul> <li>to 0.6m east of path alignment and construct 3.0m asphalt multi-use pathway on west side of road. Where path is located adjacent to curb, construct a 0.75m splash strip (use red stamped concrete), which provides additional separation between the roadway and the multi-use path. At N-W corner of Leslie Street and Pearce Street align path west around bus stop.</li> <li>At N-W corner of Leslie Street and Hwy 7 align path west around bus stop.</li> <li><b>Required Structure:</b> Retaining Wall (1.5m high x approximately 130m length) in section starting ~265m south of 16<sup>th</sup> Avenue.</li> <li><b>Required Structure:</b> Retaining Wall (1.0m high x approximately 85m length) in section starting ~490m south of 16<sup>th</sup> Avenue.</li> <li><b>Required Structure:</b> Retaining Wall (1.0m high x approximately 215m length) in section starting ~215m south of West Beaver Creek Road.</li> <li><b>Required Structure:</b> Retaining Wall (2.0m high x approximately 65m length) in section starting ~215m south of West Wilmot Street.</li> <li><b>Alternative (Leslie Street (East Side): 16<sup>th</sup> Avenue – Highway 7</b>): Remove sidewalk, offset poles to 0.6m west of path alignment and construct 3.0m asphalt multi-use pathway on east side of road. Where path is located adjacent to curb, construct a 0.75m splash strip (use red stamped concrete), which provides additional separation between the roadway and the multi-use path.</li> </ul>						
						Phasing						
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years			
	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	1.93	linear KM	\$320,000.00	\$617,600.00						
	Concrete Splash between Active Roadway	Strip placed within road right-of-way Transportation Multi-Use Path and	270	m²	\$150.00	\$40,500.00						
	Pathway / Ro intersection (cros	ad transition at existing signalized sride)	5	each	\$25,000.00	\$125,000.00						
	Retaining Wall		195	m²	\$600.00	\$117,000.00	\$1,311,375.00	$\checkmark$				
	Retaining Wall		85	m²	\$600.00	\$51,000.00						
	Retaining Wall		215	m²	\$600.00	\$129,000.00						
	Retaining Wall		130	m²	\$600.00	\$78,000.00						
	Retaining Wall		110	m²	\$600.00	\$66,000.00						
	Pathway Crossing	g of Private Entrance	10	each	\$2,000.00	\$20,000.00						
	Relocation of Light	nt / Support Pole	10	each	\$4,000.00	\$40,000.00						

Relocation of Signal Pole / Utility Box	3	each	\$8,000.00	\$24,000.00	
Pathway marker sign (Double sided sign on new post)	4	each	\$300.00	\$1,200.00	
Pathway marker sign (Double sided sign on existing post or previously proposed post)	6	each	\$200.00	\$1,200.00	
Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00	
Pathway marker sign (Single sign on existing post or previously proposed post)	5	each	\$125.00	\$625.00	

Leslie Street (16 <sup>th</sup> A	Avenue - Highway 7)
Existing	Prop
<image/>	



## osed



### Summary of Preferred Route 5.

• The following table presents a summary of the preferred route by facility type for each phase and outlines the overall capital and maintenance cost for the Lake to Lake Route in Richmond Hill. A more detailed Cost Summary highlighting the estimated capital costs and estimated maintenance costs is found in Appendix A – Unit Costs Schedule and Detailed Cost Tables.

	Phas	se 1 (0-3 Years)	Phas	se 2 (4-5 Years)	Total Length	Estimated Total	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost	
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Phases	Maintenance Cost	Cost 0-5 Years	Over 20 Years	
Signed Route	0.89	\$27,180.00	0.00	\$0.00	0.89	\$27,180.00	\$445.00	\$1,112.50	\$7,787.50	
Multi-Use Pathway	14.18	\$5,885,541.80	3.15	\$981,700.00	17.33	\$6,867,241.80	\$69,320.00	\$173,300.00	\$1,213,100.00	
Total Network	15.07	\$5,912,721.80	3.15	\$981,700.00	18.22	\$6,894,421.80	\$69,765.00	\$174,412.50	\$1,220,887.50	

### Section #6: City of Markham 2.4.6

## 1. Route Alternatives and Rationale

- The Lake to Lake Route within the City of Markham will consist primarily of proposed multi-use pathways. From Highway 7 south to Commerce Valley Drive, the preferred route will be located on the west side of Leslie Street. From Commerce Valley Drive to John Street, the route will be located on the east side of Leslie Street at which point the route continues west on John Street on the south side of the road connecting to German Mills Settler's Park Trail. The route then follows the existing signed route along Leslie Street to Steeles Avenue East.
- An alternative to the primary route is an alignment to run along the east side of Leslie Street from Highway 7 south to Commerce Valley Drive. This would eliminate the crossing at Leslie Street and Commerce Valley Drive; however the route would need to cross at Leslie Street and 16<sup>th</sup> Avenue which is a much busier intersection. Furthermore, there is a proposed commercial development at the southeast corner of Highway 7 and Leslie Street with frontages on both streets. It is expected that there would be high pedestrian traffic in this area, which would not be desirable for a multi-use pathway shared between cyclists and pedestrians.

## **Local Municipal Policies**

- The Town of Markham Cycling and Trails Master Plan identifies some existing as well as proposed routes which are consistent with the preferred Lake to Lake Route, e.g. along Leslie Street.
- The Markham Cycling, Pathways and Trails 5-Year Implementation Plan identifies preferred alternatives as well as design options for on and off-road trail connections including but not limited to those Leslie Street connections identified as part of the preferred route.

## **Regional Policies**

- The preferred route alignment is consistent with the existing and proposed pedestrian and cycling routes found within the Region's Pedestrian and Cycling Master Plan (PCMP) and the Transportation Master Plan (TMP), e.g. the proposed bike lanes and signed routes along Leslie Street. With regard to pedestrians, the proposed sidewalks on both sides of the road along Leslie Street are consistent with the proposed pedestrian routes identified in the PCMP and TMP.
- The Region's Official Plan outlines a Regional Cycling Network which identifies key cycling routes consistent with the PCMP. It is recommended that the Region implement routes / facilities which support the development and use of active transportation. The Lake to Lake Route is consistent with the proposed network and supports the idea of promoting active transportation Region-wide.

## 2. Consultation and Approvals

- CN Rail, Transport Canada and the Toronto Region Conservation Authority
- ETR.
- Transport Canada.
- project under the new Canadian Environmental Assessment Act (CEAA) (2012).
- standard local municipal engineering design and local municipal council budget approvals.

## 3. Design Sheets

- Map 2.6 provides an overview of the Lake to Lake Route in the City of Markham.
- Sheet 6-1 to Sheet 6-2 outlines specific design considerations for the route.



Consideration should be given to consulting with the following stakeholders for the Lake to Lake Route: Local ward Counsellors and residents, City of Markham staff, Ministry of Transportation of Ontario (MTO), Highway 407 ETR,

The bridge crossing on Leslie Street over Highway 407 may be subject to approvals from MTO and Highway 407

The bridge crossing on Leslie Street over the CN Rail Corridor may be subject to approvals from CN Rail and

Federal environmental assessments are not required for the proposed route as it is not identified as a designated

• No further approvals are anticipated for the implementation of the Lake to Lake Route in Markham beyond



Municipal Boundary

Proposed ----

Hydro Corridor —

Base GIS Data provided by York Region and City of Markham Copyright First Base Solutions Inc., 2011 Orthophotography

Alternative



MMM GROUP





MMM GROUP

			Mu	Iti-Use Pat	th		Cros	sings	On-R	load		Route Info	rmation		
Preferred	Existing Path	3.0 m Path	3.0m + Bollards	3.0m + Splashstrip	2.4m Path	Modified Design	Use Ex. Crossing	Prop. New Crossing	Paved Shoulder	Signed Route	<ul> <li>Photo Location #</li> <li>Private Entrance</li> </ul>	Move Utility Pole/ Box	<ul> <li>Move Support Pole</li> <li>Install Pole for Signage</li> </ul>	· · · · · · ·	New Retaining Wal Trail Connection
Alternative											Bus Stop	Move Signal Pole	<ul> <li>Use Existing Pole for Signage</li> </ul>		Property Line Municipal Boundar

# York Region Lake to Lake Route Design

# Markham: Leslie Street at Highway 407



# Sheet D6-1



# Sheet D6-2

# 

INSTALL CROSSRIDE

PROPOSED 3.0m
 ASPHALT PATHWAY

NEW GUIDERAIL 0.6m OFFSET FROM BACK OI CURB +/-

> 0 5 10 20 Base GIS Data provided by York Region Copyright First Base Solutions Inc., 2011 Orthophotography \* Source: Google, 2009. MMM GROUP

# York Region Lake to Lake Route Design

# Markham: Leslie Street (CN Rail Overpass - John Street)




## 4. Facility Design Elements

Segment	Road / Path: Les	lie Street	Start: Hig	hway 7		End: Commerce Valley Drive	
				Faci	ility Design Considerations		
	Facility Type	Municipal Infrastructure Impacts	Road Ci	ossings and Private E	Entrances		Other
	Multi-Use Path	<ul> <li>Utility Pole/Box: None</li> <li>Light Poles: 5 total</li> <li>Offset 5 poles between Highway 7 and Commerce Valley Drive to 0.6m east of path alignment</li> <li>Signal Poles: 1 total</li> <li>Offset pedestrian signal pole at northwest corner at Minthorn Boulevard to 0.6m west of path alignment</li> <li>Support Poles: None</li> <li>Bus Stops: 2</li> </ul>	New Crossing: 3 New Crossride at Signaliz - Leslie Street @ Highw - Leslie Street @ Mintho - Leslie Street @ Comm Use Existing Crossing: Existing Underpass: No Existing Bridge: None # of Private Entrances:	ed Intersection ray 7 (west approach) orn Boulevard (west app nerce Valley Drive (north None ne	<ul> <li>Preferred (Leslie Street (West Side): Hoffset poles to 0.6m away from path align side of road. Approximately 120m set recommended to be 2.4m in width due to Alternative (Leslie Street (East Side): and construct 3.0m asphalt multi-use path Approximately 105m section of path locat in width due to property constraints. An eminthorn Boulevard would be required to This alternative path would pass in from corner at Highway 7. It is expected th Highway 7 and would generate significan and pedestrians in this section may not be</li> </ul>		
				Estimated	Cost		
Mar-1		Description	Estimated Quantity	Units	Unit Price	Item Cost	
Mar-1	Two Way Active right-of-way on or	Transportation Multi-use path within road ne side with removal of existing sidewalk	0.51	linear KM	\$320,000.00	\$163,200.00	
	Pathway / Road intersection(cross	transition at unsignalized sride)	2	each	\$5,000.00	\$10,000.00	
	Pathway Crossing	g of Private Entrance	1	each	\$2,000.00	\$2,000.00	
	Relocation of Lig	nt / Support Pole	5	each	\$4,000.00	\$20,000.00	1
	Relocation of Sig	nal Pole / Utility Box	1	each	\$8,000.00	\$8,000.00	
	Pathway marker s or previously prop	sign (Double sided sign on existing post posed post)	4	each	\$200.00	\$800.00	
	Pathway marker	sign (Single sign on new post)	2	each	\$250.00	\$500.00	
-	Pathway marker s previously propos	sign (Single sign on existing post or sed post)	4	each	\$125.00	\$500.00	
	Pathway marker	sign (Double sided sign on new post)	1	each	\$300.00	\$300.00	

Ward 2				
	- 14	21	d •	<i>•</i> 2
		a	ч.	~

### Sheet#: 6-1A

### Considerations

**lighway 7 – Commerce Valley Drive)**: Remove sidewalk, nent and construct 3.0m asphalt multi-use pathway on west ction of path located north of Minthorn Boulevard is property constraints.

**Highway 7 – Commerce Valley Drive)**: Remove sidewalk way on east side of road.

ed south of Minthorn Boulevard is recommended to be 2.4m asement from the hotel property on the southeast corner at accommodate the 2.4m path.

of a proposed commercial development at the southeast at this development would have frontages on Leslie and pedestrian traffic. A multi-use path shared between cyclists e desirable.

	Phas	ing
Segment Cost	0-3 Years	4-5 Years
\$205,300.00	~	

Segment	Road / Path: Les	lie Street (East Side)	Start: Com	nmerce Valley Drive (no	rth side)	End: Hwy 407 WB On-Ramp (south s	ide) Ward: 2	Sheet#: 6-7	1A	
				Facili	y Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road Cr	ossings and Private E	Intrances	Other Considerations				
	Multi-Use Path	Utility Pole/Box: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: 1	New Crossing: 2 New Crossride at Signalize - Leslie Street @ Comm - Leslie Street @ Hwy 40 Use Existing Crossing: N Existing Underpass: None Existing Bridge: None # of Private Entrances: N	ed Intersection erce Valley Drive (east 07 WB on-ramp (east aj lone le	approach) oproach)	<ul> <li>Preferred: Remove sidewalk and construct new 3.0m asphalt multi-use strip (use red stamped concrete), which provides additional separation b the multi-use path.</li> </ul>			use path with 0.75m splash n between the roadway and	
				Estimated C	ost			Phas	ing	
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
Mar-2	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk		0.14	linear KM	\$320,000.00	\$44,800.00				
	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway		140	m²	\$150.00	\$21,000.00				
	Pathway / Road transition at unsignalized intersection(crossride)		2	each	\$5,000.00	\$10,000.00	Ф77 405 00	,		
	Pathway marker sign (Double sided sign on existing post or previously proposed post)		2	each	\$200.00	\$400.00	\$77,125.00	~		
	Pathway marker sign (Single sign on existing post or previously proposed post)		3	each	\$125.00	\$375.00				
	Pathway marker sign (Single sign on new post)		1	each	\$250.00	\$250.00				
	Pathway marker sign (Double sided sign on new post)		1	each	\$300.00	\$300.00				



th side)	Ward: 2	Sheet#: 6-1A								
Other Considerations										

Segment	Road / Path: Lesl	ie Street (East Side)	Start: High	way 407 Westbound On	-Ramp	End: Highway 407 Eastbound On-Ran	mp Ward: 2 Sheet#: 6-1A; D6-1			1A; D6-1
				Facility I	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	Other Considerations				
	Multi-Use Path	Utility Pole/Box: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: None Use Existing Crossing: N Existing Underpass: None Existing Bridge: 1 - Leslie Street @ Hwy 40 # of Private Entrances: No	one e 7 (existing road bridge) one		<ul> <li>Preferred: Modify existing sidewalk on roadway bridge to accommodate multi-use path. Remove 40mm from existing sidewalk surface, widen concrete path base to 2.7m, adjust cat basins, adjust roadway pavement markings, place 40mm of asphalt surface, and install flexit bollards to visually delineate space between path users and motorists (place 10 at 1.0 intervals at each end of bridge, and 15 at 10.0m intervals across bridge).</li> <li>See Rendering for Design Concept</li> <li>Alternative: Construct new prefabricated bridge over Highway 407 immediately east of existin road bridge. No major changes to existing approaches required.</li> <li>Required Structure: Construct concrete abutments and piers, and erect new prefabrication 124m long, 3.0m clear width three-span steel truss bridge with timber deck over Highway 407.</li> </ul>				
						Phasi	ing			
Mar-3		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment	t Cost	0-3 Years	4-5 Years
Mar-3	Place 1.1m wide concrete base adjacent to existing sidewalk on east side of road		190	m²	\$50.00	\$9,500.00	\$74.050.00			
	Place 40mm asphalt surface		50	tonne	\$150.00	\$7,500.00				
	Flexible Bollards		35	each	\$100.00	\$3,500.00				
	Traffic Control	Traffic Control		allowance	\$20,000.00	\$20,000.00				$\checkmark$
	Adjust Catch basi	ns	1	allowance	\$10,000.00	\$10,000.00				
	Pavement Marking	gs	350	m	\$1.00	\$350.00				
	Safety Railings / F	Safety Railings / Rubrail		linear M	\$120.00	\$22,800.00				
	Pathway marker sign (Double sided sign on existing post or previously proposed)		2	each	\$200.00	\$400.00				

р	Ward: 2	Sheet#: 6-1A; D6-1
ther Conside	erations	
on roadway	bridge to accommo	date multi-use path.
alk surface, v narkings, plac e between j	viden concrete path ce 40mm of asphalt path users and m	base to 2.7m, adjust catch surface, and install flexible otorists (place 10 at 1.0m





Segment	Road / Path: Les	lie Street (East Side)	Start: High	way 407 Eastbound Off-	Ramp	End: Summerdale Dr. (Photo Location	#24) Ward: 2	Sheet#: 6-1A/	В	
			,	Facility I	Design Considerations	•	<u>,</u>			
	Facility Type	Municipal Infrastructure Impacts	Road Ci	ossings and Private E	ntrances	Other Considerations				
	Multi-Use Path	<ul> <li>Utility Pole/Box: None</li> <li>Light Poles: 13 total</li> <li>Offset 13 poles between Highway 407 and Summerdale Drive (southern access) to 0.6m west of path alignment</li> <li>Signal Poles: None</li> <li>Support Poles: None</li> <li>Bus Stops: 2</li> </ul>	New Crossing: 3 New Crossride at Signalize - Leslie Street @ St. Rob - Leslie Street @ Summe New Crossride at Stop Con - Leslie Street @ Summe Use Existing Crossing: N Existing Underpass: None Existing Bridge: None # of Private Entrances: No	d Intersection ert Catholic High School rdale Drive (northern ac trolled Intersection rdale Drive (southern ac one	Access cess) ccess)	<ul> <li>Preferred (Leslie Street (East Side): Highway 407 – 175m south of entrane Catholic High School): Remove sidewalk and construct new 3.0m asphalt mu 1.0m splash strip (use red stamped concrete), which provides additional sep the roadway and the multi-use path.</li> <li>Preferred (Leslie Street (East Side): 175m south of entrance to St. Rober School – Summerdale Drive (Photo Location #24)): Remove sidewalk, al first light pole in section, offset all other poles to 0.6m west of path alignmer new 3.0m asphalt multi-use path.</li> </ul>			<b>:rance to St. Robert</b> It multi-use path with separation between <b>obert Catholic High</b> <, align path west of iment, and construct	
						Phas	sing			
Mar-4		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk		1.15	linear KM	\$320,000.00	\$368,000.00				
	Concrete Splash between Active T	Strip placed within road right-of-way ransportation Multi-Use Path and Roadway	480	m²	\$150.00	\$72,000.00				
	Pathway / Road (crossride)	d transition at unsignalized intersection	3	each	\$5,000.00	\$15,000.00				
	Relocation of Light / Support Pole		13	each	\$4,000.00	\$52,000.00	\$509,375.00	$\checkmark$		
	Pathway marker s previously propos	sign (Double sided sign on existing post or ed post)	3	each	\$200.00	\$600.00				
	Pathway marker s	sign (Single sign on new post)	3	each	\$250.00	\$750.00				
	Pathway marker previously propos	Pathway marker sign (Single sign on existing post or previously proposed post)		each	\$125.00	\$125.00				
	Pathway marker s	sign (Double sided sign on new post)	3	each	\$300.00	\$900.00				

Segment	Road / Path: Lesl	ie Street (East Side)	Start: Sum	merdale Drive (Photo Lo	ocation #24)	End: Rosemount Avenue	Ward: 2	Sheet#: 6-	1B; D6-2	
				Facility I	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	0	ther Considerations			
	Multi-Use Path	<ul> <li>Utility Pole/Box: None</li> <li>Light Poles: 2 total</li> <li>Offset 2 poles between Summerdale Dr. and Rosemount Ave to 0.6m west of path alignment</li> <li>Signal Poles: None</li> <li>Support Poles: None</li> <li>Bus Stops: 1</li> </ul>	New Crossing: None Use Existing Crossing: N Existing Underpass: None Existing Bridge: None # of Private Entrances: No	one e one		<ul> <li>Preferred: Remove sidewalk, modify guiderail, offset poles to 0.6m west of path alignment an construct new prefabricated bridge over watercourse immediately east of existing road bridge No major changes to existing approaches required.</li> <li>Required Structure: Construct concrete abutments and erect new prefabricated 32m long 3.0m clear width single span steel truss bridge with timber deck over watercourse betwee Summerdale Drive and Rosemount Avenue.</li> </ul>				
				Estimated Cost				Phas	ing	
Mar-5	Description		Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years	
	Self-weathering steel truss bridge with timber deck (32m long, 3m clear width)		96	m²	\$2,500.00	\$240,000.00				
	Concrete abutments on piles		2	each	\$50,000.00	\$100,000.00				
	Mobilization, pile driving equipment and erection of bridge		1	allowance	\$60,000.00	\$60,000.00	\$427,800.00		$\checkmark$	
	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk		0.06	linear KM	\$320,000.00	\$19,200.00				
	Relocation of Ligh	Relocation of Light / Support Pole		each	\$4,000.00	\$8,000.00				
	Pathway marker sign (Double sided sign on new post)		2	each	\$300.00	\$600.00				



V	a	rd	2	

Segment	Road / Path: Lesl	ie Street (East Side)	Start: Rose	Start: Rosemount Avenue		End: CN Railway Overpass (North Sid	e) W	/ard: 2	Sheet#: 6-1	В
				Facility I	Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	C	ther Considerat	tions		
	Multi-Use Path	<ul> <li>Utility Pole/Box: None</li> <li>Light Poles: 8</li> <li>Offset 8 poles between Rosemount Ave and CN Rail Overpass to 0.6m west of path alignment</li> <li>Signal Poles: None</li> <li>Support Poles: None</li> <li>Bus Stops: 2</li> </ul>	New Crossing: 2 New Crossride at Signalize - Leslie Street @ Tangle New Crossride at Stop Cor - Leslie Street @ Rosem Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	ed Intersection wood Trail ntrolled Intersection ount Avenue lone e		<ul> <li>Preferred: Remove sidewalk, align path west of first light pole in section, offset all other poles to 0.6m west of path alignment, and construct new 3.0m asphalt multi-use path.</li> </ul>				
Mar-6						Phasir	ng			
	Description		Estimated Quantity	Units	Unit Price	Item Cost	Segment (	Cost	0-3 Years	4-5 Years
	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk		0.37	linear KM	\$320,000.00	\$118,400.00				
	Pathway / Road transition at unsignalized intersection (crossride)		2	each	\$5,000.00	\$10,000.00				
	Relocation of Light / Support Pole		8	each	\$4,000.00	\$32,000.00	\$160,775.00		$\checkmark$	
	Pathway marker sign (Single sign on new post)		1	each	\$250.00	\$250.00				
	Pathway marker sign (Single sign on existing post or previously proposed post)		1	each	\$125.00	\$125.00				

Segment	Road / Path: Les	lie Street (East Side)	Start: CN F	ailway Overpass (North	Side)	End: John Street	Ward: 2	Sheet#: 6-	-1B; D6-3
				Facility I	Design Considerations	1			
	Facility Type	Municipal Infrastructure Impacts	Road C	ossings and Private E	ntrances	C	other Considerations		
	Multi-Use Path	<ul> <li>Utility Pole/Box: None</li> <li>Light Poles: 4 total</li> <li>Offset 4 poles between CN Railway Overpass (north side) – John Street to 0.6m west of path alignment</li> <li>Signal Poles: 1 total</li> <li>Offset traffic signal pole at northeast corner at John Street to 0.6m west of path alignment</li> <li>Support Poles: None</li> <li>Bus Stops: None</li> </ul>		<ul> <li>Preferred: Remove sidewalk, relocate guiderail to match the face of the curb, offset poles to 0.6m west of path alignment and construct new single span pedestrian and cyclist bridge (124m long) with 3.0m path width clearance over CN Rail corridor immediately east of existing road bridge.</li> <li>Required Structure: Construct concrete abutments and erect new prefabricated 50m long 3.0m clear width three-span steel truss bridge with timber deck over CN Rail corridor. No major changes to existing north approach required. Widen berm and install safety railing or south approach between proposed bridge and John Street.</li> <li>Required Structure: Retaining Wall (3.0m high x approximately 50m length) in sectior between CN Rail Overpass and John Street at base of slope.</li> </ul>					
						Phas	ing		
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years
Mar-7	Retaining Wall		300	M <sup>2</sup>	\$600.00	\$180,000.00			
	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk		0.13	linear KM	\$320,000.00	\$41,600.00			
	Safety Railings/ R	lubrail	130	linear M	\$120.00	\$15,600.00			
	Relocation of Light / Support Pole		5	each	\$4,000.00	\$20,000.00	\$200 400 00		
	Pathway / Road transition at existing signalized intersection (crossride)		1	each	\$25,000.00	\$25,000.00	\$289,400.00	<b>↓</b>	
	Staging area kiosk		1	each	\$5,000.00	\$5,000.00			
	Signboards for sta	aging area kiosk sign	1	each	\$2,000.00	\$2,000.00			
	Pathway marker s previously propos	sign (Double sided sign on existing post or ed)	1	each	\$200.00	\$200.00			
	Self-weathering solong, 3m clear wid	steel truss bridge with timber deck (50m dth)	150	m²	\$2,500.00	\$375,000.00			
	Concrete abutme	nts on piles	2	each	\$50,000.00	\$100,000.00	\$690,000.00		~
	Mobilization, pile of bridge	driving equipment, erection and inspection	1	allowance	\$200,000.00	\$200,000.00			
	Remove and repla	ace steel beam guide rail	1	allowance	\$15,000.00	\$15,000.00			



Segment	Road / Path: Joh	n Street (South Side)	Start: Lesi	ie Street		End: German Mills Settlers Park Path	Ward: 2		Sheet#: 6	-2A
				Facilit	y Design Considerations					
	Facility Type	Municipal Infrastructure Impacts	Road C	ossings and Private E	ntrances		Other Considerations	;		
	Multi-Use Path	Utility Pole/Box: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: 1 New Crossride at Signalize - Leslie Street @ John S Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	ed Intersection treet (south approach) lone e lone		<ul> <li>Preferred (John Street (South Side): Leslie Street – 60m west of Leslie Street): Rem sidewalk and construct 2.4m asphalt multi-use pathway on south side of road with alignm south of existing sidewalk in order to avoid bus stop and utility pole.</li> <li>Preferred (John Street (South Side): 60m west of Leslie Street – German Mills Settler's P Path): Remove sidewalk and construct new 3.0m asphalt multi-use path with 0.6m splash s (use red stamped concrete), which provides additional separation between the roadway and multi-use path.</li> <li>Required Structure: Move existing retaining wall (1.0m high x approximately 165m length) in section 1.0m south of existing location.</li> <li>Proposed Orientation Node at the southeast corner of John Street and Leslie Street. Const asphalt pad, install benches and route information signage at this location.</li> </ul>				
				Estimated Cos	st				Phas	ing
Mar-8		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3	3 Years	4-5 Years
	Two Way Active right-of-way on or	Transportation Multi-use path within road the side with removal of existing sidewalk	0.27	linear KM	\$320,000.00	\$86,400.00				
	Concrete Splash between Active Roadway	Strip placed within road right-of-way Transportation Multi-Use Path and	200	m²	\$150.00	\$30,000.00				
	Retaining Wall		165	m²	\$600.00	\$99,000.00	\$241,100.00		$\checkmark$	
	Pathway / Road transition at existing signalized intersection (crossride)		1	each	\$25,000.00	\$25,000.00				
	Pathway marker sign (Double sided sign on existing post or previously proposed)		2	each	\$200.00	\$400.00				
	Pathway marker s	sign (Double sided sign on new post)	1	each	\$300.00	\$300.00				

Segment	Road / Path: Ger	man Mills Settlers Park Path	Start: Johr	n Street		End: Leslie Street	Ward: 2	Sheet#: 6	6-2B
				Facility	y Design Considerations				
	Facility Type	Municipal Infrastructure Impacts	Road Cr	ossings and Private E	ntrances		Other Considerations		
	Multi-Use Path	Utility Pole/Box: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: None Use Existing Crossing: N Existing Underpass: Non Existing Bridge: 1 - Multi-Use Path @ Wate # of Private Entrances: N	lone e ercourse ~ 115m east of lone	Leslie Street	<ul> <li>Preferred: Proposed Lake to Lake Park.</li> <li>Upgrades to existing pathway ident Year Implementation Plan. Genera from granular to asphalt on existing surface drainage; and ensure exist</li> </ul>	Route uses the existing pathwa tified in the City of Markham Cyo I recommended improvements in path base; raise elevation of pa ing culverts are functional and c	y within German ling Pathways a nclude: upgrade athway bed to im ear.	n Mills Settlers and Trails 5 of path surface aprove pathway
				Estimated Cos	st			Phas	sing
Mar-9		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years
	Hard Surfaced C Right-of-Way in granular surface)	Off-Road Multi-Use Trail Outside of Road an Urban Setting (Upgrade existing	1.11	linear KM	\$100,000.00	\$111,000.00			
	Stream bank repa	airs in vicinity of existing bridge	1.00	allowance	\$40,000.00	\$40,000.00			
	Pathway marker s previously propos	sign (Double sided sign on existing post or sed)	2	each	\$200.00	\$400.00	\$152,500.00	$\checkmark$	
	Pathway marker s previously propos	sign (Single sign on existing post or sed post)	4	each	\$125.00	\$500.00			
	Pathway marker s	sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			

Segment	Road / Path: Les	slie Street	Start: Gerr	man Mills Settlers Park F	Path	End: Steeles Avenue	Ward: 2	<b>Sheet#:</b> 6-2	2B
				Facility	Design Considerations				
	Facility Type	Municipal Infrastructure Impacts	Road C	rossings and Private E	ntrances	0	ther Considerations		
	Signed Route	Utility Pole/Box: None Light Poles: None Signal Poles: None Support Poles: None Bus Stops: None	New Crossing: Not applicat Use Existing Crossing: N Existing Underpass: Non Existing Bridge: None # of Private Entrances: N	ble lot applicable e ot applicable		<ul> <li>Low volume, low speed (40km/h) re Leslie Street with a rural cross-sect</li> <li>Preferred: Lake to Lake Route follor road space with vehicles.</li> </ul>	esidential roadway, two-lane ion (no curbs or gutter). ows existing signed route. C	(one in each dire	ction) along ians to share
Mar-10				Estimated Cos	st			Pha	sing
		Description	Estimated Quantity	Units	Unit Price	Item Cost	Segment Cost	0-3 Years	4-5 Years
	Pathway marker	signs	0.54	linear KM	\$1,500.00	\$810.00			
	Staging area kios	sk	1	each	\$5,000.00	\$5,000.00			
	Signboards for st	taging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$8,810.00	$\checkmark$	
	Pathway marker	sign (Single sign on new post)	3	each	\$250.00	\$750.00			
	Pathway marker previously propos	sign (Single sign on existing post or sed post)	2	each	\$125.00	\$250.00			

## 5. Summary of Preferred Route

• The following table presents a summary of the preferred route by facility type for each phase and outlines the overall capital and maintenance cost for the Lake to Lake Route in Markham. A more detailed Cost Summary highlighting the estimated capital costs and estimated maintenance costs is found in Appendix A – Unit Costs Schedule and Detailed Cost Tables.

	Phase 1 (0-3 Years)		Phas	Phase 2 (4-5 Years)		Total Estimated	Estimated Annual	Estimated Maintenance	Estimated Maintenance
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Capital Cost for all Phases	Maintenance Cost	Cost 0-5 Years	Cost Over 20 Years
Signed Route	0.54	\$8,810.00	0.00	\$0.00	0.54	\$8,810.00	\$270.00	\$675.00	\$4,725.00
Multi-Use Pathway	3.91	\$1,635,575.00	0.06	\$27,800.00	3.97	\$1,663,375.00	\$15,880.00	\$39,700.00	\$277,900.00
Bridges	0.00	\$0.00	0.32	\$1,164,050.00	0.32	\$1,164,050.00	\$1,280.00	\$3,200.00	\$22,400.00
Total Network	4.45	\$1,644,385.00	0.38	\$1,191,850.00	4.83	\$2,836,235.00	\$17,430.00	\$43,575.00	\$305,025.00

### **The Preferred Route** 2.4.7

Based on the information provided in Section 2.4.1 – Section 2.4.6. The following table has been developed which summarizes the Lake to Lake Route by municipality by phase for each facility type:

				Network I	_ength (km)	by Facility	Type, Phase	e and Munici	pality				
	Georg	gina	East Gw	villimbury	Newn	narket	Au	rora	Richmo	nd Hill	Mark	tham	
Facility Type	Phase 1 (km)	Phase 2 (km)	Total (km)										
Signed Route	29.74	1.77	0.87	3.50	0.00	0.00	0.00	0.00	0.89	0.00	0.54	0.00	37.31
Multi-Use Pathway	1.58	0.39	12.98	1.09	7.88	0.00	7.74	1.40	14.18	3.15	3.91	0.06	54.36
Bridges	0.00	0.12	0.00	0.06	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.32	0.49
Total Network	31.32	2.16	13.85	4.65	7.91	0.00	7.74	1.40	15.07	3.15	4.45	0.38	92.16

Figure 2.4 illustrates the Lake to Lake Cycling Route and Walking Trail by phase. Further design details and considerations are presented in Section 4.0



FIGURE 2.4

6

1

.s.00

Lake to Lake Cycling Route and Walking Trail Feasibility and Design Study | MASTER Volume 2 Design Feasibility Report | June 2013



Credit: MMM Group 2012 - Nokiidaa Trail, Aurora

## 3.0 GETTING IT BUILT

**3.1** How to Implement the Plan

### 3.1.1 Roles and Responsibilities

York Region initiated the planning component of the Lake to Lake Cycling Route and Walking Trail following the development of the Regional Pedestrian and Cycling Master Plan (PCMP). Building upon this study, the Region has moved from the planning stage to completing a design feasibility assessment for the Lake to Lake Route.

As this project moves forward, the Region's local municipalities have an important role in the implementation of the Lake to Lake Route as they have jurisdiction over the majority of the route, and will review and sign off on the detailed design, construction and maintenance of the route segments within their jurisdiction (including municipal road right-of-ways, municipally-owned parks, and boulevards of Regional roads).

The local conservation authorities (Lake Simcoe Regional Conservation Authority and Toronto Region Conservation Authority) and Ontario Parks will review and sign off on the detailed design, construction and maintenance of route segments located on lands within their jurisdiction and may have approval authority for segments located outside of existing municipal roadways.

It is proposed that York Region assist local municipalities and the two conservation authorities as well as Ontario Parks in the implementation of the Lake to Lake Cycling Route and Walking Trail through a Partnership Strategy. Two cost-sharing strategies have been developed for York Region's consideration to fund and implement the Lake to Lake Route. The first option assumes York Region will fund 100% of the capital costs for the Lake to Lake Route. The second option is based on a 50% / 50% funding strategy between York Region and the respective local municipality, conservation authority or agency for each segment of the Lake to Lake Route. The cost and responsibility for maintenance of the trail would be the responsibility of each local municipality, conservation authority and agency as sections of the Lake to Lake route fall within lands / roads under their respective jurisdiction.

It is recommended that existing partnerships between the Region, local municipalities, conservation authorities and Ontario Parks are to continue to promote and encourage the benefits of walking and cycling using promotional material and outreach venues, such as Facebook / Twitter. This could be continued and enhanced for the Lake to Lake Route design and ultimate development.

### **3.1.2** Strategies for Implementation

### Public and Stakeholder Consultation

Consultation with the public and stakeholders has been an important component in the planning and conceptual design of the Lake to Lake Cycling Route and Walking Trail. The preliminary route was identified in the York Region Pedestrian



and Cycling Master Plan (PCMP) and the preferred route alignment was subsequently confirmed through this study based on input provided by the public and stakeholder at key stages of the study.

As this project moves forward to implementation, it is important that the lead agency continue to communicate and engage with the public and local stakeholders, which may include but are not limited to: local counsellors, local conservation authorities, the Ministry of Transportation of Ontario (MTO), Highway 407 ETR, CN Rail, Transport Canada, and the residents of adjacent local neighbourhoods. The following sections outline the suggested consultation considerations for implementing the Lake to Lake Route.

### Pathways and On-road Bike Routes in New Communities / Neighbourhoods

Where pathways are planned in new development areas, no additional consultation is expected to be required above and beyond what is required for the subdivision planning and approvals process related to the subject lands. It is expected that developers will work through planning, consultation and approvals with Regional and local municipal staff as well as approval agencies. The details of the pathway route(s) and their construction will take place as part of that process.

### Pathways and On-road Bike Routes in Existing Communities / Neighbourhoods

Where new pathways are being implemented or significant improvements are being made to existing pathways (e.g. retrofitting existing sidewalks) within or nearby existing communities. Differing levels of consultation may be required to advance the project through the detail design and implementation stages. The level of consultation / public notification required for individual route segments depends on the following elements:

- Segment location;
- Design approvals required;
- Complexity; and
- Whether the project is identified in the Regionally approved PCMP, or other locally approved active transportation master plans (e.g. East Gwillimbury Active Transportation and Trails Master Plan, Aurora Trails Master Plan, Richmond Hill Pedestrian and Cycling Master Plan, Markham Cycling Master Plan). A brief explanation of the typical types of consultation are outlined below:

### 1. **Notification of Construction**

A public notice should be developed which outlines the local municipality or conservation authority's intention to proceed with construction for projects that meet the following criteria:

- project is located entirely in the Region of York, local municipality or conservation area owned land;
- project does not require easements or property from abutting residential or commercial properties; The
- The project has all necessary planning and design approvals in place, and

The project is ready to be tendered.

This public notice of construction should first be published on the local municipality's website and in the "public notice" section of the local newspaper(s). It should briefly explain the project, note it was approved by York Region as part of the Lake to Lake Route Design Feasibility Study and supported by other locally approved plans, identify the expected construction start and end dates and provide a contact name and number for questions. Although not included in the notice, it is suggested that the Region and local municipality wait for 30 days from the time of initial notification to commencement of construction activities in the event that questions arise providing the Region's project manager to respond to them.

If a significant issue or concern is raised by residents, First Nations or area property owners, local staff, in consultation with the local Counsellor, may select to schedule a local neighbourhood meeting (see 2 below).

### Local Neighbourhood Meeting (Conducted by Counsellor and Staff) 2.

A Local Counsellor and / or municipal staff may select to host a neighbourhood information meeting for a project that has been approved as part of the Lake to Lake Route (or other plans) and is in the final design and approvals stage (not yet tendered). A meeting would be conducted if the local Counsellor or staff is of the opinion that additional consultation with the public is warranted to address comments received and/or to present the recommended route alignment and draft design details. This meeting may also serve to present the most current changes or solutions to the alignment or design (if any) from that presented to area residents in the past.

Outcomes of the meeting may include a number of directions, such as:

- Finalize and / or revise detailed design based on direction agreed to at the meeting, secure outstanding approvals, tender project, issue notification of construction and proceed to construction;
- Revise design and report to area residents at a second neighbourhood meeting (see item 3 below); or
- Defer the project until Regional staff have time to consult further with the local Councilor, area residents and/or report back to the Region's Transportation Committee with a recommended planning / design solution for the project.

### Consultation as part of Design Process (Conducted by Staff with optional external 3. consultant assistance)

A possible outcome of a neighbourhood meeting (as outlined above in 2) may include revisions to the design concept or pathway alignment. The local municipality may select to undertake this work internally or secure the assistance of external specialists to assist municipal staff. With these types of projects it is expected that one or more working meetings may be scheduled with the local Counsellor and/or neighbourhood residents/stakeholders to identify, review and refine design changes. If, in the opinion of the local Counsellor and/or staff, there is consensus to proceed, then the design should be finalized, any approvals secured, project tendered, notification of construction issued and then the

project constructed. If consensus is not apparent, staff should be asked to report back to the local municipality's Transportation or Public Works Committee with a recommended course of action and request direction from Council.

### Consultation as part of a Class Environmental Assessment or similar study process 4. (Conducted by Staff with external consultant assistance)

Projects that require or where the Region or local municipality selects to proceed with) a Class Environmental Assessment (none are anticipated to implement the Lake to Lake Route), Feasibility Study or further investigation should include some type of a formal consultation program tailored to meet the scale, location and range of issues anticipated for the proposed project.

### **Performance Measures** 3.1.3

The monitoring of facilities along the Lake to Lake Route should be led by York Region in partnership with local municipalities and conservation authorities. This is specifically important in areas where the route includes unique design features (e.g. crossrides) that deviate from the post-practice and to evaluate the effectiveness of the implemented solution in terms of operations, safety and cost. The overall objectives of route monitoring are to:

- Provide a reference framework against which to measure performance;
- Periodically measure facility performance so that adjustments and improvements can be made in the delivery of trails and bikeways;
- Provide the basis of a peer review that is comparable with other municipalities; and
- Provide citizens and Council with a reference for expectations.

A monitoring process should be initiated for Lake to Lake Route segments where:

- Engineering design options to integrate active transportation facilities may deviate from existing design standards;
- New active transportation features or designs are introduced;
- Specific operational concerns have been identified; or
- The operational costs of the proposed active transportation feature outweigh user benefits.

The monitoring process implemented for any particular Lake to Lake Route should consider indicators and measures that assess the use and operational efficiency of the facility including but not limited to safety; comfort and convenience; maintenance needs; risk and liability implications; and cost. Table 3-1 outlines a list of potential measures that could be considered for monitoring.

### Table 3-1 Active Transportation Performance Measures

Measure	Indicators	Data and Analysis
	Pedestrian usage and demand	Classification counts at interchange / intersections
Active Transportation Use	Cyclist usage and demand on-road	Classification counts at interchange / intersections
	Cyclist usage in-boulevard	Classification counts at interchange/intersections
	Change in collision rate or severity/pattern	Before and after collision data collection
Safety of All Road Users	Illegal or undesirable movement	Field observations
	Change in AT-vehicle and vehicle- vehicle conflicts	Before and after conflict data
	Adhere to snow removal requirements	Additional cost or Municipal compliance
Maintenance	Road/sidewalk debris removal	Additional cost or Municipal compliance
	Marking restriping / coloured treatments, sign repair	Additional cost or Municipal compliance
	Public opinion / support	User comfort level / concerns
Cost Effectiveness	Capital and Maintenance Costs	Ease of implementation Financial costs

Source: Development of a Monitoring Plan for Active Transportation Projects, 2012



### 3.2 Lake to Lake Route Marketing & Promotion

### Maps

Along with a proposed signage strategy (see Section 2.0), maps are one of the most important marketing tools for a cycling and trail / pedestrian route. Maps are to be designed to accommodate a range of uses and users to most efficiently promote the route. A variety of map scales, detail, sizes and formats are recommended, including but not necessarily limited to the following:

- Large scale, printed map brochure a map of the entire primary route printed on a tri-fold type of brochure with editorial describing the route, destinations and things to see and do along the route, and how / where to get more detailed mapping and trip planning information. This map brochure would be used primarily as a lure piece for distribution through Visitor Information Centres and at tourism attractions and businesses in York Region and the City of Toronto.
- Small scale, printed maps on waterproof paper a series of maps with each covering approximately 20 25km of the overall route, showing the route in detail along with the locations of trailheads/staging areas, points of interest, attractions, accommodation, restaurants, public washrooms, hospitals, and other services and facilities of interest to cyclists. These would be used primarily by cyclists while riding the route. In addition to printed versions, the maps could be made available through the Lake to Lake Route website as downloadable pdfs (for an example, see Waterfront Trail http://www.waterfronttrail.org/trail.html)
- Scalable, digital map a map of the entire Route as well as links and connecting trails, locations of trailheads/staging areas, points of interest, attractions, accommodation, restaurants, public washrooms, hospitals, and other services and facilities of interest to cyclists. Ideally this map would be available on the Lake to Lake Route website to enable pre-trip planning and also available as an application for use on a smart phone equipped with global positioning system (GPS). The mobile application would allow cyclists to navigate the Route using a smart phone or mobile tablet computer (see Sustrans Network http://www.sustrans.org.uk/map and Toronto Bike Map http://itunes.apple.com/ca/app/toronto-bike-map/id383032026?mt=8 for examples).

### **Online Presence**

Given the importance of the Internet as a travel promotion and planning tool, it is recommended that the Trail Route have a strong Internet presence, including but not necessarily limited to:

- Website the online warehouse of all information about the Lake to Lake Route including:
- Maps (see above); 0
- Route facts, distances, etc. 0
- Photos and videos of the Route, points of interest and attractions along the Route, and Route events; 0
- Telephone and email contact information for York Region Tourism, Tourism Toronto, as well as other 0 organizations and businesses that can assist with trip planning and trip services;

- 0 and/or tour support services, as well as the Ontario tourism marketing website www.Ontariotravel.net;
- Web links to Facebook, Twitter, YouTube and Flicker accounts for the Route; 0
- History about the origins and development of the Route; 0
- Announcements about planned and just completed Route facility improvements; 0
- 0 conditions/volumes for on-road segments; and
- 0 Calendar with schedule of cycling and other types of events happening along the Route.
- integrated with the device's GPS (see Maps, above);
- Route users to post their comments, photos and videos of their Route experiences;
- online, etc.
- Flickr or similar photo sharing website account a complete archive of photos of the Route, points of interest and attractions along it, and events that occurred on it, including photos taken by the Region as well as Route users; also web links to the website, Facebook page and YouTube account; and
- YouTube account – same as for Flickr or photo sharing website account (above), but for videos.

### **Product Development**

From a tourism perspective, the Lake to Lake Route is a key piece of cycle and walking / hiking tourism infrastructure that will facilitate and promote cycle tourism experiences. Product development typically refers to the provision of additional facilities or services, often together in a single package that can be purchased. This approach helps to increase the convenience for cycle tourists wishing to enjoy a cycle tourism experience on the Route.

It is recommended that the York Region Tourism and Tourism Toronto, perhaps in partnership with Transportation Options and their Welcome Cyclist Program (http://www.welcomecyclists.ca/), work with private businesses located along the Route to develop cycle tourism products, including but not limited to the following:

 Guided day, overnight and multi-day cycle tours – likely to be small groups (10 or less) lead by a tour leader familiar with the route, its points of interest, attractions, etc., for tours of varying distance and time. The overnight and multi-day tours would include pre-booked meals and accommodation and possibly the option of luggage being transported by support vehicle.

Web links to websites for destinations and businesses along the Route, including businesses offering guided tours

Route conditions report identifying up to date riding surface conditions for off-road segments and traffic

**Mobile App** – a mobile device optimized version of the website, with the key featuring being a scalable Route map

**Facebook page** – populated with much the same information as available on the website, but also encouraging

Twitter account - frequent posts to announce events along the Route, links to new photos and videos posted

- Cycle touring support services for cyclists choosing overnight or longer self-guided rides, this might include the rental of GPS units and luggage being transported to destinations. For self-guided day tours, it might include the rental of GPS unit and emergency roadside service in the event of mechanical breakdown, injury or fatigue.
- Accommodation & restaurant packages local accommodation and restaurants located along or near the Cycling Route could combine their offerings to provide meal and accommodation packages for cyclists.

In addition to product developed by private businesses, it is recommended that the York Region Tourism and Tourism Toronto develop themed cycle touring itineraries of varying lengths from one day to overnight and longer that would be available as hard copy maps or digital maps downloadable from the Lake to Lake Route website.

### **Print Listings & Advertisements**

It is recommended that York Region Tourism and Tourism Toronto develop and place print advertisements (newspapers, magazines, regional visitor guides) and listings (provincial and regional visitor guides) to assist in raising community and tourism / visitor awareness of the cycle and walking/hiking tourism experiences supported by the Lake to Lake Route.

### The Investment 3.3

The total capital investment to design and construct the Lake to Lake Cycling Route and Walking Trail is estimated at \$15.9 million, plus an estimated \$6 million for detailed design, approvals, tendering and contingencies. The estimated cost to implement the Lake to Lake Route is based on unit prices (see Appendix A - Unit Cost Schedule & Detailed Cost Tables), cost estimates from similar projects, field investigations and the type of facility proposed for each Lake to Lake Route segment. The first cost-sharing option assumes York Region will fund 100% of the capital costs for the Lake to Lake Route. The second cost-sharing option is based on a 50% / 50% funding strategy between York Region and the respective local municipality, conservation authority or agency for each segment of the Lake to Lake Route. With regard to the second option, several segments are proposed to include a modification to a Regional road or bridge (e.g. Leslie Street bridge crossing over Highway 407) and these have been assigned 100% as a Regional cost.

### 3.3.1 Who Pays?

The Lake to Lake Route is both an infrastructure and operations plan. Therefore, it requires infrastructure, program development and operations (maintenance) funding to ensure successful implementation and monitoring. Details pertaining to the maintenance costs are discussed in detail in Section 4.2. The information presented in Appendix A -Unit Cost Schedule & Detailed Cost Tables identifies the implementation cost summary in more detail by facility type, phase and the two cost-sharing options for all jurisdictions.

Tables 3-2A and 3-2B identify the two cost-sharing options for the funding and implementation of the Lake to Lake Route.

## Table 3-2A: Estimated Cost of 5+ Year Implementation P capital costs

	Existin	g / Short <sup>·</sup>	Term (0-3	Years)		1	Long Term (4-5+ Y	'ears)	
	Region	Local	TRCA	Total	Region	Local	Ontario Parks	LSRCA	Total
Georgina	\$833,740	\$0.00	\$0.00	\$833,740	\$478,110	\$0.00	\$0.00	\$0.00	\$478,110
East Gwillimbury	\$3,698,370	\$0.00	\$0.00	\$3,698,370	\$1,742,750	\$0.00	\$0.00	\$0.00	\$1,742,750
Newmarket	\$769,680	\$0.00	\$0.00	\$769,680	\$0.00	\$0.00	\$0.00	\$0.00	\$0
Aurora	\$181,560	\$0.00	\$0.00	\$181,560	\$813,610	\$0.00	\$0.00	\$0.00	\$813,610
Richmond Hill	\$8,159,560	\$0.00	\$0.00	\$8,159,560	\$1,354,750	\$0.00	\$0.00	\$0.00	\$1,354,750
Markham	\$2,269,250	\$0.00	\$0.00	\$2,269,250	\$1,644,750	\$0.00	\$0.00	\$0.00	\$1,644,750
Total	\$15,912,160	\$0.00	\$0.00	\$15,912,160	\$6,033,970	\$0.00	\$0.00	\$0.00	\$6,033,970
Capital Cost inc	luding Engineer	ring and C	ontingenc	y Costs					\$21,946,130

### Table 3-2B: Estimated Cost of 5+ Year Implementation Plan by Municipality / Agency by 50% / 50% Funding Partnership

	Exi	sting / Short 1	Г <mark>e</mark> rm (0-3 Үе	ears)		Long 7	<b>Ferm (4-5+</b>	(ears)	
	Region	Local	TRCA	Total	Region	Local	Ontario Parks	LSRCA	Total
Georgina	\$416,870	\$416,870	\$0.00	\$833,740	\$266,730	\$140,140	\$71,240	\$0.00	\$478,110
East Gwillimbury	\$1,849,190	\$1,849,190	\$0.00	\$3,698,380	\$871,370	\$478,620	\$0.00	\$392,750	\$1,742,740
Newmarket	\$384,840	\$384,840	\$0.00	\$769,680	\$0.00	\$0.00	\$0.00	\$0.00	\$0
Aurora	\$90,780	\$90,780	\$0.00	\$181,560	\$406,810	\$406,810	\$0.00	\$0.00	\$813,620
Richmond Hill	\$4,079,780	\$3,689,550	\$390,230	\$8,159,560	\$677,370	\$677,370	\$0.00	\$0.00	\$1,354,740
Markham	\$1,134,625	\$1,134,625	\$0.00	\$2,269,250	\$1,625,570	\$19,180	\$0.00	\$0.00	\$1,644,750
Total	\$7,956,085	\$7,565,855	\$390,230	\$15,912,170	\$3,847,850	\$1,722,120	\$71,240	\$392,750	\$6,033,960
Capital Cost incl	uding Enginee	ring and Contin	ngency Cost	S	·				\$21,946,130



	1. C	NAL STATESTIC /	A	÷	×7	D	6	4000/	
lan	Dy	infunctionality /	Agency	by	YOrk	Region	funding	100%	OT

It is estimated that the total capital investment to implement the Lake to Lake Cycling Route and Walking Trail is approximately \$15.9 million, plus an estimated \$6 million for detailed design, approvals, tendering and contingencies, over the next 5 years. The cost of the route is exclusive of maintenance and operating costs and other approved future road projects for local municipalities. It is recommended that each local municipal jurisdiction and agency would be expected as partners, to assume ownership of routes / facilities that fall within lands / roads under their jurisdiction and thus be responsible for maintaining their own costs as they do with their existing cycling and pedestrian / trail facilities. It is recognized that the maintenance program and level of service standard is specific to each local municipality. Details pertaining to the maintenance costs are discussed in detail in Section 4.2.

The network cost of approximately \$15.9 million is a conservative estimate and is based on stand-alone unit prices identified in Appendix A - Unit Costs Schedule and Detailed Cost Tables. However, it has been assumed that onroad components of the network would typically be included as part of the same tender for a road resurfacing, reconstruction or widening project. Therefore, through economies of scale, the construction cost charged to the municipality by a contractor should be less.

For on-road facilities shown in the tables, the distance shown represents the length of the road with bicycle facilities on both sides of the road. The distances for multi-use trails in a local municipality and Regional road rights-of-way have been assigned to the local municipality because multi-use trails, like sidewalks, are the responsibility of local municipalities in York Region.

### Partnership & Funding Strategies 3.3.2

### Lake to Lake Investment Strategy

As previously noted, it is recommended York Region should assume a lead role in coordinating the implementation of the Lake to Lake Route in partnership with the respective jurisdictions for each segment of the route in the Region.

Given the Lake to Lake Route is a Regional network, there are a number of benefits to the first cost sharing option where the Region funds 100% of the capital costs for the implementation and construction of the Route:

- 1. This approach is expected to reduce the design and tendering component costs through realizing economies of scale by York Region completing the detailed design, tendering and managing the implementation, compared to the second option where York Region would be a funding partner but the local municipalities would separately be responsible for design, tender and implementation.
- 2. The goal to implement the Lake to Lake Route within five years is expected to be more achievable if York funds the entire capital cost as only one Council (York Region) will be required to approve the annual implementation budget compared to the challenges in securing timely annual budget approvals from each of the local municipalities, conservation authorities and Ontario Parks for their 50% funding share in option 2.

Although Option 2 does require each local municipality, conservation authority and Ontario Parks to have a funding role in implementation, they would still have an ownership role in Option 1 as they would be required to approve the alignment, detailed design, issue appropriate approvals and permits and then assume and maintain the routes in each of their jurisdictions.

Regardless of the funding approach selected by York Region, projects approved under the "Lake to Lake Route Investment Strategy" should adhere to the approved Lake to Lake design and route. Changes proposed after a contribution agreement is signed (the form this agreement would take is dependent on the funding approach) would have to be approved by the Region prior to construction.

Detailed design and implementation of the Lake to Lake Route should include the following:

- Tender ready construction plans;
- Typical cross-section drawings;
- Proposed construction commencement/phasing;
- Maintenance details; and
- Detailed construction cost.

The detailed design approval process for each municipal section should also include the following:

- A confirmation that the route alignment and facility type is consistent with the Lake to Lake Design Feasibility Study or subsequent revisions as approved by the Region of York;
- Meet current Regional planning and design guidelines;
- Be supported by a resolution of local council, conservation authority and/ or an agency;
- A commitment from the local municipalities and/agency for:
  - Assumption of the Lake to Lake Route segment under their jurisdiction
  - All maintenance and future rehabilitation responsibilities.

The intent of the Investment Strategy is to assist local municipalities, conservation authorities and Ontario Parks in implementing their respective segments of the Lake to Lake Route by funding up to 100% of eligible capital work. The cost share is calculated from the total capital cost of the project.

It is recommended that a report be presented to Regional Council during each year of implementation that identifies work completed over the past year and segments proposed for the upcoming year and then requests approval of the budget necessary to implement project segments scheduled for the following year.

Typical eligible items for Regional funding are labour and material costs for:

- Pavement Material;
- Signage;
- Safety Barriers;
- Hard Landscaping;
- Lighting (as per Regional policy);
- Bridge Structures;
- Utility Relocation;
- Traffic Control;
- Project Management;
- Administration / overhead (only contracted portion of the project "out of the pocket expenses"); and
- Design and planning.

Project elements not eligible for Regional funding include:

- Temporary or seasonal enhancement including landscaping;
- On-going maintenance during the course of operations;
- Repair or replacement during the course of operations;
- New curb & gutter (unless necessitated by project design);
- Interlocking pavers; and
- End of trip facilities that are not part of the construction project (i.e. bike racks, lockers, etc.).

### **Other Funding Source Considerations**

As set out in the York Region PCMP, funding of the Lake to Lake Route may rely on Development Charges (DC), the general tax base and a portion of federal / provincial gas tax funds. The Region's DC by-law should be reviewed to confirm that it permits the use of DC funds for improving Regional Road right-of-ways to better accommodate alternative modes, including walking, cycling and public transit use.

To assist in reducing taxpayer costs, York Region may also select to pursue outside funding opportunities. Over the last few years, funding sources made available for cycling, pedestrian and trail related projects are at or near an alltime high due to the increasing popularity of on and off-road cycling facilities and trails. It is expected that this trend will continue. Outside funding opportunities may include:

- Gas Tax:
- The Canada-Ontario Infrastructure Program;
- Federation of Canadian Municipalities Green Municipal Fund;
- The Federal Government's Transportation Showcase Program;
- Province by casinos;
- this program;
- projects where materials or logistical support is required;
- and small corporations over the years;
- Potential future funding from the Ontario Trials Strategy;
- community level; and
- Private citizen donations / bequeaths.

### 3.3.3 **Economic & Tourism Benefits**

For host communities, tourism is an economic activity which generates economic benefits in the form of contribution to gross domestic product, generation and support of jobs, and taxes paid to municipal, provincial and federal governments. When tourism is sustainable, the economic benefits are realized in combination with environmental and social / cultural stewardship. This "triple bottom line", results in an enhanced quality of life for host community residents as well as an authentic visitor experience for tourists.

The proposed Lake to Lake Route represents a sustainable tourism development initiative with the potential to benefit tourists and residents within York Region and the City of Toronto. These benefits may include:

- as a cycling destination.
- therefore shop at local businesses more frequently than other types of tourists.



Ontario Trillium Foundation that was recently expanded in response to the money collected throughout the

Human Resources Development Canada program that enables personnel positions to be made available to various groups and organizations. For example, the Ontario Trails Council has been able to hire two people under

Corporate Environmental Funds such as Shell and Mountain Equipment Co-op ten to fund small, labour-intensive

Corporate Donations may consist of money or services in-kind, and have been contributed by a number of large

Service Club such as Lions, Rotary and Optimists have assisted with a number of high visibility projects at the

Establishment of a cycle tourism destination – linking Lake Simcoe and Lake Ontario as well as communities located between these two centres in a shared tourism development initiative with the potential to brand the region

**Increased regional tourism economic benefits** – as a branded cycle tourism destination, new cycle tourist spending will be attracted to York Region and the City of Toronto. In general, cycle tourists travel light and

- Increased safety of cycling and pedestrian activities in and through York Region -- by providing an attractive, compelling experience that directs cyclists and trail users (pedestrians etc.) to engaging facilities that have been designed to reduce user risk (function of safety) in a designated corridor through communities and rural areas.
- Enhanced regional quality of life use of the Route by regional residents for recreation and for transportation between communities would facilitate increased physical activity and its related health and fitness benefits, while replacing some motorized travel with bicycles thus reducing air pollution and greenhouse gas emissions.
- Contribution to a regional tourism development strategy success from implementing this shared, regional tourism development initiative linking communities can provide a model and platform for regional tourism projects and initiatives.

Using the Ontario Ministry of Tourism, Culture and Sport Tourism Regional Economic Impact Model (TREIM), it is possible to quantify future economic benefits associated with capital investment in developing the Route, and spending by "out-of-Region" visitors using the Route.

For every \$100,000 of capital investment in developing the Route, \$42,400 would be contributed to the Region's Gross Domestic Product (GDP), \$19,900 would be collected in tax revenues (all three levels of government combined), and just less than 1 full time job would be supported. Given the total estimated capital expenditure of \$15,000,000 to fully develop the Lake to Lake Route, approximately \$6,360,000 will be contributed to Regional GDP, \$2,985,000 in tax revenues will be collected and 150 full time jobs will be supported.

If the Route were fully developed and open for use in 2012, for every 1,000 visitors to York Region that were drawn to the region to use the Route, 50% of whom stayed overnight within the Region, the contributions to the York Region economy from the visits would have included:

If the visitors were residents of Ontario, \$78,400 in direct spending generating \$44,700 contribution to Gross Domestic Product (GDP) and \$23,000 in tax revenues while supporting 1 job;

If the visitors were residents of other provinces within Canada, \$69,500 in direct spending generating \$43,900 contribution to GDP and \$21,700 in tax revenues while supporting 1 job;

- \$23,000 in tax revenues while supporting 1 job; and
- If the visitors were residents of countries other than Canada or the USA, \$130,000 in direct spending generating \$91,800 contribution to GDP and \$43,100 in tax revenues while supporting 1 job.

It should be noted that in 2008, data collected by Statistics Canada, revealed that York Region attracted almost 3.1 million visits. If the Lake to Lake Route were responsible for increasing this by 1% (approximately 31,000), the resulting economic benefits if all of the visitors were residents of Ontario would be as much as \$2.4 million in direct spending generating \$1.4 million contribution to GDP and \$713,000 in tax revenues while supporting 31 jobs.

If the visitors were residents of the USA, \$68,400 in direct spending generating \$45,700 contribution to GDP and

## 4.0 LAKE TO LAKE ROUTE DESIGN GUIDELINES & ALTERNATIVES

## 4.1 Designer's Tool Box

For the purposes of the Lake to Lake Cycling Route and Walking Trail, the "Designer's Tool Box" has been divided into Off-Road Pedestrian / Cycling Facilities and On-Road Bicycle Facilities with an Adjacent Sidewalk. The following table defines off and on-road facilities as well as identifies some of the key facility types which fall under each category. **Section 4.1.1** and **Section 4.1.2** provide typical functional design guidelines for each of these facility types. The Lake to Lake Design Guidelines comply with the new Accessibility for Ontarians with Disabilities Act (AODA) Built Environment Standards. The Designer's Tool Box highlights the Technical Requirements for Recreational Trails in **Section 4.1.1.3**.

### Table 4-1: Bicycle Facility Types

Off-Road Pedestri	an/Cycling Facilities	On-Road Bicycle Facilities with
"Off-Road Pedestrian/Cycling Facilities" are those facil roadway through open spaces, valleys and parklands, a unopened road allowances and utility corridors. Off-road way such as In-Boulevard Pathways/Active Transportation	ties that are located outside the travelled portion of the s well as linear corridors such as abandoned railway lines, facilities may or may not be located within the road right-of- n Paths and Off-Road Multi-Use Trails, respectively.	"Sidewalks" are defined as raised paved or asphalted paths for Facilities" are those within the travelled portion of the roadwar incorporated into the existing or future street network. Such f Sidewalk, Signed Bike Routes with a Paved Shoulder, Bicycle La adjacent Sidewalk.
Key Off-Road Pedestrian / Cycling Facilities:		Key On-Road Bicycle Facilities with Adjacent Sidewalk:
<ul> <li>In-Boulevard Pathway / Active Transportation Pat</li> <li>Off-Road Multi-Use Trail</li> </ul>	h (one-way, two-way and shared-use); and	<ul><li>Signed Bike Route with an Adjacent Sidewalk;</li><li>Signed Bike Route with a Paved Shoulder;</li></ul>
<text><text><image/></text></text>	<image/> <image/>	<text><text><text></text></text></text>
Other Design Considerations - Crossings <ul> <li>Potential Conflicts with Side-roads and Driveways</li> </ul>	;	Other Design Considerations – Grade Separations and Retrofit • Grade Separations; and
<ul> <li>Cross-Walks and Cross-Rides; and</li> </ul>		Retrofitting

• Mid-Block Crossings.

### h an Adjacent Sidewalk

for pedestrians alongside the roadway. "On-road Bicycle ray, located on or along an existing road and may be facilities include Signed Bike Routes with an adjacent anes with an adjacent Sidewalk and Cycle Tracks with an

- Bicycle Lane with an Adjacent Sidewalk; and
- Cycle Track with an Adjacent Sidewalk.

Signed Bike Route with a Paved Shoulder



Credit: MMM Group, 2012

itting

### 4.1.1 **Off-Road Pedestrian / Cycling Facilities**

## In-Boulevard Pathway / Active Transportation Path within the Road Right-of-Way

An In-Boulevard Pathway is a bicycle path adjacent to a sidewalk or a combined bicycle / pedestrian path physically separated from motor vehicle traffic typically by a hard surface splash strip (e.g. asphalt, stamped concrete, etc.) adjacent to the curb followed by a grass / landscaped strip (often referred to as part of a "boulevard" or "verge") within the road right-of-way. Sometimes referred to as an "Active Transportation Path", this facility type is typically design for a wide range of non-motorized users including pedestrians, cyclists, in-line skaters and skateboarders. Motor vehicles are not permitted, except when emergency or maintenance vehicles require access.



Figure 4.1 – One-Way In-

**Boulevard Pathway** 

**Key Considerations:** 

() dib

3.0m

Travel Curb & Lane Blvd

Varies

**Boulevard Pathway** 

Figure 4.2 – Two-Way In-





Figure 4.4 – Town of Milton **In-Boulevard Pathway** Credit: MMM Group, 2010



Figure 4.6 - Shared Use In-**Boulevard Pathway** Credit: loopsframelove.blogspoit.ca, 2011

Figure 4.5 – In-Boulevard Pathway alongside Sidewalk (Town of Milton) Credit: MMM Group, 2010



Figure 4.7 – Two-way In-Boulevard Pathway with Adjacent Sidewalk Credit: Unknown, 2012

Size

Sign / Code

## Table 4-3: Pavement Markings for In-Boulevard Pathways

• An in-boulevard pathway should typically be considered where there are few intersections and conflict points per kilometre (e.g. ideally less than 4). On an urban cross-section a shared use path may be implemented on one side of the road and a pedestrian sidewalk on the other side.

Shared Use Path

3.0m

Figure 4.3 – Shared Use In-

- Surface may be compacted granular (e.g. limestone screening / recycled compacted concrete) or hard surface (e.g. asphalt); A hard surface will accommodate a wider range of users.
- A yellow centre line may be used on busier in-boulevard pathways with an asphalt surface to help delineate travel lanes.

Lane

Blvd

Varia

**Boulevard Pathway** 

- An in-boulevard pathway is a good facility choice where a large portion of the bicycle users may have low to moderate level of experience. •
- It is recommended that a buffer, with a minimum width of 0.5 metres, separate an in-boulevard pathway from the sidewalk.

Pedestrian Consideration: An in-boulevard pathway can take on two forms, one where the bicycle path is distinct from the sidewalk and the other where a single path is shared by pedestrians and cyclists. In corridors with high pedestrian and cycling demand, ideally the in-boulevard pathway would take on the form where the bicycle path is distinct from the sidewalk. However, consideration should be given to the location of the route, the available right-of-way and the cost of implementing and maintaining two separate facilities.

# -+ 1.0 m++1.0 m++1.0 m +







Source: TAC Bikeway Traffic Control Guidelines, 2012

## An In-Boulevard Pathway is typically an ideal facility type for families and recreational users.



### Off-Road Multi-Use Trail outside the Road Right-of-Way

An Off-Road Multi-Use Trail is a facility shared by pedestrians, cyclists and other non-motorized users located outside the road right-of-way. If permitted by municipal by-law, multi-use trails may also be used by recreational motorized vehicles. Multiuse trails are generally used to provide a recreational opportunity for local residents and visitors and are typically located through parks, open spaces and rail corridors as well as along rivers, lake fronts and canals.





• Generally used to provide a recreational opportunity for both pedestrians and cyclists, and other non-motorized users if

- Surface type may vary, may be granular in rural areas and asphalt in urban areas to accommodate a wider range of
- Path organization signage and / or painted centrelines (for paved trails) can be utilized to identify separate lanes for



Figure 4.12 – Typical Design Detail - Gravel Surfaced Trail



Figure 4.14 – Town of Aurora Multi-Use Trail Credit: MMM Group, 2009



Figure 4.15 – Town of East Gwillimbury Multi-Use Trail Credit: MMM Group, 2010



Figure 4.16 – Town of East Gwillimbury Multi-Use Trail Credit: MMM Group, 2010

Figure 4.13 – Typical Design Detail - Hard Surfaced Trail



Figure 4.17 – Town of Richmond Hill Multi-Use Trail Credit: MMM Group, 2010

### Accessibility

Approximately one in eight Canadians suffer from some type of physical disability. Mobility, agility, and pain-related disabilities are by far the most common types, each accounting for approximately 10% of reported disabilities nationally. Disability increases with age: from 3.3% among children, to 9.9% among working-age adults (15 to 64), and 31.2% among seniors 65 to 74 years of age. Disability rates are highest among older seniors (75 and over), with fully 53.3% in this age group reporting a disability.

As a result, the Accessibility for Ontarians with Disabilities Act (AODA), 2005 was developed which states that "the people of Ontario support the right of persons of all ages with disabilities to enjoy equal opportunity and to participate fully in the life of the province." In October of 2012, it was proposed that The Regulation be amended by adding Part IV.1 Design of Public Spaces Standards (Accessibility Standards for the Built Environment).

## "The goal of the Accessibility Standards for the Built Environment is to remove barriers in public spaces and buildings. This will make it easier for all Ontarians — including people with disabilities, seniors and families — to access the places where they work, travel, shop and play."

The standard for public spaces currently only applies to new construction and planned redevelopment and enhancements to accessibility in buildings will happen at a later date through Ontario's Building Code, which governs new construction and renovations in buildings. The standards for public spaces cover: Recreational Trails and Beach Access Routes, Outdoor Public Use Eating Areas, Outdoor Play Spaces, Exterior Paths of Travel, Accessible Parking and Obtaining Services. Some highlights of the proposed technical requirements for recreational trails under the new regulation 80.8(1) include:

- A recreational trail must have a minimum clear width of 1,000 mm;
- A recreational trail must have a clear height that provides a minimum head room clearance of 2,100 mm above the trail.
- The surface of the recreational trail must be firm and stable.
- The entrance to the recreational trail must provide a clear opening of between 850 mm and 1,000 mm, whether the entrance is a gate, bollard or other entrance design.
- A recreational trail must have at its start signage that provides the following information: the length of trail; the type of surface of which the trail is constructed; the average and the minimum trail width; the average running slope and maximum cross slope and the location of amenities, where provided.

The development of trails and active transportation facilities is not a one size fits all approach. Trails facilities are to be developed to accommodate all users including those with a variety of needs and levels of ability. The Technical Requirements for Recreational Trails in the AODA outlines necessary criteria for the development and design of trails to accommodate such user groups. When designing and implementing active transportation facilities for the Lake to Lake Cycling Route and Walking Trails, the technical requirements should be utilized to ensure that the needs of all user groups are accommodated and satisfying the requirements of the AODA to the greatest extent possible, given the context of each trail's location, the surrounding environment and type of trail experience that is desired.

For more information on the Design of Public Spaces in the Built Environment visit: http://www.mcss.gov.on.ca/en/mcss/programs/accessibility/built\_environment/index.aspx

Or to access the current Accessibility for Ontarians with Disabilities Act (AODA), 2005 visit: http://www.e-laws.gov.on.ca/html/statutes/english/elaws\_statutes\_05a11\_e.htm





Figure 4.18 – Accessibility is mandated under the Accessibility for Ontarians with Disabilities Act, 2005 Credit: MyNewWaterfrontHome.com — May 2012

### **Other Design Considerations - Crossings**

### Potential Conflicts with Side-roads and Driveways

Conflict points exist at roadway and driveway crossings creating operational and safety problems for both cyclists and motorists using off-road bicycle facilities.



Motorists entering or crossing the roadway (e.g. Driver A) from a crossstreet or driveway are looking for traffic coming from the left and may not notice cyclists approaching from the right.



Motorists turning left from the main roadway onto the cross-street or driveway (e.g. Driver B) are looking for traffic ahead and may also fail to notice cyclists travelling in the opposite direction.



Motorists turning right from the main roadway onto the cross-street or driveway (e.g. Driver C) may not expect a cyclist to be crossing since the bicycle facility is removed from the travelled portion of the roadway and often not visible to the driver.



Motorists stopped on as cross-street or driveway may block cyclists travelling along the AT path or multiuse trail. Therefore these facilities should not be implemented along routes where there are a large number of crossings and/or driveway entrance and exit points.

At the end of a multi-use trail, cyclists travelling in the opposite direction of adjacent motor vehicle traffic may continue travelling on the wrong side of the roadway or cyclists may travel on the wrong side of the roadway to access a multi-use trail entrance point.

Credit: AASHTO Guide for the Development of Bicycle Facilities, 2012

# **Cross-Walks and Cross-Rides**



Figure 4.19 – Separate Cross-Walk/Cross-Ride Crossing Credit: TAC Bikeway Traffic Control Guidelines, 2012



Figure 4.20 – Separate Cross-Walk/Cross-Ride Crossing Credit: TAC Bikeway Traffic Control Guidelines, 2012



Figure 4.21 – Mixed Pedestrian and Cyclist Crossride (Unsignalized Example) Credit: TAC Bikeway Traffic Control Guidelines, 2012

### **Mid-Block Crossings**

An off-road multi-use trail may sometimes cross a roadway mid-block. A mid-block pedestrian signal allows dismounted cyclists and pedestrians to cross the roadway while motor vehicles are stopped. However, a mid-block trail crossing of a multi-lane roadway should only be implemented at locations with adequate sight lines and only if the nearest controlled intersection is too far to expect users to travel to it. Note: Crossing pavement markings apply to signalized mid-block crossings only (as per OTM Book 18).



### Figure 4.22 – Separate Pedestrian/Cyclist Mid-Block Trail Crossing

Credit: TAC Bikeway Traffic Control Guidelines, 2012



Figure 4.23 – Combined Pedestrian/Cyclist Mid-Block Trail Crossing Credit: TAC Bikeway Traffic Control Guidelines, 2012

### Examples



Figure 4.24 - CrossRide Pilot Program, City of Mississauga Credit: City of Mississauga, 2011



Figure 4.25 – Mid-Block Pedestrian Signal in Guelph Credit: MMM Group, 2012



Figure 4.26 – Mid-Block Trail Crossing with Refuge Island in Guelph Credit: MMM Group, 2012

### 4.1.2 **On-Road Bicycle Facilities with an Adjacent Sidewalk**

### Signed Bike Route with an Adjacent Sidewalk

A Signed Bike Route / Shared Roadway with an Adjacent Sidewalk is a roadway cross-section where both motorists and cyclists share the same vehicular travel lane and pedestrians use an adjacent sidewalk.







Figure 4.27 – Signed Bike Figure 4.28 – Signed Bike Route with an Adjacent **Route with Optional Sharrow** Adjacent to Sidewalk Sidewalk

Blvd

**Key Considerations:** 

Travel Lane

Varies

- Bicycles and motor vehicles share the right-most travel lane, no physical space is dedicated for bicycle use only.
- Design does not include pavement markings for bicycles; however designers may consider applying sharrows along these routes particularly across intersections, driveway and other conflict points. Sharrows are intended to guide cyclists where they should ride within a travel lane shared by both motorists and cyclists and are an optional treatment and context specific.

Travel Lane

Varies

Figure 4.29 – Narrow

**Optional Sharrow** 

Signed Bike Route with

- Signed with the green "Bicycle Route" marker which may be supplemented by optional "Share the Road" signs. •
- "Share the Road" signs and sharrows should be considered at pinch points. •
- Roadways should typically only be signed as a bike route where lower motor vehicle operation speeds and traffic volumes exist.
- A signed bike route may be an appropriate solution for urban downtown / main street areas where on-street parking cannot be removed to implement dedicated bike lanes.

Pedestrian Considerations: Pedestrians use the sidewalk in residential areas and may use the road shoulder facing oncoming traffic in rural areas in accordance with the Highway Traffic Act.



Figure 4.30 – Signed-Only Bike Route with an Adjacent Sidewalk Credit: City of Vaughan, 2012

The sharrow symbol should be placed approximately 1.0 metres from the curb where there is no on-street parking and 3.4 metres from the curb where there is on-street parking.



Figure 4.31 - Shared Roadway / Signed Bike Route with an Adjacent Sidewalk Credit: Town of Richmond Hill, 2011



Figure 4.32 – Cyclists sharing Road with Adjacent Sidewalk Credit: MMM Group, 2012

Shared roadways designated as signed bike routes typically have travel lanes between 3.0 and 4.0 metres wide. When side-by-side travel is to be provided for motorists and cyclists a wide shared travel lane of a width of at least 4.0 metres should be considered to a maximum of 5.0 metres. Travel lanes that exceed 5.0 metres may encourage sideby-side travel between motorists.

## Table 4-5: Signage for Signed Bike Routes **Optional Share Bike Route** Marker the Road Sign Sign / Code ROUTE SHARE THE ROAD IB-23 WC-20 / 20S Size 600 mm x 600 mm 450 mm x 450 mm 600 mm x 300 mm

Source: TAC Bikeway Traffic Control Guidelines, 2012

### Table 4-6: Optional Pavement Markings for Signed Bike Route



Source: Based on information from TAC Bikeway Traffic Control Guidelines, 2012

Lake to Lake Cycling Route and Walking Trail Feasibility and Design Study | MASTER Volume 2 Design Feasibility Report | June 2013

### Signed Bike Route with a Paved Shoulder

A Signed Bike Route with a Paved Shoulder is a road with a rural road cross section signed as a bike route that also includes a paved shoulder. A Paved Shoulder is a portion of a roadway which provides accommodation of stopped vehicles, emergency use, as well as for lateral support of the pavement structure. In rural areas, paved shoulders are sometimes used by pedestrians and cyclists for travel. They provide cyclists with an area for riding that is adjacent to vehicular travel lanes offering separation between bicycle traffic and vehicular traffic.







Figure 4.35 – Typical Signed Bike Route with a Paved Shoulder Schematic

Figure 4.37 – Signed Bike Route with a Paved Figure 4.39 – Pedestrian using Shoulder Credit: John Luton, 2010

way

### Figure 4.33 – Signed Bike Route with a Paved Shoulder

### Figure 4.34 – Signed Bike Route with a Buffered Paved Shoulder

### Key Considerations:

- Typical on a rural cross-section road (no curbs) where motor vehicle traffic volume and speeds are higher.
- Although not a designated space the paved shoulder provides a convenient location for pedestrians and cyclists to travel in rural areas.
- A wider shoulder and / or painted buffer provides more separation between the pedestrians/cyclists and motor vehicles.
- Other benefits include: reduction in the amount of maintenance required; extension of the service life of the road as heavy • vehicles are travelling further away from road edge and reduction of run-off-the -road motor vehicle accidents.
- May be supplement with Bike Route Signs and/or Share the Road Signs.
- Rumble strips can be considered as an additional cue provided that there are clearly marked breaks at regular intervals. • allowing cyclists to move in or out of the paved shoulder area to overtake pedestrians, slower moving cyclists or avoid stalled vehicles.

Pedestrian Considerations: Pedestrians may use the paved shoulder or remaining gravel shoulder. Pedestrians must walk facing oncoming traffic in accordance with the Highway Traffic Act.

Rural roadways identified as a potential cycling route should have a paved shoulder width of 1.5 to 2.0 metres depending on the volume, speed and mix of vehicular traffic. In constrained sections practitioners may consider providing a minimum paved shoulder width of 1.2 metres. In situations where the facility type selection process has identified that the facility should contain a paved shoulder but due to roadway constraints the corridor is unable to accommodate the suggested minimum paved shoulder width, the road should not be designated as a cycling route.



Figure 4.36 – Typical Roadway Shoulder





Figure 4.38 – Signed Bike Route with a Paved Shoulder Credit: MMM Group, 2009



Paved Shoulder Credit: MMM Group, 2012

Table 4-7: Signage for Signed Bike Routes with a **Paved Shoulder** 



Source: TAC Bikeway Traffic Control Guidelines, 2012

### **Bicycle (Bike) Lane with an Adjacent Sidewalk**

A Bicycle Lane is a portion of a roadway which has been designated by pavement markings and signage for preferential or exclusive use by cyclists. A Separated Bicycle Lane provides additional spatial or physical separation between motorists and cyclists through the use of a painted buffer and/or physical barrier. Pedestrians use an adjacent sidewalk



**Bicycle Lane** 

Lane

Bicycle Lane

## Credit: City of Toronto, 2012

## Reserved Bicycle **Reserved Bicycle** Lane Ends Sign Lane Sign Code Sign / **ENDS RB-92** RB-91 Size 600 mm x 750 mm 600 mm x 750 mm

Table 4-9: Signage for Bicycle Lanes

Source: TAC Bikeway Traffic Control Guidelines, 2012

### **Key Considerations:**

- The designated space offered by Bicycle Lanes is perceived to provide a more comfortable riding environment for cyclists and better organize traffic flow for motorists, pedestrians and other non-motorized vehicle users.
- Bicycle lanes should typically be provided on both sides of two-way streets and in the direction of travel on one-way streets. Sidewalks are generally provided on both sides of the street.
- Conventional bicycle lanes are defined by delineating lines and diamond symbol followed by a bicycle symbol indicating that the lane is reserved and signed using the "Reserved Bicycle Lane" sign.
- Bicycle lanes are sometimes implemented adjacent to on-street parking – sufficient space should be provided to mitigate conflict between cyclists and open car doors on streets where on-street parking is permitted.
- Separated bicycle lanes should be considered for implementation on high volume, higher speed roads.
- Guidelines for the preferred buffer width vary and can be adjusted based on context and barrier type.

Pedestrian Considerations: Pedestrians use the sidewalk in urban areas. Sidewalks should at a minimum be installed on one side of the road along designated AT routes where none currently exist.



Figure 4.45 – Conventional Bicycle Lane



Figure 4.46 – Separated Bicycle Lane





Source: Based on information from TAC Bikeway Traffic Control Guidelines, 2012

Table 4-8: Pavement Markings

Lake to Lake Cycling Route and Walking Trail Feasibility and Design Study | MASTER Volume 2 Design Feasibility Report | June 2013

### **Cycle Track with an Adjacent Sidewalk**

A Cycle Track is a bicycle facility adjacent to but vertically separated from motor vehicular travel lanes designated for exclusive use by cyclists and is distinct from the sidewalk. Cycle tracks are typically raised and curb separated either to the level of the adjacent sidewalk, or to an intermediate level between the roadway and sidewalk.



- Cycle tracks are similar to bicycle lanes but are vertically separated (typically raised and curb separated) from motor vehicular travel lanes. Cycle tracks are designated for exclusive use by cyclists.
- An adjacent sidewalk is typically provided for pedestrians. •
- Cycle tracks may be designed for one-way or two-way travel and are distinct from the sidewalk. •
- If designed for two-way travel then a boulevard of at least 0.5 metre width is required to separate the cycle track from the roadway since cyclists adjacent to motorized traffic are travelling in the opposite direction.
- Cycle tracks are typically raised and curb separated either to the level of the adjacent sidewalk, or to an intermediate level between the roadway and sidewalk and are signed using the "Reserved Bicycle Lane" sign.
- At intersections the "Turning Vehicles Yield to Bicycles" sign should be used.
- A yellow centre line should be used on two-way cycle tracks to help delineate travel lanes.

Pedestrian Consideration: Pedestrians use the sidewalk in urban areas. Sidewalks should at a minimum be installed on one side of the road along designated AT routes where none currently exist.

Source: Based on information from TAC Bikeway Traffic Control Guidelines, 2012

2.0 m



Credit: John Luton, 2009



Source: TAC Bikeway Traffic Control Guidelines, 2012

## ← Figure 4.51 – Concrete Cycle Track with adjacent Sidewalk

### **Other Design Considerations – Grade Separations and Retrofitting**

### **Grade Separations**

Occasionally a walking and cycling route must continue over a bridge to overcome a major barrier or obstacle. The simplest modification that can be made to a bridge structure for the integration of cyclists is the reallocation of space. Vehicular travel lanes may be narrowed where practical and safe to allow for the implementation of a bicycle lane or signed bike route/shared roadway. Another approach may be to widen the sidewalk to allow for shared use between cyclists and pedestrians. The final option may be to build a separate pedestrian/cyclist crossing adjacent to the bridge structure. The design of new structures or the modification of existing bridges must comply with the standards of the Canadian Highway Bridge Design Code (2002) and accompanying MTO Revision Information Sheet for Geometric Standards of Ontario Highways (2002). The following table provides minimum side clearance requirements at bridges.

	1.0		- 1	Urban Ro	ads		Rural Roa	ads																
		Design Speed (km/h) 100 to 120	Left	Ri	ght	Left	R	ight																
				No Sidewalk	Sidewalk		No Sidewalk	Sidewalk																
F 4-LA	REEWAY NE DIVIDED		100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	100 to 120	2.5a	3.0 a		2.5a	3.0 a
F MULTI	REEWAY	100 to 120	2.5 a	3.0 a	1	2.5 a	3.0 a																	
A	RTERIAL	90 to 110	2.0 a	2.5 a	1.5	2.0	3.0 a																	
	DIVIDED	80	2.0 a	2.5 a	1.5	1.5	2.5 a																	
P	RTERIAL	90 to 110	-	2.0	1.5		3.0 a	2.5 a																
U	NDIVIDED	80		2.0	1.5	1.001	2.5 a	2.0 b																
CC	DLLECTOR	90 to 100	-	1.25 c	1.0	-	2.5 a	1.5 c																
U	NDIVIDED	70 to 80		1.25 c	1.0		1.5 d	1.25																
		60	-	1.0	1.0		1.5 d	1.25																
U	LOCAL NDIVIDED	60 to 80	•	1.0	0.5	•	1.25	0.5 d																
Notes:	1. If a barrier i same as wh	s to be place nen there are	d betwe no side	en the sidewa walks.	alk and roadw	ay, then c	learance sho	uld be the																
	2. All clearance	should mee	t require	ments for sig	ht distance.																			
	3. The width of	a median on	a bridge	e should mate	ch that of the	approach	roadway.	1																
	4. L = Length o	f bridge betw	een cen	treline of abu	itment bearing	gs,																		
	a - For bridges	with L>50 m,	conside	ration can be	given to deci	reasing th	e clearances	to 1.5 m.																
	b - For bridges	with L>50 m,	conside	ration can be	given to deci	reasing th	e clearance b	y up to 0.5 n																
	c - For bridges	with L>50 m,	conside	ration can be	given to decr	easing the	e clearance b	y 0.25 m.																
	d - For bridges m.	with L>50 m,	conside	ration can be	given to incre	easing the	clearance by	up to 0.75																
	e – The values to providing r	of the clearar more than the	nces giv e minimu	en above are im if justificat	the minimum ion is provide	values. C d.	onsideration	may be give																

### Figure 4.52 – Minimum Side Clearances at Bridges

Source: MTO Geometric Design Standards for Ontario Highways - Revision Information Sheet, February 2002, Table D7-1

### Retrofitting

It is recommended that bicycle lanes have a preferred design width of 1.5 metres to edge of pavement (design minimum of 1.5 metres to face of curb) and 1.8 - 2.0 metres wide if adjacent to a parking lane. Additional width can be obtained from the adjacent travel lanes and/or parking lanes. Research shows, that "there is no indication that the use of 3.0- or 3.3-m (10- or 11-ft lanes), rather than 3.6-m (12-ft) lanes, for arterial midblock segments leads to increases in accident frequency". The following figures illustrate examples of road retrofitting where vehicular lanes are narrowed to accommodate bicycle lanes.



Figure 4.53 – Narrowing Vehicular Lane Widths for Implementation of Bicycle Lanes Source: "Complete the Streets – Laying the Foundation" Presentation by John LaPlante, P.E., PTOE, Toronto, April 2012



**Retrofitting Example: Georgetown, ON** 



Figure 4.56 – Original Road Configuration



Figure 4.57 – Option 1: Bicycle Lanes with On-Street Parking on One Side, Sidewalks on Both Sides



Figure 4.58 – Option 2: Bicycle Lanes with On-Street Parking and Sidewalks on Both Sides

### **Signage Guidelines** 4.1.3

As previously noted in Section 2.3.2, signing standards for each local municipality / agency should comply with Regulation 80.9 (1) Technical Requirement for Trails, General in Part IV.1 Design of Public Spaces Standards (Accessibility Standards for the Built Environment) of the Integrated Accessibility Standards, AODA 2005. This legislation as of January 2013 applies to projects being tendered in 2013 or currently in the detailed design phase. As identified in Regulation 80.5 Schedule in Part IV.1 Design of Public Spaces Standards (Accessibility Standards for the Built Environment) of the Integrated Accessibility Standards, AODA 2005, public organizations are obligated to comply with the legalisation as of January 1, 2016. The following are the proposed technical requirements for recreational trailhead signage identified in Regulation 80.9 (1):

"8. A recreational trail must have at each trail head signage that provides the following information:

- The length of the trail. i.
- The type of surface of which the trail is constructed. ii.
- The average and the minimum trail width. iii.
- The average and maximum running slope and cross slope. iv.
- The location of amenities, where provided. O. Reg. 413/12, s. 6." V.

Where a multi-use pathway crosses the roadway, a cross-ride is recommended. A separate cyclist cross-ride may be used where the path crosses the roadway adjacent to a parallel sidewalk and pedestrian crosswalk. A combined pedestrian / cyclist cross-ride may be used where a shared pathway crosses the roadway and there is no sidewalk. Cross-rides are marked with 'elephant feet' pavement markings.



Figure 4.59 - Mid-Block Signalized Cross-Ride of Bathurst Street North of Finch Avenue, City of Toronto Credit: MMM Group, 2012



Figure 4.60- Mid-Block Signalized Cross-Ride of Flint Road North of Finch Avenue, City of Toronto Credit: MMM Group, 2012

Figure 4.62 highlights the typical pavement markings applied for active transportation facilities. The proposed pavement markings will be consistent with the applications outlined in OTM Book 18 - Bicycle Facilities and the TAC Bikeway Traffic Control Guidelines for Canada.



Figure 4.62 Typical Pavement Markings Credit: TAC Bikeway Traffic Control Guidelines for Canada

## Figure 4.61 – Bikeway Path Crossing Road at Signalized Intersection

Credit: OTM Book 18 Bicycle Facilities

### Lake to Lake Route Maintenance Strategies 4.2

Maintenance of facilities once they are constructed is a critical aspect of any plan to move forward with implementation of the Lake to Lake Route. The general objectives of a route maintenance program are to:

- Provide safe, dependable and affordable levels of service:
- Preserve infrastructure assets:
- Protect the natural environment; and
- Enhance the appearance and health of the community.

Maintenance costs for the Lake to Lake Route are calculated for each route segment by facility type. It is recognized that the maintenance program and level of service standard is specific to each local municipality. It is recommended that the local municipality or conservation authority budget for maintenance increase in an incremental fashion along with the incremental growth of the network of facilities within their jurisdiction. Maintenance costs for route facilities within the first five years of implementation may consist of sweeping and winter maintenance. Beyond the first five years of implementation, the local municipality or conservation authority should also incorporate the anticipated cost of minor repairs to the trail surface and fixtures for Lake to Lake Route segments as part of its annual maintenance budget request.

Annual maintenance of multi-use paths (within the road right-of-way and within parks) can range between \$4,000 and \$6,000 per linear kilometre of path (3.0 to 4.0 m wide), depending on the level of service standard. Maintenance typically includes drainage and storm channel maintenance, sweeping, clearing of debris, trash removal, vegetation management, mowing of grass along shoulders, minor surface repairs, repairs to trail fixtures (benches, signs) and other general repairs. Costs for the replacement or repair of major items such as bridges are usually allocated through capital budgets.

Annual maintenance costs for on-road facilities are estimated to range from \$500 to \$8,000 per kilometre depending on the facility type (paved shoulder with edge / signs, bike lane in urban area, painted lines vs. thermo plastic etc.) and economies of scale gained from incorporating cycling facility maintenance in the local municipality's current road maintenance program.

It is proposed that York Region will manufacture or purchase the signs and provide them at no cost to each local municipality, conservation authority and agency to ensure consistency across the region. Each respective jurisdiction in turn will be responsible for installing and maintaining the signs along the Lake to Lake Route.

Facilities typically have a lower maintenance cost in the first five years. Therefore, the Lake to Lake Route has assumed a unit price of 50% of the typical annual maintenance cost for the first 5 years. A detailed outline of maintenance cost by Local Municipality can be found in Appendix A – Unit Cost Schedule and Detailed Cost Tables. It is recommended that the Region and Local Municipalities review their annual maintenance budgets to accommodate the maintenance of active transportation infrastructure. These budgets should be increased over time to correspond with the increase in the number of kilometres of active transportation facilities.

### 5.0 **CONCLUSION**

The proposed Lake to Lake Cycling Route and Walking Trail, originally conceived in the Region's Pedestrian and Cycling Master Plan, is intended to provide active transportation (pedestrian and cycling) opportunities and alternatives for both residents and visitors of the Regional Municipality of York. Once developed, this high-profile regional route will support regional and local strategic policies and plans by promoting alternative modes of transportation to help develop a more healthy, liveable, walkable and bikeable region and improve connections to and from the City of Toronto.

In 2012, a study was initiated to review and confirm the proposed Lake to Lake Route concept. The preferred route confirmed through this design feasibility study provides a continuous, cycling and walking connection between Lake Simcoe in the north boundary of York Region and Lake Ontario to the south in the City of Toronto. Most of the route in the City of Toronto is already in place. In York Region the route is proposed to follow existing sections of the Nokiidaa Trail and Tom Taylor Trail systems as well as new on and off-road sections. Once completed, the Lake to Lake Route will serve as a major recreational, utilitarian and tourism amenity for both residents and visitors whether it be for day trips or multi-day cycling tourism travel.

The design feasibility assessment outlines strategic priorities with regard to route implementation (phasing and costing), maintenance, promotion and marketing. Priorities have been identified for the short to long term to ensure that the route's implementation, over the next 5+ years is successfully completed by the Region, local municipalities, conservation authorities and Ontario Parks. The implementation of the Lake to Lake Route as well as the economic gains which are anticipated to be realized directly and indirectly from it are not only beneficial to the Region but will also benefit all local municipalities in York Region and the City of Toronto. The route has been developed to strategically connect and attract users to key tourist destinations and natural and cultural features.

York Region and its partners, who will ultimately be responsible for the implementation of the route (e.g. local municipalities, Ontario Parks, Toronto Region Conservation Authority, Lake Simcoe Region Conservation Authority with support from local stakeholders and interest groups), are encouraged to use this document as a guide for route development and implementation in the short and long term. The recommendations in this report have been designed to provide direction on how to commence the implementation process and identify marketing and promotion techniques that are realistic and achievable. The Lake to Lake Design Feasibility Study provides York Region and its partners with the tools, information and design guidelines necessary to advance the Lake to Lake Cycling Route and Walking Trail from the concept envisioned in York Region's Pedestrian and Cycling Master Plan to a project that can now be implemented.







# **APPENDIX A** UNIT COST SCHEDULE & DETAILED COST TABLES
### **Appendix A - Unit Price Schedule**

ITEM	DESCRIPTION	UNIT	VALUE	COMMENTS/ASSU		
		1.0 GE	ENERAL ACTIVE TRANS	PORTATION FACILITIES		
	Shared Lanes / Paved Shoulders					
1.1	Signed Bike Route in Urban Area	linear KM	\$1,500.00	Price for both sides of the road, assumes one sign a minimum o km).		
1.2	Signed Bike Route in Rural Area	linear KM	\$1,000.00	Price for both sides of the road, assumes one sign a minimum of km)		
1.3	Signed Bike Route with Sharrow Lane Markings	linear KM	\$3,500.00	Price for both sides of the road, includes route signs every 330n every 75m as per Ministry Guidelines (Painted \$75 each x 26/kr used assume \$250 / each x 26 = \$6,500 source Flint Trading In		
1.4	Signed Bike Route with Wide Curb Lane with Construction of a New Road	linear KM	\$60,000.00	Price for both sides of the road, assumes 0.5m to 1.0m widenin		
1.5	Signed Bike Route with Wide Curb Lane with Road Reconstruction Project	linear KM	\$240,000.00	Price for both sides of the road, includes curb replacement, cate driveway ramps		
1.6	Signed Bike Route with Paved Shoulder in conjunction with existing road reconstruction / resurfacing	linear KM	\$55,000.00	Price for both sides of the road, 1.5m paved shoulder, assumes asphalt and edge line (assume \$110,000 per kilometre if addition		
1.7	Signed Bike Route with Buffered Paved Shoulder in conjunction with existing road reconstruction / resurfacing project	linear KM	\$150,000.00	Price for both sides of the road, 1.5m paved shoulder + 0.5 to 1 additional granular base, asphalt, edge lines and signs (buffer z		
1.8	Addition of Rumble Strip to Existing Buffered Paved Shoulder (rural)	linear KM	\$3,000.00	Price for both sides		
1.9	Granular Shoulder Sealing	linear KM	\$3,000.00	Both sides spray emulsion applied to harden the granular should the shoulder and significantly reduce shoulder maintenance.		
	Conventional and Separated Bike Lanes					
1.10	Conventional 1.5m-1.8m Bicycle Lanes by Adding Bike Lane Markings and Signs	linear KM	\$7,500.00	Price for both sides of the road, includes signs, stencils and edg painted lane line at \$1 / m + \$75 / symbol x 26 + \$2000 for signs Thermoplastic) e.g. lane line in thermo is \$5.50/m compared to		
1.11	Conventional 1.5m-1.8m Bicycle Lanes through Lane Conversion from 4 lanes to 3 lanes	linear KM	\$35,000.00	Price for both sides. Includes grinding of existing pavement, ma		
1.12	Conventional 1.5m-1.8m Bicycle Lanes in Conjunction with a New Road or Road Reconstruction Project	linear KM	\$300,000.00	Price for both sides of the road, assumes 1.5m bike lanes on bound includes catch basin leads, asphalt, signs, pavement markings improvements		
1.13	Conventional 1.5m-1.8m Bicycle Lanes by Retrofitting / Widening Existing Road	linear KM	\$700,000.00	Price for both sides of the road, includes the cost for excavation curbs/driveway ramps, asphalt and sub-base, pavement markin		
1.14	Wide Bicycle Lane (2.0m - 2.5m BL) in Conjunction with New Road or Road Widening Project	linear KM	\$250,000.00	Price for both sides of the road, assumes 2.0m to 2.5m bike lan basin leads, asphalt, signs, pavement markings sub-base only		
1.15	Buffered Bicycle Lane with Hatched Pavement Markings - Assumes New Road or Road Reconstruction/Widening already Planned	linear KM	\$350,000.00	Price for both sides of the road, assumes 1.5m bike lanes + 0.5 markings on both sides of the roadway. Includes catch basin lea only. Road project funds all other components		
1.16	Buffered Bicycle Lane with Flex Bollards - Assumes New Road or Road Reconstruction/Widening Already Planned	linear KM	\$365,000.00	Price for both sides of the road, assumes 1.5m bike lanes + flex intervals. Includes catch basin leads, asphalt, signs, edge line p base only		
1.17	Buffered Bicycle Lane with Pre-Cast Barrier - Assumes New road or Road Reconstruction/Widening Already Planned	linear KM	\$400,000.00	Price for both sides of the road, assumes 1.5m bike lanes + pre catch basin leads, asphalt, signs, edge line pavement markings		

# JMPTIONS

of every 330m / direction of travel (e.g. 6 signs /

of every 600m / direction of travel (e.g. 4 signs /

n (\$1,500/km both sides), and sharrow stencil m = \$1,950 in table) If thermoplastic type product is ic.

g on both sides of the road (3.5m to 4.0m)

ch basin adjustments, lead extensions and

cycling project pays for additional granular base, onal widening of granular base required)

.0m paved buffer, assumes cycling project pays for cone framed by white edge lines)

der. This will reduce gravel on the paved portion of

ge line. Price is for conventional paint, (assumes s)increase budget to \$20,000 /km for \$1.00/m for paint

arkings, signs, line painting and symbols

oth sides of the roadway (1.5m x 2 sides = 3.0m). sub-base only. Road project funds all other

n, adjust catch basins, lead extensions, new ngs and signs.

nes on both sides of the roadway . Includes catch

im - 1.0m buffer zone with hatched pavement ads, asphalt, signs, pavement markings sub-base

x bollards centred in hatched buffer zone at 10m pavement markings (both sides of buffer zone) sub-

e-cast and anchored curb delineators . Includes (both sides of buffer zone) sub-base only

	Cycle Tracks			
1.18	Uni-directional Cycle Tracks: Raised and Curb Separated - Retrofit Existing Roadway	linear KM	\$1,200,000.00	Price varies from \$500,000 - \$ 1,200,000. Both sides. Includes modifications. Form of cycle track and materials as well as rela upgrade/modification of signal controllers, utility/lighting pole relevant will impact unit price
1.19	Two Way Cycle Track - Retrofit Existing Roadway	linear KM	\$800,000.00	Price varies from \$500,000 - \$800,000. One side. Includes cons modifications. Form of cycle track and materials as well as rela upgrade/modification of signal controllers, utility/lighting pole rel- will impact unit price
Α	ctive Transportation Paths and Multi-Use Trails			
1.20	Two Way Active Transportation Multi-use path within road right-of- way	linear KM	\$275,000.00	3.0m wide hard surface pathway (asphalt) within road right of wallighting.
1.21	Two Way Active Transportation Multi-use path within road right-of- way on one side with removal of existing sidewalk	linear KM	\$320,000.00	3.0m wide hard surface pathway (asphalt) within road right of was sidewalk (includes crushing of existing sidewalk and compacting
1.22	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	m²	\$150.00	Colour Stamped Concrete
1.23	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of- Way in an Urban Setting (New)	linear KM	\$250,000.00	3.0m wide hard surface pathway (asphalt) within park setting (n
1.24	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of- Way in an Urban Setting (Upgrade existing granular surface)	linear KM	\$100,000.00	Includes some new base work (25% approx.), half of the materi signs
1.25	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right- of-Way in an Urban Setting	linear KM	\$140,000.00	3.0m wide, compacted stone dust surface normal site condition
1.26	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right- of-Way in an Rural Setting (New)	linear KM	\$200,000.00	3.0m wide, compacted stone dust surface in complex site condi
1.27	Upgrade existing granular surface trail to meet 3.0m wide compacted granular trail standard	linear KM	\$50,000.00	Includes some new base work (25% approx.) and an average o
1.28	Off-Road Multi-Use Trail Outside of Road Right-of-Way on Abandoned Rail Bed in a Rural Setting	linear KM	\$130,000.00	3.0m wide, compacted stone dust surface, includes signage alo
1.29	Granular Surfaced Multi-use Trail in a Woodland Setting	linear KM	\$120,000.00	2.4m wide, compacted stone dust surface
			2.0 STRUCTURES AND	D CROSSINGS
2.1	Pedestrian Boardwalk (Light-Duty)	linear KM	\$1,500,000.00	Structure on footings, 3.0m wide with railings
2.2	Self weathering steel truss bridge	m²	\$2,500.00	Price varies from \$2,000 - \$2,500. Footings/ abutments addition \$50,000 - \$90,000 per side for piles
2.3	Retrofit / Widen Existing Pedestrian / Trail Bridge (29m long, 3m clear width)	m²	\$2,500.00	Price assumes modifications to existing abutments
2.4	Grade separated cycling/overpass of major arterial/highway	each	\$500,000.00	Price varies from \$1,000,000 - \$8,000,000. Requirements and conly
2.5	Metal stairs with hand railing and gutter to roll bicycle	vertical M	\$3,000.00	1.8m wide, galvanized steel
2.6	Pathway Crossing of Private Entrance	each	\$2,000.00	Price varies from \$1,500 - \$2,000. Adjustment of existing curb of
2.7	Pathway / Road transition at unsignalized intersection(crossride)	each	\$5,000.00	Typically includes warning signs, curb cuts and minimal restorat
2.8	Pathway / Road transition at existing signalized intersection (crossride)	each	\$25,000.00	Typically includes installation of 4 signal heads, 2 poles, 2 found
2.9	At grade mid-block crossing	each	\$5,000.00	Typically includes pavement markings on pathway, warning sigr include median refuge island.
2.1	Median Refuge	each	\$20,000.00	Average price for basic refuge with curbs, no pedestrian signals
2.11	Mid-block Pedestrian Signal	each	\$100,000.00	Prices varies from \$75,000 - \$100,000. Varies depending on nu
2.12	At grade railway crossing	each	\$120,000.00	Flashing lights, motion sensing switch (C.N. estimate)
2.13	At grade railway crossing with gate	eacn	\$300,000.00	Price varies from \$500,000 to \$750,000, 2 0m wide, uplit automatic
2.14	Below grade railway crossing	each	\$750,000.00	track
2.15	Multi use subway under 4 lane road	each	\$1,200,000.00	Price varies from \$1,000,0000 - \$3,000,000. Guideline price onl
2.16		[] <u></u>	\$000.00	race metre squared

construction but excludes design and signal ated components such as bike signals, ocations, bike boxes etc. are project specific and

struction but excludes design and signal ated components such as bike signals, ocations, bike boxes etc. are project specific and

ay (no utility relocations). Does not include trail

ay on one side of road in place of 1.5m concrete g for trail base). Does not include trail lighting.

ormal conditions) 90mm asphalt depth

al excavated is removed from site. Add trail marker

5

itions (includes cost of clearing and grubbing)

f 20 regulatory signs per kilometre

ong trail and gates at road crossings

nal, assume \$30,000 per side for spread footings;

design vary widely, use price as general guideline

cuts to accommodate 3.0m multi-use pathway

tion (3.0m pathway)

dations, 2 controller connector and 2 arms.

ns, curb cuts and minimal restoration. Does not

Imber of signal heads required

estimate)

t style approx. 10 m long for single elevated railway

ly for basic 3.3 m wide, lit.

	3.0 BARRIERS AND	ACCESS CO	NTROL FOR MULTI-USE	TRAILS OUTSIDE OF THE ROAD RIGHT-OF-WAY
3.1	Lockable gate (2 per road crossing)	each	\$5,000.00	Heavy duty gates, price for one side of road (2 required per road or city boundary areas
3.2	Metal offset gates	each	\$1,200.00	"P"-style park gate
3.3	Removable Bollard	each	\$500-\$750	Price varies from \$500 - \$700. Basic style (e.g. 75mm diameter decorative style bollards
3.4	Berming/boulders at road crossing	each	\$600.00	Price for one side of road (2 required per road crossing)
3.5	Granular parking lot at staging area (15 car capacity-gravel)	each	\$35,000.00	Basic granular surfaced parking area (i.e. 300mm granular B su precast bumper curbs. Includes minor landscaping and site furn racks.
3.6	Page wire fencing	linear M	\$20.00	1.5m height with peeled wood posts
3.7	Chain link fencing	linear M	\$100.00	Galvanized, 1.5m height
			4.0 SIGNAG	E
4.1	Regulatory and caution Signage (off-road pathway) on new metal post	each	\$250.00	Price varies from \$150 - \$250. 300mm x 300mm metal signboa
4.2	Signboards for interpretive sign	each	\$800.00	Price varies from \$500 - \$800. Does not include graphic design. embedded polymer material, up to 40% less for aluminum or alu
4.3	Staging area kiosk	each	\$5,000.00	Price varies from \$2,000 - \$10,000. Price depends on design ar supply of signboards
4.4	Signboards for staging area kiosk sign	each	\$2,000.00	Price varies from \$1,500 - \$2,000. Typical production cost, does 1500mm typical size and embedded polymer material). Up to 40 panel
4.5	Pathway directional sign	each	\$750.00	Price varies from \$500 - \$750. Bollard / post (100mm x100mm )
4.6	Pathway marker sign	each	\$250.00	Bollard / post (100mm x100mm marker), graphics on one side
4.7	Pathway marker sign	linear KM	\$1,500.00	Price for both sides of the path, assumes one sign on average,
4.8	Pathway marker sign (Double sided sign on existing post or previously proposed post)	each	\$200.00	Double sided sign on existing post (includes installation of signs
4.9	Pathway marker sign (Single sign on existing post or previously proposed post)	each	\$125.00	Single sign on existing post (includes installation of sign)
4.10	Pathway marker sign (Double sided sign on new post)	each	\$300.00	Double sided sign on new post (includes installation of post and
			5.0 OTHE	र
5.1	Major rough grading (for multi-use pathway)	m³	\$25.00	Price varies from \$10 - \$25. Varies depending on a number of fa
5.2	Clearing and Grubbing	m²	\$2.00	
5.3	Bicycle rack (Post and Ring style)	each	\$250.00	Price varies from \$150 - \$250. Holds 2 bicycles , price varies de
5.4	Bicycle rack	each	\$1,200.00	Price varies from \$1,000 - \$1,200. Holds 6 bicycles, price varies

d crossing). Typically only required in rural settings

galvanized), with footing. Increase budget for

ub-base with 150mm granular A surface), with nashings, such as garbage receptacles and bike

ard c/w metal "u" channel post

. Based on a 600mm x 900mm typical size and uminum composite panel

nd materials selected. Does not include design and

s not include graphic design (based on a 900mm x 0% less for aluminum or aluminum composite

marker), with graphics on all 4 sides

only

per direction of travel every 0.5 km

)

l signs)

factors including site access, disposal location etc.

epending on manufacturer (includes installation)

depending on manufacturer (includes installation)

5.5	Bicycle Locker	each	\$3,000.00	Price varies depending on style and size. Does not include concrete mounting pad
5.6	Bench	each	\$2,000.00	Price varies from \$1,000 - \$2,000. Price varies depending on style and size. Does not include footing/concrete mounting pad
5.7	Safety Railings/Rubrail	linear M	\$120.00	Price varies from \$100 - \$120. 1.4m height basic post and rail style
5.8	Small diameter culvert	linear M	\$200.00	Price varies from \$150 - \$250. Price range applies to 400mm to 600mm diameter PVC or CSP culverts for drainage below trail
5.9	Pathway Lighting	linear M	\$130-\$160	Includes cabling, connection to power supply, transformers and fixtures
5.10	Relocation of Light / Support Pole	each	\$4,000.00	Adjustment of pole offset (distance between pole and roadway)
5.11	Relocation of Signal Pole / Utility Box	each	\$8,000.00	Adjustment of pole offset (distance between pole and roadway)
5.12	Flexible Bollards	each	\$100.00	Should be placed at 10m intervals where required
5.13	Pavement Markings	linear M	\$1.00	
5.14	Unit Pavers	m²	\$80-\$120	Includes base. Price range reflects different paver styles.

#### NOTES:

1. Unit Prices are for functional design purposes only, include installation but exclude contingency, design and approvals costs (unless noted) and reflect 2013 dollars, based on projects in southern Ontario

2. Estimates do not include the cost of property acquisitions, signal modifications, utility relocations, major roadside drainage works or costs associated with site-specific projects such as bridges, railway crossings, retaining walls,

and stairways, unless otherwise noted

3. Assumes typical environmental conditions and topography

4. Applicable taxes and permit fees are additional

							_	Fundi	ng Options	
								А	B	8
Geo-1									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		6	Signed Bike Route with Paved Shoulder in conjunction with existing road reconstruction / resurfacing	2.97	linear KM	\$55,000.00	\$163,350.00			
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$172,475.00	\$86,237.50	\$86,237.50
		57	Pathway marker sign (Single sign on new post)	6	each	\$250.00	\$1,500.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	5	each	\$125.00	\$625.00			

#### **OP-1**

								А		В		
P-1 (Fund	ded by Yo	rk Region	and Ontario Parks)						Region	Local	Ontario Parks	
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	0%	50%	
		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.39	linear KM	\$250,000.00	\$97,500.00	York Region at 100%           00           00           00           00           00           00           00           00           00           00           00           00           00           \$98,725.00	\$49,362.50	\$0.00		
	57	57	Pathway marker sign (Single sign on new post)	2	each	\$250.00	\$500.00				\$0.00	\$40,362,50
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00				φ <del>4</del> 9,302.30	
	80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00						

<b>OP-2</b> (	(Funded by	v York Re	gion and	Ontario	Parks)
	I UTINCU D		gioriana	Unturio	i unitoj

									Funding Opti	ons	
								A		В	
P-2 (Fund	led by Yo	ork Region	and Ontario Parks)						Region	Local	Ontario Parks
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	0%	50%
		2	Signed Bike Route in Rural Area	1.77	linear KM	\$1,000.00	\$1,770.00				
		57	Pathway marker sign (Single sign on new post)	7	each	\$250.00	\$1,750.00	\$4,520.00	\$2,260.00	\$0.00	\$2,260.00
		79	Pathway marker sign	8	each	\$125.00	\$1,000.00				

#### Geo-3

Phase

1

						Α	В	
							Region	Local
Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
3	Signed Bike Route with Sharrow Lane Markings	3.18	linear KM	\$3,500.00	\$11,130.00			
54	Staging area kiosk	1.00	each	\$5,000.00	\$5,000.00			
55	Signboards for staging area kiosk sign	1.00	each	\$2,000.00	\$2,000.00	\$21 505 00	\$10 752 50	\$10 752 50
57	Pathway marker sign (Single sign on new post)	9	each	\$250.00	\$2,250.00	\$21,303.00	ψ10,7 52.50	ψ10,7 JZ.30
79	Pathway marker sign (Single sign on existing post or previously proposed post)	9	each	\$125.00	\$1,125.00			

#### Funding Options

							_	Fundi	ng Options	
								А	B	3
Geo-4									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		3	Signed Bike Route with Sharrow Lane Markings	13.58	linear KM	\$3,500.00	\$47,530.00			
		54	Staging area kiosk	2	each	\$5,000.00	\$10,000.00			
		55	Signboards for staging area kiosk sign	2	each	\$2,000.00	\$4,000.00	\$73 405 00	\$36 702 50	\$36 702 50
		57	Pathway marker sign (Single sign on new post)	30	each	\$250.00	\$7,500.00	φ <i>1</i> 3,403.00	\$30,702.30	\$30,702.30
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	35	each	\$125.00	\$4,375.00			

							[	A	В	
Geo-5									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		3	Signed Bike Route with Sharrow Lane Markings	1.38	linear KM	\$3,500.00	\$4,830.00			
		57	Pathway marker sign (Single sign on new post)	6	each	\$250.00	\$1,500.00	\$7.330.00	\$3,665,00	\$3.665.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	8	each	\$125.00	\$1,000.00	<i></i>	<i><b>40,000.00</b></i>	<i><b>Q</b></i> <b>QQQQQQQQQQQQQ</b>

								Α	В	
Geo-6									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		3	Signed Bike Route with Sharrow Lane Markings	3.33	linear KM	\$3,500.00	\$11,655.00			
		57	Pathway marker sign (Single sign on new post)	6	each	\$250.00	\$1,500.00	\$14 530 00	\$7 265 00	\$7 265 00
79		79	Pathway marker sign (Single sign on existing post or previously proposed post)	11	each	\$125.00	\$1,375.00	ψ14,000.00	ψι,203.00	ψι,200.00

Geo-7*	Off-Road	Connection	between	Shoreline P	I and Metro	politan Cres
--------	----------	------------	---------	-------------	-------------	--------------

								Α	E	
Geo-7*	Off-Road	d Connecti	on between Shoreline PI and Metropolitan Cres						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Geo-7B			Demolition of existing bridge between Shoreline Place and Metropolitan Crescent	1	allowance	\$20,000.00	\$20,000.00			
		32	Self-weathering steel truss bridge with timber deck (32m long, 3m clear width)	30	m²	\$2,500.00	\$75,000.00			
			Concrete abutments on spread footings	2	each	\$30,000.00	\$60,000.00	\$203,100.00	\$101,550.00	\$101,550.00
			Mobilization and erection of bridge	1	allowance	\$35,000.00	\$35,000.00			
		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.05	linear KM	\$250,000.00	\$12,500.00			
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			

### Funding Options

#### Funding Options

							_	Fundi	ng Options	
								A	В	
Geo-7									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Geo-7A, Geo- 7C & Geo-7E		1	Signed Bike Route in Urban Area	1.55	linear KM	\$1,500.00	\$2,325.00			
Geo-7D		65	Small diameter culvert	20	linear M	\$200.00	\$4,000.00			
		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.02	linear KM	\$250,000.00	\$5,000.00	\$13,700.00	\$6,850.00	\$6,850.00
		57	Pathway marker sign (Single sign on new post)	4	each	\$250.00	\$1,000.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	11	each	\$125.00	\$1,375.00			

							[	А	В	
Geo-8									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Geo-8A		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.03	linear KM	\$250,000.00	\$7,500.00			
Geo-8X		36	Pathway / Road transition at existing signalized intersection (crossride)	5	each	\$25,000.00	\$125,000.00			
Geo-8A, Geo- 8X & Geo-8Z		70	Pathway marker signs	0.61	linear KM	\$1,500.00	\$915.00	\$146,040.00	\$73,020.00	\$73,020.00
Geo-8Z		71	Pathway Crossing of Private Entrance	6	each	\$2,000.00	\$12,000.00			
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	3	each	\$125.00	\$375.00			

							_	Fund	ng Options	
								Α	В	
Geo-9	The Que	ensway Br	ridge over Maskinonge River						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	100%	0%
			Place 1.0m wide concrete base adjacent to existing sidewalk on east side of road	57	m²	\$50.00	\$2,850.00			
			Place 40mm asphalt surface	20	tonne	\$150.00	\$3,000.00			
		73	Flexible Bollards	23	each	\$100.00	\$2,300.00			
			Traffic Control	1	allowance	\$15,000.00	\$15,000.00	\$40,110.00	\$40,110.00	\$0.00
			Adjust Catchbasins	1	allowance	\$10,000.00	\$10,000.00			
		74	Pavement Markings	120	m	\$1.00	\$120.00			
		64	Safety Railings/Rubrail	57	linear M	\$120.00	\$6,840.00			

								Α	В	
Geo-10		_							Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Geo-10X & Geo-10Z		70	Pathway marker signs	0.97	linear KM	\$1,500.00	\$1,455.00			
Geo-10X		36	Pathway / Road transition at existing signalized intersection (crossride)	4	each	\$25,000.00	\$100,000.00	¢127 580 00	¢co 700 00	¢co 700 00
Geo-10Z		71	Pathway Crossing of Private Entrance	18	each	\$2,000.00	\$36,000.00	\$137,580.00	<i>ф</i> 08,790.00	\$68,790.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00			

### Funding Options

Geo-11	
Phase	1

					_	Fundi	ng Options	
						Α	В	
						Vork Pegion at 100%	Region	Local
Cost Code	Description	Estimated	Units	Unit Price	Item Cost	Tork Region at 100 %	50%	50%
1	Signed Bike Route in Urban Area	3.73	linear KM	\$1,500.00	\$5,595.00			
54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$17 595 00	\$8 707 50	\$8 707 50
57	Pathway marker sign (Single sign on new post)	12	each	\$250.00	\$3,000.00	\$17,595.00	ψ0,7 97.50	ψ0,797.50
79	Pathway marker sign (Single sign on existing post or previously proposed post)	16	each	\$125.00	\$2,000.00			

#### Identification of Segment ID Letters

R	Resurface Existing Off-Road Trail				
Т	Trail Connection				
Х	Proposed Crossride				
Y	Existing Crossing				
Z	Existing Path				
All other letters are used in sequential order (starting from "A") to identify the segment.					

The following is an example of the identification of segment IDs for Geo-8: Geo-8A: This is the first section of the Geo-8 segment that is not identified in the table above. Geo-8X: This identifies a proposed cross ride that is required on Geo-8. Geo-8Z: This identifies a section of the segment that uses an existing trail.

								Α	B	
Eas-1									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		3	Signed Bike Route with Sharrow Lane Markings	0.87	linear KM	\$3,500.00	\$3,045.00			
		70	Pathway marker signs	0.87	linear KM	\$1,500.00	\$1,305.00			
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00	\$4,975.00	\$2,487.50	\$2,487.50
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	3	each	\$125.00	\$375.00			

								Α	E	3
Eas-2									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	2.04	linear KM	\$140,000.00	\$285,600.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00	\$287,100.00	\$143,550.00	\$143,550.00
		80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			

Eas-3*	<b>Replace and</b>	Construct ty	wo bridges oi	n 2nd Concession R	ight-of-Way
--------	--------------------	--------------	---------------	--------------------	-------------

								Α	E	3
Eas-3*	Replace	and Const	ruct two bridges on 2nd Concession Right-of-Way						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Eas-3A			Demolition of existing snowmobile crossing	1	allowance	\$20,000.00	\$20,000.00			
		32	Self-weathering steel truss bridge with timber deck (10m long, 4m clear width)	40	m²	\$2,500.00	\$100,000.00			
			Concrete abutments on spread footings	2	each	\$30,000.00	\$60,000.00			
			Mobilization and erection of bridge	1	allowance	\$35,000.00	\$35,000.00	\$515,000.00	\$257,500.00	\$257,500.00
Eas-3B		32	Self-weathering steel truss bridge with timber deck (20m long, 4m clear width)	80	m²	\$2,500.00	\$200,000.00			
			Concrete abutments on spread footings	2	each	\$30,000.00	\$60,000.00			
			Mobilization and erection of bridge	1	allowance	\$40,000.00	\$40,000.00			

								Α	E	3
Eas-3									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Eas-3A, Eas-3B & Eas-3D		75	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Rural Setting (New)	0.66	linear KM	\$200,000.00	\$132,000.00			
Eas-3C		30	Pedestrian Boardwalk (Light-Duty)	0.79	linear KM	\$1,500,000.00	\$1,185,000.00	\$1,317,375.00	\$658,687.50	\$658,687.50
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00			

#### Funding Options

#### Funding Options

### Funding Options

								А	B	8
Eas-4									Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		2	Signed Bike Route in Rural Area	0.63	linear KM	\$1,000.00	\$630.00			
		57	Pathway marker sign (Single sign on new post)	2	each	\$250.00	\$500.00	\$1,630,00	\$815.00	\$815.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	4	each	\$125.00	\$500.00	\$1,030.00	φ815.00	φ010.00

#### Eas-5

#### Phase 2

						А	ш	3
							Region	Local
Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
2	Signed Bike Route in Rural Area	0.94	linear KM	\$1,000.00	\$940.00			
70	Pathway marker signs	0.94	linear KM	\$1,500.00	\$1,410.00			
57	Pathway marker sign (Single sign on new post)	1.00	each	\$250.00	\$250.00	\$2,975.00	\$1,487.50	\$1,487.50
79	Pathway marker sign (Single sign on existing post or previously proposed post)	3.00	each	\$125.00	\$375.00			

#### Eas-

								А		В	
as-6 (Fเ	unded by	York Regi	on and Lake Simcoe Region Conservation Authority)						Region	Local	LSRCA
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	0%	50%
		75	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Rural Setting (New)	1.09	linear KM	\$200,000.00	\$218,000.00				
			Acquisition of 97 acre lands southeast of Yonge St and Holborn Rd	97.00	acre	-	\$300,000.00				
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00	<b>A</b> 500.000.00	0004 000 00	<b>*0 0 0</b>	<b>A</b> OO 4 AOO AO
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$569,200.00	\$284,600.00	\$0.00	\$284,600.00
		49	Granular parking lot at staging area (15 car capacity-gravel)	1	each	\$35,000.00	\$35,000.00				
		63	Bench	4	each	\$2,000.00	\$8,000.00				
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00				
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00				

#### Eas-7

Phase

						Α	E	3
							Region	Local
Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
2	Signed Bike Route in Rural Area	1.93	linear KM	\$1,000.00	\$1,930.00			
57	Pathway marker sign (Single sign on new post)	6	each	\$250.00	\$1,500.00	\$4,055,00	\$2,027,50	\$2,027,50
79	Pathway marker sign (Single sign on existing post or previously proposed post)	5	each	\$125.00	\$625.00	ψ <del>τ</del> ,033.00	ψ2,027.30	ψ2,027.30

#### Funding Options

#### Funding Options

## Funding Options

							[	А	E	3
Eas-8									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	2.16	linear KM	\$140,000.00	\$302,400.00			
		71	Pathway Crossing of Private Entrance	29	each	\$2,000.00	\$58,000.00			
		57	Pathway marker sign (Single sign on new post)	2	each	\$250.00	\$500.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	4	each	\$125.00	\$500.00	\$362,500.00	\$181,250.00	\$181,250.00
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00			
		80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			

Eas-9 Phase Eas-9A

Eas-9A & Eas-9C Eas-9B, Eas-9D, Eas-9E & Eas-9G Eas-9G

Eas-9X

							[	А	E	3
Eas-9*	Holland F	River Cros	sing East of Yonge Street						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Eas-9F		32	Self-weathering steel truss bridge with timber deck (20m long, 4m clear width)	30	m²	\$2,500.00	\$75,000.00	\$170,000,00	¢95 000 00	¢95,000,00
			Concrete abutments on spread footings	2	each	\$30,000.00	\$60,000.00	\$170,000.00	φo <u></u> 000.00	φο5,000.00
			Mobilization and erection of bridge	1	allowance	\$35,000.00	\$35,000.00			

							i unu		
							Α	E	3
								Region	Local
1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
	54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
	55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00			
	49	Granular parking lot at staging area (15 car capacity-gravel)	1	each	\$35,000.00	\$35,000.00			
	63	Bench	4	each	\$2,000.00	\$8,000.00			
	1	Signed Bike Route in Urban Area	0.48	linear KM	\$1,500.00	\$720.00			
	27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	2.48	linear KM	\$140,000.00	\$347,200.00			
	54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00	\$478 470 00	\$239 235 00	\$239 235 00
	55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	<i> </i>	+===,======	+====,======
	49	Granular parking lot at staging area (15 car capacity-gravel)	1	each	\$35,000.00	\$35,000.00			
	63	Bench	4	each	\$2,000.00	\$8,000.00			
	36	Pathway / Road transition at existing signalized intersection (crossride)	1	each	\$25,000.00	\$25,000.00			
	57	Pathway marker sign (Single sign on new post)	3	each	\$250.00	\$750.00			
	78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	4	each	\$200.00	\$800.00			
	79	Pathway marker sign (Single sign on existing post or previously proposed post)	8	each	\$125.00	\$1,000.00			
	80	Pathway marker sign (Double sided sign on new post)	10	each	\$300.00	\$3,000.00			

#### Funding Options

### Funding Options

#### **Eunding Ontions**

								Α	ш	3
Eas-10									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	1.23	linear KM	\$140,000.00	\$172,200.00			
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$222 800 00	\$111 400 00	\$111 400 00
		49	Granular parking lot at staging area (15 car capacity-gravel)	1	each	\$35,000.00	\$35,000.00	ΨΖΖΖ,000.00	φ111,400.00	φ111, <del>4</del> 00.00
		63	Bench	4	each	\$2,000.00	\$8,000.00			
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			

								А	E	
Eas-11									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Eas-11Y & Eas-12Z		70	Pathway marker signs	3.14	linear KM	\$1,500.00	\$4,710.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00	\$6,760.00	\$3,380.00	\$3,380.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00			
		80	Pathway marker sign (Double sided sign on new post)	4	each	\$300.00	\$1,200.00			

#### Identification of Segment ID Letters

R	Resurface Existing Off-Road Trail
Т	Trail Connection
Х	Proposed Crossride
Υ	Existing Crossing
Z	Existing Path
All other le	tters are used in sequential order (starting from "A") to identify the segment.

The following is an example of the identification of segment IDs for Eas-11: Eas-11Y: This identifies a section of the segment that will use an existing crossing. Eas-11Z: This identifies a section of the segment that uses an existing trail.

#### Funding Options

# Newmarket Tab

								Α	F	3
New-1									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
New-1Y & New-1Z		70	Pathway marker signs	3.17	linear KM	\$1,500.00	\$4,755.00			
New-1Z		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	7	each	\$200.00	\$1,400.00	\$15,055.00	\$7,527.50	\$7,527.50
		80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	8	each	\$125.00	\$1,000.00			

New-2*	<b>Pedestrian</b>	<b>Trail Bridge</b>	North on Fa	airy Lake
--------	-------------------	---------------------	-------------	-----------

								А	E	3
New-2*	Pedestria	an / Trail B		Region	Local					
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
New-2B		76	Retrofit / Widen Existing Pedestrian / Trail Bridge (29m long, 3m clear width)	87.00	m²	\$2,500.00	\$217,500.00	\$217,500.00	\$108,750.00	\$108,750.00

								Α	E	3	
New-2									Region	Local	
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50	0%
New-2R		26	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (Upgrade existing granular surface)	0.74	linear KM	\$100,000.00	\$74,000.00				
New-2A		22	Two Way Active Transportation Multi-use path within road right-of-way	0.50	linear KM	\$275,000.00	\$137,500.00				
		69	Relocation of Signal Pole / Utility Box	8	each	\$8,000.00	\$64,000.00				
New-2X		36	Pathway / Road transition at existing signalized intersection (crossride) This assumes the implementation of a proposed signalized intersection at Water St and Doug Duncan Dr to be developed by the Town of Newmarket, at the Town's cost in a specific project (not included).	1	each	\$25,000.00	\$25,000.00	\$311,020.00	\$155,510.00	\$155,510.0	00
New-2A & New-2Z		70	Pathway marker signs	0.38	linear KM	\$1,500.00	\$570.00				
New-2Z		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00				
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00				
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	2	each	\$200.00	\$400.00				
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	6	each	\$125.00	\$750.00				
		80	Pathway marker sign (Double sided sign on new post)	6	each	\$300.00	\$1.800.00				l

### Funding Options

#### Funding Options

# Newmarket Tab

									В	
New-3									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
New-3Z		70	Pathway marker signs	3.11	linear KM	\$1,500.00	\$4,665.00			
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00	\$14,165.00	\$7,082.50	\$7,082.50
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	8	each	\$125.00	\$1,000.00			
		80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			

#### Identification of Segment ID Letters

R R	esurface Existing Off-Road Trail					
T Tr	rail Connection					
X Pr	roposed Crossride					
Y Ex	xisting Crossing					
Z Ex	xisting Path					
All other letters are used in sequential order (starting from "A") to identify the segment.						

The following is an example of the identification of segment IDs for New-2: New-2A: This is the first section of the New-2 segment that is not identified in the table above. New-2R: This identifies a section on an existing off-road trail that needs to be resurfaced. New-2Z: This identifies a section of the segment that uses an existing trail.

# Aurora Tab

Aur-1							
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost
Aur-1A & Aur-1B		27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	0.21	linear KM	\$140,000.00	\$29,400.00
Aur-1X		36	Pathway / Road transition at existing signalized intersection (crossride)	3	each	\$25,000.00	\$75,000.00
Aur-1A, Aur-1X & Aur-1Z		70	Pathway marker signs	7.76	linear KM	\$1,500.00	\$11,640.00
Aur-1Z		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00
		57	Pathway marker sign (Single sign on new post)	2	each	\$250.00	\$500.00
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	11	each	\$200.00	\$2,200.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	13	each	\$125.00	\$1,625.00
		80	Pathway marker sign (Double sided sign on new post)	14	each	\$300.00	\$4,200.00

Aur-2							
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost
Aur-2A		22	Two Way Active Transportation Multi-use path within road right-of-way	1.36	linear KM	\$275,000.00	\$374,000.00
		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	1,360	m²	\$150.00	\$204,000.00
Aur-2X		35	Pathway / Road transition at unsignalized intersection(crossride)	2	each	\$5,000.00	\$10,000.00
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00

#### Identification of Segment ID Letters

R	Resurface Existing Off-Road Trail					
Т	Trail Connection					
Х	Proposed Crossride					
Υ	Existing Crossing					
Z	Existing Path					
All other le	All other letters are used in sequential order (starting from "A") to identify the segment.					

The following is an example of the identification of segment IDs for Aur-1: Aur-1A: This is the first section of the Aur-1 segment that is not identified in the table above. Aur-1X: This identifies a proposed cross rides that is required on Aur-1. Aur-1Z: This identifies a section of the segment that uses an existing trail.

Funding Options									
Α	E	3							
	Region	Local							
rk Region at 100%	50%	50%							
\$131,565.00	\$65,782.50	\$65,782.50							

Funding Options									
Α	E	3							
	Region	Local							
ork Region at 100%	50%	50%							
\$589,575.00	\$294,787.50	\$294,787.50							

				Funding Options							
								Α	E	3	
Ric-1									Region	Local	
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%	
Ric-1A & Ric-1C		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.39	linear KM	\$320,000.00	\$124,800.00				
Ric-1B		22	Two Way Active Transportation Multi-use path within road right-of-way	0.23	linear KM	\$275,000.00	\$63,250.00				
Ric-1C		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	390	m²	\$150.00	\$58,500.00				
		44	Retaining Wall	75	m²	\$600.00	\$45,000.00	\$333,050.00	\$166,525.00	\$166,525.00	
		67	Relocation of Light / Support Pole	4	each	\$4,000.00	\$16,000.00				
Ric-1X		36	Pathway / Road transition at existing signalized intersection (crossride)	1	each	\$25,000.00	\$25,000.00				
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00				
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00				

#### Rie

								Α	E	3
Ric-2									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		1	Signed Bike Route in Urban Area	0.23	linear KM	\$1,500.00	\$345.00	\$595.00	\$207 50	\$207 50
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00	\$000.00	φ297.50	φ297.50

#### R

								Α	E	3
Ric-3									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.10	linear KM	\$320,000.00	\$32,000.00			
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00	\$32,500.00	\$16,250.00	\$16,250.00
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00			

#### Ric-4

Ric-5 Phase

#### Phase Cost C 1

						А	E	3
							Region	Local
st Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
1	Signed Bike Route in Urban Area	0.17	linear KM	\$1,500.00	\$255.00	\$505.00	\$252.50	\$252.50
57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00	φ303.00	ψ202.00	ψ202.00

							А	E	3
								Region	Local
1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
	22	Two Way Active Transportation Multi-use path within road right-of-way	0.02	linear KM	\$275,000.00	\$5,500.00			
	78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00	\$5,825.00	\$2,912.50	\$2,912.50
	79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00			

### **Funding Options**

### Funding Options

# Funding Options

								А	E	3
Ric-6									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		1	Signed Bike Route in Urban Area	0.47	linear KM	\$1,500.00	\$705.00			
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00	\$1 080 00	\$540.00	\$540.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00	ψ1,000.00	φ0+0.00	ψ0+0.00

						-	i unum		
							Α	F	3
	_							Region	Local
1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
	22	Two Way Active Transportation Multi-use path within road right-of-way	1.16	linear KM	\$275,000.00	\$319,000.00		\$270.027.50	\$279.037.50
	77	Install Light Pole	1.16	linear km	\$200,000.00	\$232,000.00			
	78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00	\$558 075 00		
	79	Pathway marker sign (Single sign on existing post or previously proposed post)	3	each	\$125.00	\$375.00	\$555,075.00	φ213,001.00	ψ210,001.00
	80	Pathway marker sign (Double sided sign on new post)	5	each	\$300.00	\$1,500.00			
	35	Pathway / Road transition at unsignalized intersection(crossride)	1	each	\$5,000.00	\$5,000.00			

Ric-7X

Ric-7 Phase Ric-7A & Ric-7B

								Α	E	3
Ric-8									Region	Local
Phase	1	Cost Code	Description	Estimated	Units	Unit Price	Item Cost	York Region at 100%		
i nuoc		0001 0000	Description	Quantity	Onits	Unit i fice	item oost		50%	50%
Ric-8X		36	Pathway / Road transition at existing signalized intersection (crossride)	1	each	\$25,000.00	\$25,000.00	\$25,000.00	\$12,500.00	\$12,500.00

#### Ric

								Α		В	
c-9 (Fur	nded by Yo	ork Regio	n and Toronto Region Conservation Authority)						Region	Local	TRCA
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	0%	50%
Ric-9A		27	Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting	3.36	linear KM	\$140,000.00	\$470,400.00				
Ric-9B		22	Two Way Active Transportation Multi-use path within road right-of-way	0.20	linear KM	\$275,000.00	\$55,000.00				
		73	Flexible Bollards	20	each	\$100.00	\$2,000.00				
		44	Retaining Wall	40	m²	\$600.00	\$24,000.00				
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00				
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	\$565,550.00	\$282,775.00	\$0.00	\$282,775.00
		67	Relocation of Light / Support Pole	1	each	\$4,000.00	\$4,000.00				
		80	Pathway marker sign (Double sided sign on new post)	7	each	\$300.00	\$2,100.00				
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	4	each	\$200.00	\$800.00				
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00				

#### **Funding Options**

# Funding Options

Ric-10			
Phase	1	Cost Code	Desc
Ric-10A & Ric-10B		22	Two Way Active Transportation Multi-use
Ric-10A		73	Flexible Bollards
Ric-10B		24	Concrete Splash Strip placed within road Transportation Multi-Use Path and Road
Ric-10X		36	Pathway / Road transition at existing sigr
Ric-10A, Ric-10B & Ric-10X		77	Install Light Pole
		80	Pathway marker sign (Double sided sign

						Fundin		
						Α	E	3
							Region	Local
ost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
22	Two Way Active Transportation Multi-use path within road right-of-way	2.16	linear KM	\$275,000.00	\$594,000.00			
73	Flexible Bollards	0.16	each	\$100.00	\$16.00			
24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	2,010	m²	\$150.00	\$301,500.00			
36	Pathway / Road transition at existing signalized intersection (crossride)	5	each	\$25,000.00	\$125,000.00	\$1 477 731 80	\$738 865 90	\$738 865 90
77	Install Light Pole	2.28	linear km	\$200,000.00	\$455,815.80	ψ <sup>1</sup> ,+11,101.00	¢700,000.00	¢700,000.00
80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			
78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	4	each	\$200.00	\$800.00			

# Ric-11 Phase

2

					_	Funding Options			
						А	E	3	
							Region	Local	
Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%	
22	Two Way Active Transportation Multi-use path within road right-of-way	0.85	linear KM	\$275,000.00	\$233,750.00				
78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00	\$235 100 00	\$117 550 00	\$117 550 00	
79	Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00	φ233, 100.00	φ117,550.00	φ117,350.00	
80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00				

#### Ri

							_	Funding Options				
								А	E	3		
Ric-12									Region	Local		
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%		
		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	1.65	linear KM	\$250,000.00	\$412,500.00		\$206 775 00	\$206 775 00		
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00	\$413 550 00				
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00	ψ+ 13,000.00	φ200,773.00	φ200,773.00		
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00					

Ric-13								
Phase	1 Ci	cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Regi
Ric-13A		25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.51	linear KM	\$250,000.00	\$127,500.00	
Ric-13X		36	Pathway / Road transition at existing signalized intersection (crossride)	1.00	each	\$25,000.00	\$25,000.00	
Ric-13A		71	Pathway Crossing of Private Entrance	3	each	\$2,000.00	\$6,000.00	
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00	\$159,÷
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00	
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00	

_		
R	IC-1	4

# Phase 1 Cost Col Ric-14A 25 Ric-14Z 54 Sic-14A & 70 78

		[	А	E	3			
_							Region	Local
ost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	0.03	linear KM	\$250,000.00	\$7,500.00			
54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00		\$8,047.50	\$8,047.50
70	Pathway marker signs	0.33	linear KM	\$1,500.00	\$495.00	\$16,095.00		
78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00			
80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			

								Α	E	3
Ric-15									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Ric-15A - Ric15I		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	1.97	linear KM	\$320,000.00	\$630,400.00			
Ric-15B, Ric-15D, Ric-15F, Ric-15H		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	1,680	m²	\$150.00	\$252,000.00			
Ric-15I		73	Flexible Bollards	19	each	\$100.00	\$1,900.00			
Ric-15X		36	Pathway / Road transition at existing signalized intersection (crossride)	3	each	\$25,000.00	\$75,000.00			
Ric-15A & Ric-15B		71	Pathway Crossing of Private Entrance	2	each	\$2,000.00	\$4,000.00	\$971,375.00	\$485,687.50	\$485,687.50
Ric-15A & Ric-15E		67	Relocation of Light / Support Pole	1	each	\$4,000.00	\$4,000.00			
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	7	each	\$200.00	\$1,400.00			
		57	Pathway marker sign (Single sign on new post)	8	each	\$250.00	\$2,000.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	3	each	\$125.00	\$375.00			

Funding Options								
Α	E	3						
	Region	Local						
Region at 100%	50%	50%						
\$159,550.00	\$79,775.00	\$79,775.00						

#### Funding Options

each

\$300.00

\$900.00

Ric-16							
Phase	1 Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Regi
Ric-16A - Ric-16D	23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	1.96	linear KM	\$320,000.00	\$627,200.00	
Ric-16B	73	Flexible Bollards	0.15	each	\$100.00	\$15.00	
Ric-16X	36	Pathway / Road transition at existing signalized intersection (crossride)	3	each	\$25,000.00	\$75,000.00	
Ric-16C	71	Pathway Crossing of Private Entrance	1	each	\$2,000.00	\$2,000.00	
Ric-16A - Ric-16D	67	Relocation of Light / Support Pole	20	each	\$4,000.00	\$80,000.00	\$787,
	78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	8	each	\$200.00	\$1,600.00	
	79	Pathway marker sign (Single sign on existing post or previously proposed post)	6	each	\$125.00	\$750.00	

Pathway marker sign (Double sided sign on new post)

80

			Funding Options								
							Α	E	3		
Ric-17								Region	Local		
Phase	1 Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%		
Ric-17A - Ric-17G	23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	1.93	linear KM	\$320,000.00	\$617,600.00					
Ric-17B, Ric-17D & Ric-17F	24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	270	m²	\$150.00	\$40,500.00					
Ric-17X	36	Pathway / Road transition at existing signalized intersection (crossride)	5	each	\$25,000.00	\$125,000.00					
Ric-17A	44	Retaining Wall	195	m²	\$600.00	\$117,000.00					
Ric-17B	44	Retaining Wall	85	m²	\$600.00	\$51,000.00					
Ric-17C & Ric-17D	44	Retaining Wall	215	m²	\$600.00	\$129,000.00					
Ric-17F	44	Retaining Wall	130	m²	\$600.00	\$78,000.00					
Ric-17G	44	Retaining Wall	110	m²	\$600.00	\$66,000.00					
Ric-17A, Ric-17C, Ric-17E, Ric-17F & Ric-17G	71	Pathway Crossing of Private Entrance	10	each	\$2,000.00	\$20,000.00	\$1,311,375.00	\$655,687.50	\$655,687.50		
Ric-17A, Ric-17C, Ric-17D, Ric-17E & Ric-17G	67	Relocation of Light / Support Pole	10	each	\$4,000.00	\$40,000.00					
Ric-17B & Ric-17G	69	Relocation of Signal Pole / Utility Box	3	each	\$8,000.00	\$24,000.00					
	80	Pathway marker sign (Double sided sign on new post)	4	each	\$300.00	\$1,200.00					
	78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	6	each	\$200.00	\$1,200.00					
	57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00					
	79	Pathway marker sign (Single sign on existing post or previously proposed post)	5	each	\$125.00	\$625.00					

3

Fundin	g Options			
Α	E	3		
	Region	Local		
ion at 100%	50%	50%		
465.00	\$393,732.50	\$393,732.50		

#### Identification of Segment ID Letters

R	Resurface Existing Off-Road Trail					
Т	Trail Connection					
Х	Proposed Crossride					
Υ	Existing Crossing					
Z	Existing Path					
All other le	All other letters are used in sequential order (starting from "A") to identify the segment.					

The following is an example of the identification of segment IDs for Ric-14: Ric-14A: This is the first section of the Ric-14 segment that is not identified in the table above. Ric-14Z: This identifies a section of the segment that uses an existing trail.

								Fundi	ng Options		
								Α		В	
Mar-1									Region	Local	
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%	
Mar-1A, Mar-1B & Mar-1C		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.51	linear KM	\$320,000.00	\$163,200.00				
Mar-1X		35	Pathway / Road transition at unsignalized intersection(crossride)	2	each	\$5,000.00	\$10,000.00				
Mar-1B		71	Pathway Crossing of Private Entrance	1	each	\$2,000.00	\$2,000.00				
Mar-1C		67	Relocation of Light / Support Pole	5	each	\$4,000.00	\$20,000.00				
Mar-1B		69	Relocation of Signal Pole / Utility Box	1	each	\$8,000.00	\$8,000.00	\$205,300.00	\$102,650.00	\$102,650.00	
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	4	each	\$200.00	\$800.00				
		57	Pathway marker sign (Single sign on new post)	2	each	\$250.00	\$500.00				
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	4	each	\$125.00	\$500.00				
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00				

							_	Fundi	ng Options	
								А	E	3
Mar-2									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-2A		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.14	linear KM	\$320,000.00	\$44,800.00			
		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	140	m²	\$150.00	\$21,000.00			
Mar-2X		35	Pathway / Road transition at unsignalized intersection(crossride)	2	each	\$5,000.00	\$10,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	2	each	\$200.00	\$400.00	\$77,125.00	\$38,562.50	\$38,562.50
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	3	each	\$125.00	\$375.00			
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00			
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00			

Mar-3 Crossing of Highway 407 on Leslie S
---

								Fundi	ng Options	
								А	E	3
Mar-3	Crossing	of Highw	ay 407 on Leslie St						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	100%	0%
Mar-3A			Place 1.1m wide concrete base adjacent to existing sidewalk on east side of road	190	m²	\$50.00	\$9,500.00			
			Place 40mm asphalt surface	50	tonne	\$150.00	\$7,500.00			
		73	Flexible Bollards	35	each	\$100.00	\$3,500.00			
			Traffic Control	1	allowance	\$20,000.00	\$20,000.00	\$74,050,00	\$74.050.00	00.02
			Adjust Catchbasins	1	allowance	\$10,000.00	\$10,000.00	\$74,030.00	φ74,030.00	φ0.00
		74	Pavement Markings	350	m	\$1.00	\$350.00			
		64	Safety Railings/Rubrail	190	linear M	\$120.00	\$22,800.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	2	each	\$200.00	\$400.00			

								Fundi	ng Options	
								Α		В
Mar-4									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-4A & Mar-4B		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	1.15	linear KM	\$320,000.00	\$368,000.00			
Mar-4A		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	480	m²	\$150.00	\$72,000.00			
Mar-4X		35	Pathway / Road transition at unsignalized intersection(crossride)	3	each	\$5,000.00	\$15,000.00			
Mar-4B		67	Relocation of Light / Support Pole	13	each	\$4,000.00	\$52,000.00	¢500.275.00	¢254 697 50	¢254 697 50
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	3	each	\$200.00	\$600.00	ф309,373.00	φ204,007.00	φ204,007.00
		57	Pathway marker sign (Single sign on new post)	3	each	\$250.00	\$750.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00			
		80	Pathway marker sign (Double sided sign on new post)	3	each	\$300.00	\$900.00			

								Fundi	ng Options	
								Α	E	3
Mar-5*	Construe	ction of bri	dge on Leslie St north of Rosemount Ave						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	100%	0%
Mar-5B		32	Self-weathering steel truss bridge with timber deck (32m long, 3m clear width)	96	m²	\$2,500.00	\$240,000.00	\$400,000,00	\$400,000,00	00.02
			Concrete abutments on piles	2	each	\$50,000.00	\$100,000.00	\$400,000.00	φ400,000.00	φ0.00
			Mobilization, pile driving equipment and erection of bridge	1	allowance	\$60,000.00	\$60,000.00			

- M	lar	-5
		<b>•</b>

								Fundi	ng Options	
								А	E	3
Mar-5									Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-5A & Mar-5C		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.06	linear KM	\$320,000.00	\$19,200.00	27 800 00	13 900 00	13 900 00
		67	Relocation of Light / Support Pole	2	each	\$4,000.00	\$8,000.00	27,800.00	13,900.00	13,300.00
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			

								Fundi	ng Options	
								А	E	3
Mar-6									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-6A		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.37	linear KM	\$320,000.00	\$118,400.00			
Mar-6X		35	Pathway / Road transition at unsignalized intersection(crossride)	2	each	\$5,000.00	\$10,000.00			
Mar-6A		67	Relocation of Light / Support Pole	8	each	\$4,000.00	\$32,000.00	\$160,775.00	\$80,387.50	\$80,387.50
		57	Pathway marker sign (Single sign on new post)	1	each	\$250.00	\$250.00			
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	1	each	\$125.00	\$125.00			

								Α	E	3
Mar-7*	Construc	ction of bri	dge on Leslie St over CN Rail Corridor						Region	Local
Phase	2	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	100%	0%
Mar-7A		32	Self-weathering steel truss bridge with timber deck (50m long, 3m clear width)	150	m²	\$2,500.00	\$375,000.00			
			Concrete abutments on piles	2	each	\$50,000.00	\$100,000.00	\$600,000,00	00 000 0032	00.02
			Mobilization, pile driving equipment, erection and inspection of bridge	1	allowance	\$200,000.00	\$200,000.00	4090,000.00	\$090,000.00	φ0.00
			Remove and replace steel beam guide rail	1	allowance	\$15,000.00	\$15,000.00			

							[	Α	l	3
Mar-7									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-7B		44	Retaining Wall	300	m²	\$600.00	\$180,000.00			
		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.13	linear KM	\$320,000.00	\$41,600.00			
		64	Safety Railings/Rubrail	130	linear M	\$120.00	\$15,600.00			
Mar-7A & Mar-7B		67	Relocation of Light / Support Pole	5	each	\$4,000.00	\$20,000.00			
Mar-7X		36	Pathway / Road transition at existing signalized intersection (crossride)	1	each	\$25,000.00	\$25,000.00	\$289,400.00	\$144,700.00	\$144,700.00
		54	Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
		55	Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	1	each	\$200.00	\$200.00			

							_	Fundi	ng Options	
							[	Α	E	3
Mar-8									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-8A & Mar-8B		23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	0.27	linear KM	\$320,000.00	\$86,400.00			
Mar-8B		24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	200	m²	\$150.00	\$30,000.00			
		44	Retaining Wall	165	m²	\$600.00	\$99,000.00	\$241,100.00	\$120,550.00	\$120,550.00
Mar-8X		36	Pathway / Road transition at existing signalized intersection (crossride)	1	each	\$25,000.00	\$25,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	2	each	\$200.00	\$400.00			
		80	Pathway marker sign (Double sided sign on new post)	1	each	\$300.00	\$300.00			

|--|

								Α	E	3
Mar-9									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
Mar-9Z		26	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an	1.11	linear KM	\$100,000.00	\$111,000.00			
		64	Stream bank repairs in vicinity of existing bridge	1.00	allowance	\$40,000.00	\$40,000.00			
		78	Pathway marker sign (Double sided sign on existing post or previously proposed post)	2	each	\$200.00	\$400.00	\$152,500.00	\$76,250.00	\$76,250.00
		79	Pathway marker sign (Single sign on existing post or previously proposed post)	4	each	\$125.00	\$500.00			
		80	Pathway marker sign (Double sided sign on new post)	2	each	\$300.00	\$600.00			

								Α	E	3
Mar-10									Region	Local
Phase	1	Cost Code	Description	Estimated Quantity	Units	Unit Price	Item Cost	York Region at 100%	50%	50%
		70	Pathway marker signs	0.54	linear KM	\$1,500.00	\$810.00			
	54 <u>Sta</u> 55 <u>Sig</u> 57 <u>Pat</u> 79 Pat		Staging area kiosk	1	each	\$5,000.00	\$5,000.00			
			Signboards for staging area kiosk sign	1	each	\$2,000.00	\$2,000.00	<b>\$8,810,00</b>	\$4,405.00	\$4,405.00
			Pathway marker sign (Single sign on new post)	3	each	\$250.00	\$750.00	\$8,610.00		
			Pathway marker sign (Single sign on existing post or previously proposed post)	2	each	\$125.00	\$250.00			

#### Identification of Segment ID Letters

R	Resurface Existing Off-Road Trail								
Т	Trail Connection								
Х	Proposed Crossride								
Υ	Existing Crossing								
Z	Existing Path								
All other let	All other letters are used in sequential order (starting from "A") to identify the segment.								

The following is an example of the identification of segment IDs for Mar-8: Mar-8A: This is the first section of the Mar-8 segment that is not identified in the table above. Mar-8B: This is the second section of the Mar-8 segment. Mar-8X: This identifies a proposed cross ride that is required on Mar-8.

## Funding Options

				Existing / Short Te	erm (0 - 3 Years)	Fon	<u>g Term (4-5+ Years</u>	s)	
Segment	Cost	Phase	Segment	Region	Local	Region	Local	Ontario Parks	Total
Geo-1	\$172,475.00 *08 775 00	- c	Geo-1	\$86,237.50	\$86,237.50	\$0.00 #10.262.50	\$0.00	\$0.00 #10.262.50	\$172,475.00
	\$4,5000	<i>ч</i> с	01-10	00.0¢	00.0\$	\$2 260 00	00.0¢	\$2 260 00	\$4 5000
Gen-3	\$21 505 00	1 -	Gen-3	\$10.752.50	\$10 752 50	\$0.00 \$0.00	00.00	\$0.00 \$0.00	\$21.505.00
Gen-4	\$73 405 00		Geo-4	\$36 702 50	\$36 702 50	00.00 \$0.00	00.0\$	\$0.00	\$73 405 00
Geo-5	\$7.330.00		Geo-5	\$3.665.00	\$3.665.00	\$0.00	\$0.00	\$0.00	\$7.330.00
Geo-6	\$14,530.00	- <del>-</del>	Geo-6	\$7,265.00	\$7,265.00	\$0.00	\$0.00	\$0.00	\$14,530.00
Geo-7*	\$203,100.00	2	Geo-7*	\$0.00	\$0.00	\$101,550.00	\$101,550.00	\$0.00	\$203,100.00
Geo-7	\$13,700.00	-	Geo-7	\$6,850.00	\$6,850.00	\$0.00	\$0.00	\$0.00	\$13,700.00
Geo-8	\$146,040.00	-	Geo-8	\$73,020.00	\$73,020.00	\$0.00	\$0.00	\$0.00	\$146,040.00
Geo-9	\$40,110.00	0 .	Geo-9	\$0.00	\$0.00	\$40,110.00	\$0.00	\$0.00	\$40,110.00
Geo-10	\$137,580.00		Geo-10	\$68,790.00 #6.767.50	\$68,790.00 #6,707.50	\$0.00	\$0.00	\$0.00	\$137,580.00
Geo-11	UU.G8G,11¢	-	Geo-11	\$8,797.50	\$8,797.50	\$0.00	00.U¢	\$0.00	VU.285,11\$
			Total by Phase	\$302.080.00	\$302.080.00	\$193,282,50	\$101.550.00	\$51,622,50	
			Total Network	¢002,000.00 604,1	60.00	\$346,45	55.00	200 11 12 12 12 12 12 12 12 12 12 12 12 12	950,615.00
		i		Existing / Short T	erm (0 - 3 Years)	Fou	g Term (4-5+ Years	s)	
Segment	Cost	Phase	Segment	Region	Local	Region	Local	LSRCA	Total
Eas-1	\$4,975.00 #667 460 00		Eas-1	\$2,487.50 #4 40 FF0 60	\$2,487.50	\$0.00	\$0.00	\$0.00	\$4,9/5.00
Eas-Z	\$287,100.00 \$545,000,00	– c	Eas-Z	00.000 00.00	\$ 143,330.00	\$0.00 \$757 500 00	\$0.00 \$757 500 00	00.04	\$281,100.00
	\$1 317 375 00	N <del>r</del>	Eas-3	\$658 687 50	\$658 687 50	00.000, 1020	00.000, 1024	00.0¢	\$1 217 275 00
Eac-4	\$1 630 00	- ~	Eas-4	00.100,000¢	\$0 UD	\$815 00	\$815.00	\$0.00	\$1 630 00
Eas-5	\$2 975 00	10	Fas-5	00.0\$	00.0\$	\$1 487 50	\$1 487 50		\$2 975 00
Eas-6	\$569.200.00		Eas-6	\$0.00	\$0.00 \$0.00	\$284,600,00	\$0.00	\$284.600.00	\$569.200.00
Eas-7	\$4,055.00	0	Eas-7	\$0.00	\$0.00	\$2,027.50	\$2,027.50	\$0.00	\$4,055.00
Eas-8	\$362,500.00	<i>~</i>	Eas-8	\$181,250.00	\$181,250.00	\$0.00	\$0.00	\$0.00	\$362,500.00
Eas-9*	\$170,000.00	7	Eas-9*	\$0.00	\$0.00	\$85,000.00	\$85,000.00	\$0.00	\$170,000.00
Eas-9	\$478,470.00	-	Eas-9	\$239,235.00	\$239,235.00	\$0.00	\$0.00	\$0.00	\$478,470.00
Eas-10	\$222,800.00	-	Eas-10	\$111,400.00	\$111,400.00	\$0.00	\$0.00	\$0.00	\$222,800.00
Eas-11	\$6,760.00	-	Eas-11	\$3,380.00	\$3,380.00	\$0.00	\$0.00	\$0.00	\$6,760.00
			i - - -						
			Total Network	\$1,339,990.00 \$2.679	\$1,339,990.00 .980.00	\$631,430.00	\$346,830.00 \$1.262.860.00	\$Z84,6UU.UU	\$3,942.840.00
								-	
		ī		Existing / Short T	erm (0 - 3 Years)	Existing / Short Te	rm (0 - 3 Years)	- - 	
Segment	COST © 1 E DE E DD	Phase	Segment	Kegion ©7 57 50	LOCAI ©7 57 50	Kegion *0.00	Local COC	01al ©160500	
New-1 New-2*	\$217,500.00		New-2*	\$1.08.750.00	\$108.750.00	\$0.00	00.08	\$13,033.00	
New-2	\$311.020.00		New-2	\$155,510.00	\$155.510.00	\$0.00	\$0.00	\$311.020.00	
New-3	\$14,165.00	-	New-3	\$7,082.50	\$7,082.50	\$0.00	\$0.00	\$14,165.00	
			1						
			Total by Phase	\$278,870.00 ****	\$278,870.00	\$0.00	\$0.00	\$557 710 00	
				1,100¢	00.04	D.0¢		00.047,740.00	
				Existing / Short T	erm (0 - 3 Years)	Long Term (4	-5+ Years)		
Segment	Cost	Phase	Segment	Region	Local	Region	Local	Total	
Aur-1	\$131,565.00	-	Aur-1	\$65,782.50	\$65,782.50	\$0.00	\$0.00	\$131,565.00	
Aur-2	\$589,575.00	2	Aur-2	\$0.00	\$0.00	\$294,787.50	\$294,787.50	\$589,575.00	
			Totol Pri Dhono	Φ01 100 L0	ΦΟΓ 100 FO	#004 101 LO	000 TOT TO		
			Total Network	\$131,5	565.00 365.00	\$589,57	75.00	\$721,140.00	
				L	i i i i i i i i i i i i i i i i i i i				
Segment	Cost	Phase	Seament	EXISTING	l Snort Lerm (U - 3 ' Local	rears) TRCA	EXISTING / SNOTT LE Region	irm (U - 3 Years) I oral	Total
Ric-1	\$333,050.00	2	Ric-1	00.0\$	\$0.00	\$0.00	\$166,525.00	\$166,525.00	\$333,050.00
Ric-2	\$595.00	<del>,</del>	Ric-2	\$297.50	\$297.50	\$0.00	\$0.00	\$0.00	\$595.00
Ric-3	\$32,500.00 *********************************	<del>.</del> .	Ric-3	\$16,250.00 ****	\$16,250.00	\$0.00	\$0.00	\$0.00	\$32,500.00 #FOF 00
NC-4	00.000¢		RIC-4	\$252.50 \$2 012 50	05.2024	00.0¢	00.0\$	\$0.00	00.000¢
Ric-6	\$1.080.00		Ric-6	\$540.00	\$540.00	\$0.00	\$0.00 \$0.00	\$0.00	\$1.080.00
Ric-7	\$558,075.00	-	Ric-7	\$279,037.50	\$279,037.50	\$0.00	\$0.00	\$0.00	\$558,075.00
Ric-8	\$25,000.00	-	Ric-8	\$12,500.00	\$12,500.00	\$0.00	\$0.00	\$0.00	\$25,000.00
Ric-9	\$565,550.00 \$1 477 724 80	<del>,</del> ,	Ric-9 Bio 40	\$282,775.00 *720 065 00	\$0.00 *720 065 00	\$282,775.00 *0.00	\$0.00 \$0	\$0.00	\$565,550.00 #1 477 724 80
Ric-10	\$235 100 00	- ~	Ric-10	00.000,000,00 \$0.000	\$0.000.30	00.0\$	\$117 550 00	\$117,550,00	\$235 100 00
Ric-12	\$413,550.00	1 01	Ric-12	\$0.00	\$0.00	\$0.00	\$206,775.00	\$206,775.00	\$413,550.00
Ric-13	\$159,550.00	<del>,</del> -	Ric-13	\$79,775.00	\$79,775.00	\$0.00	\$0.00	\$0.00	\$159,550.00
Ric-14 Dir-15	\$16,095.00 ©©71 375 00		Ric-14 Din-15	\$8,U47.5U \$485.687.50	\$8,047.50 \$185,687.50	00.0\$		00.0¢	\$16,095.00 ¢071 375.00
Ric-16	\$787.465.00		Ric-16	\$393.732.50	\$393.732.50	\$0.00	\$0.00	\$0.00	\$787.465.00
Ric-17	\$1,311,375.00	. –	Ric-17	\$655,687.50	\$655,687.50	\$0.00	\$0.00	\$0.00	\$1,311,375.00
			Total by Phase	\$2,956,360.90	\$2,673,585.90	\$282,775.00	\$490,850.00	\$490,850.00	
			Total Network		\$5,912,721.80		\$981,70	00.00	\$6,894,421.80

**Phasing Tab** 

				Existing / Short Te	erm (0 - 3 Years)	Long Term (4-	5+ Years)
t T	Cost	Phase	Segment	Region	Local	Region	Local
	\$205,300.00	-	Mar-1	\$102,650.00	\$102,650.00	\$0.00	\$0.00
	\$77,125.00	-	Mar-2	\$38,562.50	\$38,562.50	\$0.00	\$0.00
	\$74,050.00	2	Mar-3	\$0.00	\$0.00	\$74,050.00	\$0.00
	\$509,375.00	-	Mar-4	\$254,687.50	\$254,687.50	\$0.00	\$0.00
	\$400,000.00	2	Mar-5*	\$0.00	\$0.00	\$400,000.00	\$0.00
	\$27,800.00	2	Mar-5	\$0.00	\$0.00	\$13,900.00	\$13,900.00
	\$160,775.00	-	Mar-6	\$80,387.50	\$80,387.50	\$0.00	\$0.00
	\$690,000.00	2	Mar-7*	\$0.00	\$0.00	\$690,000.00	\$0.00
	\$289,400.00	-	Mar-7	\$144,700.00	\$144,700.00	\$0.00	\$0.00
	\$241,100.00	-	Mar-8	\$120,550.00	\$120,550.00	\$0.00	\$0.00
	\$152,500.00	-	Mar-9	\$76,250.00	\$76,250.00	\$0.00	\$0.00
	\$8,810.00	-	Mar-10	\$4,405.00	\$4,405.00	\$0.00	\$0.00

Total \$205,30 \$77,12 \$77,12 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$509,37 \$500,000 \$214,100. \$2152,500,0000 \$2152,500,0000 \$2152,500,0000,0000 \$2152,500,0000 \$2152,500,0000 \$2152,500,0000 \$2

Geo-7\* represents the off-road connection between Shoreline Place and Metropolitan Crescent. Eas-3\* represents the replacement and construction of 2 bridges on the 2nd Concession Right-of-Way. Eas-9\* represents the construction of a bridge crossing the Holland River east of Yonge Street. Mar-5\* represents the construction of a bridge on Leslie St north of Rosemount Ave Mar-7\* represents the construction of a bridge on Leslie Street over the CN Rail Corridor. New-2\* represents the retrofit/ widening of the existing pedestrian/ trail bridge on Fairy Lake.

Total capital cost excludes engineering and contingency costs \$15,902,991.80

00

\$2,836,235.

8

\$13,900.(

,850.00

\$1,177,950.00 \$1,191,8

\$822,192.50 \$822,192.50 \$1,644,385.00

Total by Phase Total Network

# **Capital Costs Summary**

This summary table displays the total cost of the Lake to Lake Route including Engineering and Contingency costs<sup>1</sup>. 18% 20%

Engineering Costs Contingency Costs

		Existing / Short T	「erm (0-3 Years)				Long Term (4-5+ Ye	ears)		Total of all Phases
	Region	Local	TRCA	Total	Region	Local	Ontario Parks	LSRCA	Total	
Georgina	\$416,870.40	\$416,870.40	\$0.00	\$833,740.80	\$266,729.85	\$140,139.00	\$71,239.05	\$0.00	\$478,107.90	\$1,311,848.70
East Gwillimbury	\$1,849,186.20	\$1,849,186.20	\$0.00	\$3,698,372.40	\$871,373.40	\$478,625.40	\$0.00	\$392,748.00	\$1,742,746.80	\$5,441,119.20
Newmarket	\$384,840.60	\$384,840.60	\$0.00	\$769,681.20	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$769,681.20
Aurora	\$90,779.85	\$90,779.85	\$0.00	\$181,559.70	\$406,806.75	\$406,806.75	\$0.00	\$0.00	\$813,613.50	\$995,173.20
Richmond Hill	\$4,079,778.04	\$3,689,548.54	\$390,229.50	\$8,159,556.08	\$677,373.00	\$677,373.00	\$0.00	\$0.00	\$1,354,746.00	\$9,514,302.08
Markham	\$1,134,625.65	\$1,134,625.65	\$0.00	\$2,269,251.30	\$1,625,571.00	\$19,182.00	\$0.00	\$0.00	\$1,644,753.00	\$3,914,004.30
Total	\$7,956,080.74	\$7,565,851.24	\$390,229.50	\$15,912,161.48	\$3,847,854.00	\$1,722,126.15	\$71,239.05	\$392,748.00	\$6,033,967.20	\$21,946,128.68

Notes:

1. The capital cost excluding Engineering and Contingency costs is \$15,902,991.80

2. The distribution of capital costs are based on a cost share of 50% for York Region and 50% for Local Municipalities and other jurisdictions (i.e. TRCA, Ontario Parks and LSRCA).

#### Signed Route (SR) = 1

Yellow highlighted	cells i	dentifv brid	daes on the Lake	to Lake Route.			Distances				Capital	Cost	
· · · · · · · · · · · · · · · · · · ·		,	-g			Phase 1		Phase 2		Pha	ase 1	Pha	ise 2
Segment Facility	Туре	Distance		Phase	SR	MUP	SR	MUP		SR	MUP	SR	MUP
Geo-1	1.00	2.97	\$172,475.00	1		3.0	0.0	0.0	0.0	172,475.0	0.0	0.0	0.0
Geo-2						0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0
Geo-3	1.00	3.18	\$21,505.00	1		3.2	0.0	0.0	0.0	21,505.0	0.0	0.0	0.0
Geo-4	1.00	13.58	\$73,405.00	1		13.6	0.0	0.0	0.0	73,405.0	0.0	0.0	0.0
Geo-5	1.00	1.38	\$7,330.00	1		1.4	0.0	0.0	0.0	7,330.0	0.0	0.0	0.0
Geo-6	1.00	3.33	\$14,530.00	1		3.3	0.0	0.0	0.0	14,530.0	0.0	0.0	0.0
Geo-7A, G	1.00	1.57	\$13,700.00	1		1.6	0.0	0.0	0.0	13,700.0	0.0	0.0	0.0
Geo-7B	2.00	0.06	\$203,100.00	2		0.0	0.0	0.0	0.1	0.0	0.0	0.0	203,100.0
Geo-8	2.00	0.61	\$146,040.00	1		0.0	0.6	0.0	0.0	0.0	146,040.0	0.0	0.0
Geo-9	2.00	0.06	\$40,110.00	2		0.0	0.0	0.0	0.1	0.0	0.0	0.0	40,110.0
Geo-10	2.00	0.97	\$137,580.00	1		0.0	1.0	0.0	0.0	0.0	137,580.0	0.0	0.0
Geo-11	1.00	3.73	\$17,595.00	1		3.7	0.0	0.0	0.0	17,595.0	0.0	0.0	0.0
Eas-1	1.00	0.87	\$4,975.00	1		0.9	0.0	0.0	0.0	4,975.0	0.0	0.0	0.0
Eas-2	2.00	2.04	\$287,100.00	1		0.0	2.0	0.0	0.0	0.0	287,100.0	0.0	0.0
Eas-3A & E	2.00	0.03	\$515,000.00	2		0.0	0.0	0.0	0.0	0.0	0.0	0.0	515,000.0
Eas-3C, Ea	2.00	1.44	\$1,317,375.00	1		0.0	1.4	0.0	0.0	0.0	1,317,375.0	0.0	0.0
Eas-4	1.00	0.63	\$1,630.00	2		0.0	0.0	0.6	0.0	0.0	0.0	1,630.0	0.0
Eas-5	1.00	0.94	\$2,975.00	2		0.0	0.0	0.9	0.0	0.0	0.0	2,975.0	0.0
Eas-6	2.00	1.09	\$569,200.00	2		0.0	0.0	0.0	1.1	0.0	0.0	0.0	569,200.0
Eas-7	1.00	1.93	\$4,055.00	2		0.0	0.0	1.9	0.0	0.0	0.0	4,055.0	0.0
Eas-8	2.00	2.16	\$362,500.00	1		0.0	2.2	0.0	0.0	0.0	362,500.0	0.0	0.0
Eas-9F	2.00	0.03	\$170,000.00	2		0.0	0.0	0.0	0.0	0.0	0.0	0.0	170,000.0
null	0.00	0.00	\$0.00	0		0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0
Eas, 9A, E	2.00	2.97	\$478,470.00	1		0.0	3.0	0.0	0.0	0.0	478,470.0	0.0	0.0
Eas-10	2.00	1.23	\$222,800.00	1		0.0	1.2	0.0	0.0	0.0	222,800.0	0.0	0.0
Eas-11	2.00	3.14	\$6,760.00	1		0.0	3.1	0.0	0.0	0.0	6,760.0	0.0	0.0
New-1	2.00	3.17	\$15,055.00	1		0.0	3.2	0.0	0.0	0.0	15,055.0	0.0	0.0
New-2*	2.00	0.03	\$217,500.00	1		0.0	0.03	0.0	0.0	0.0	217,500.0	0.0	0.0
New-2	2.00	1.60	\$311,020.00	1		0.0	1.6	0.0	0.0	0.0	311,020.0	0.0	0.0
New-3	2.00	3.11	\$14,165.00	1		0.0	3.1	0.0	0.0	0.0	14,165.0	0.0	0.0
Aur-1	2.00	7.74	\$131,565.00	1		0.0	7.7	0.0	0.0	0.0	131,565.0	0.0	0.0
Aur-2	2.00	1.40	\$589,575.00	2		0.0	0.0	0.0	1.4	0.0	0.0	0.0	589,575.0
Ric-1	2.00	0.65	\$333.050.00	2		0.0	0.0	0.0	0.7	0.0	0.0	0.0	333.050.0
Ric-2	1.00	0.23	\$595.00	1		0.2	0.0	0.0	0.0	595.0	0.0	0.0	0.0
Ric-3	2.00	0.10	\$32,500.00	1		0.0	0.1	0.0	0.0	0.0	32.500.0	0.0	0.0
Ric-4	1.00	0.17	\$505.00	1		0.2	0.0	0.0	0.0	505.0	0.0	0.0	0.0
Ric-5	2.00	0.02	\$5.825.00	1		0.0	0.0	0.0	0.0	0.0	5.825.0	0.0	0.0
Ric-6	1.00	0.47	\$1.080.00	1		0.5	0.0	0.0	0.0	1.080.0	0.0	0.0	0.0
Ric-7	2.00	1.18	\$558.075.00	1		0.0	1.2	0.0	0.0	0.0	558.075.0	0.0	0.0
Ric-8	1.00	0.02	\$25.000.00	1		0.0	0.0	0.0	0.0	25.000.0	0.0	0.0	0.0
Ric-9	2.00	3.55	\$565.550.00	1		0.0	3.6	0.0	0.0	0.0	565.550.0	0.0	0.0
Ric-10	2.00	2.28	\$1,477,731.80	1		0.0	2.3	0.0	0.0	0.0	1.477.731.8	0.0	0.0
Ric-11	2.00	0.85	\$235,100.00	2		0.0	0.0	0.0	0.9	0.0	0.0	0.0	235,100.0
Ric-12	2.00	1.65	\$413,550.00	2		0.0	0.0	0.0	1.7	0.0	0.0	0.0	413,550.0
Ric-13	2.00	0.54	\$159,550.00	1		0.0	0.5	0.0	0.0	0.0	159.550.0	0.0	0.0
			• • • • • • • • • • • •								,		
Ric-14	2.00	0.33	\$16,095.00	1		0.0	0.3	0.0	0.0	0.0	16,095.0	0.0	0.0
Ric-15	2.00	2.05	\$971,375.00	1		0.0	2.1	0.0	0.0	0.0	971,375.0	0.0	0.0
Ric-16	2.00	2.04	\$787.465.00	1		0.0	2.0	0.0	0.0	0.0	787,465.0	0.0	0.0
		0.00											
Ric-17	2.00	2.09	\$1,311,375.00	1		0.0	2.1	0.0	0.0	0.0	1,311,375.0	0.0	0.0
Mar-1	2.00	0.56	\$205,300.00	1		0.0	0.6	0.0	0.0	0.0	205,300.0	0.0	0.0
Mar-2	2.00	0.19	\$77,125.00	1		0.0	0.2	0.0	0.0	0.0	77,125.0	0.0	0.0
Mar-3	2.00	0.18	\$74,050.00	2		0.0	0.0	0.0	0.2	0.0	0.0	0.0	74,050.0
Mar-4	2.00	1.21	\$509,375.00	1		0.0	1.2	0.0	0.0	0.0	509,375.0	0.0	0.0
Mar-5B	2.00	0.04	\$400,000.00	2		0.0	0.0	0.0	0.0	0.0	0.0	0.0	400,000.0
Mar-5A & N	2.00	0.06	\$27,800.00	2		0.0	0.0	0.0	0.1	0.0	0.0	0.0	27,800.0
Mar-6	2.00	0.41	\$160,775.00	1		0.0	0.4	0.0	0.0	0.0	160,775.0	0.0	0.0
Mar-7	2.00	0.10	\$690,000.00	2		0.0	0.0	0.0	0.1	0.0	0.0	0.0	690,000.0
Mar-7B	2.00	0.13	\$289,400.00	1		0.0	0.1	0.0	0.0	0.0	289,400.0	0.0	0.0
Mar-8	2.00	0.30	\$241,100.00	1		0.0	0.3	0.0	0.0	0.0	241,100.0	0.0	0.0
Mar-9	2.00	1.11	\$152,500.00	1		0.0	1.1	0.0	0.0	0.0	152,500.0	0.0	0.0
Mar-10	1.00	0.54	\$8,810.00	1		0.5	0.0	0.0	0.0	8,810.0	0.0	0.0	0.0
OP-1	2	0.39	\$98,725.00	2		0.0	0.0	0.0	0.4	0.0	0.0	0.0	98,725.0
OP-2	1	1.77	\$4,520.00	2		0.0	0.0	1.8	0.0	0.0	0.0	4,520.0	0.0

#### **Municipality Summary Tab**

Average Annual Maintenance Cost per KM over 20 Years 
 Signed Route
 \$500.00

 MUP
 \$4,000.00
 \$4,000.00

Georgina		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	29.74	\$320,540.00	1.77	\$4,520.00	31.51	\$15,753.53	\$39,383.83	\$275,686.80
Multi-Use Pathway	1.58	\$283,620.00	0.39	\$98,725.00	1.97	\$7,880.00	\$19,700.00	\$137,900.00
Bridges	0.0	\$0.00	0.12	\$243,210.00	0.12	\$477.83	\$1,194.57	\$8,361.99
Total	31.32	\$604,160.00	2.16	\$346,455.00	33.48	\$24,111.36	\$60,278.40	\$421,948.79

East Gwillimbury		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.87	\$4,975.00	3.50	\$8,660.00	4.37	\$2,185.00	\$5,462.50	\$38,237.50
Multi-Use Pathway	12.98	\$2,675,005.00	1.09	\$569,200.00	14.07	\$56,280.00	\$140,700.00	\$984,900.00
Bridges	0.00	\$0.00	0.06	\$685,000.00	0.06	\$220.17	\$550.43	\$3,853.01
Total Network	13.85	\$2,679,980.00	4.65	\$1,262,860.00	18.50	\$58,685.17	\$146,712.93	\$1,026,990.51

Newmarket		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	\$0.00	\$0.00
Multi-Use Pathway	7.88	\$340,240.00	0.00	\$0.00	7.88	\$31,520.00	\$78,800.00	\$551,600.00
Bridges	0.03	\$217,500.00	0.00	\$0.00	0.03	\$120.00	\$300.00	\$2,100.00
Total Network	7.91	\$557,740.00	0.00	\$0.00	7.91	\$31,640.00	\$79,100.00	\$553,700.00

Aurora		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	\$0.00	\$0.00
Multi-Use Pathway	7.74	\$131,565.00	1.40	\$589,575.00	9.14	\$36,560.00	\$91,400.00	\$639,800.00
Total Network	7.74	\$131,565.00	1.40	\$589,575.00	9.14	\$36,560.00	\$91,400.00	\$639,800.00

Richmond Hill		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.89	\$27,180.00	0.00	\$0.00	\$0.89	\$445.00	\$1,112.50	\$7,787.50
Multi-Use Pathway	14.18	\$5,885,541.80	3.15	\$981,700.00	\$17.33	\$69,320.00	\$173,300.00	\$1,213,100.00
Total Network	15.07	\$5,912,721.80	3.15	\$981,700.00	\$18.22	\$69,765.00	\$174,412.50	\$1,220,887.50

Markham		Phase 1		Phase 2	Total Length	Estimated Annual	Estimated Maintenance	Estimated Maintenance Cost Over
Facility Type	Length (km)	Estimated Capital Cost	Length (km)	Estimated Capital Cost	(km)	Maintenance Cost	Cost 0-5 Years	20 Years
Signed Route	0.54	\$8,810.00	0.00	\$0.00	0.54	\$270.00	\$675.00	\$4,725.00
Multi-Use Pathway	3.91	\$1,635,575.00	0.06	\$27,800.00	3.97	\$15,880.00	\$39,700.00	\$277,900.00
Bridges	0.00	\$0.00	0.32	\$1,164,050.00	0.32	\$1,280.00	\$3,200.00	\$22,400.00
Total Network	4.45	\$1,644,385.00	0.38	\$1,191,850.00	4.83	\$17,430.00	\$43,575.00	\$305,025.00

Total capital cost excludes engineering and contingency costs \$15,902,991.80

#### Notes:

1. The estimated maintenance cost over 20 years may be conservative as the first 5 years require minimal maintenance.

 Standard maintenance does not include upgrades/ refurbishing of bridges.
 Maintenance is tied to the jurisdiction the segments are located in. In this case, Local Municiplaities and conservation authorities are responsible for the maintenance of Lake to Lake Route segments. York Region is not responsible for the cost of maintaining the Lake to Lake Route. 4. Typical maintenance of MUPs include trail drainage, storm channel and culvert maintenance, grading and minor topping up of trail surfaces, minor pothole repair, sweeping and clearing of debris, trash removal, mowing of clear zones, minor surface repairs and repairs to trail fixtures / furnishings. 5. The annual maintenance cost of Signed Routes is primarily for sign / pole maintenance and replacement. These costs do not include sweeping / snow removal, clearing of debris and other general maintenance as this is part of the Region's regular

on-going road maintenance.

6. Maintenance costs are based on an average annual maintenance cost and may vary year to year.

The percentage below assumes a low annual maintenance cost in the first 5 years, therefore a unit price of 50% of the typical annual maintenance cost per kilometre has been assumed.

# Route Summary Tab

			Ne	twork Leng	gth (km) by	Facility Ty	pe, Phase	and Munic	pality				
Municipality	Geo	rgina	East Gw	villimbury	Newn	narket	Au	rora	Richm	ond Hill	Marl	kham	Total
Facility Type	Phase 1	Phase 2	Phase 1	Phase 2	Phase 1	Phase 2	Phase 1	Phase 2	Phase 1	Phase 2	Phase 1	Phase 2	TOLAI
Signed Route	29.74	1.77	0.87	3.50	0.00	0.00	0.00	0.00	0.89	0.00	0.54	0.00	37.31
Multi-Use Pathway	1.58	0.39	12.98	1.09	7.88	0.00	7.74	1.40	14.18	3.15	3.91	0.06	54.36
Bridges	0.00	0.12	0.00	0.06	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.32	0.49
Total Network	31.32	2.16	13.85	4.65	7.91	0.00	7.74	1.40	15.07	3.15	4.45	0.38	92.16

#### Master Costs Tab

Lake to Lake Master Cost Unit Price Source Table - Refer to "Appendix A Price Table" Tab for Version of this Table that will go in Final Report.

		2 3		4
Code	Item	Unit	Cost	Assumptions / Comments
	Signed Bike Route in Urban Area	linear KM	\$1,500.00	Price for both sides of the road, assumes one sign a minimum of every 330m / direction of
4	Signed Bike Route in Rural Area	linear KM	\$1,000.00	Price for both sides of the road, assumes one sign a minimum of every 600m / direction of
:	Signed Bike Route with Sharrow Lane Markings	linear KM	\$3,500.00	Price for both sides of the road, includes route signs every 330m (\$1,500/km both sides), table) If thermoplastic type product is used assume \$250 / each x 26 = \$6,500 source Fli
4	Signed Bike Route with Wide Curb Lane with Construction of a New Road	linear KM	\$60,000.00	Price for both sides of the road, assumes 0.5m to 1.0m widening on both sides of the road
Ę	Signed Bike Route with Wide Curb Lane with Road Reconstruction Project	linear KM	\$240,000.00	Price for both sides of the road, includes curb replacement, catch basin adjustments, lead
6	Signed Bike Route with Paved Shoulder in conjunction with existing road reconstruction / resurfacing	linear KM	\$55,000.00	Price for both sides of the road, 1.5m paved shoulder, assumes cycling project pays for a widening of granular base required)
-	Signed Bike Route with Buffered Paved Shoulder in conjunction with existing road reconstruction / resurfacing project	linear KM	\$150,000.00	Price for both sides of the road, 1.5m paved shoulder + 0.5 to 1.0m paved buffer, assume framed by white edge lines)
ç	Addition of Rumble Strip to Existing Buffered Paved Shoulder (rural)	linear KM	\$3,000.00	Price for both sides
1(	Granular Shoulder Sealing	linear KM	\$3,000.00	Both sides spray emulsion applied to harden the granular shoulder. This will reduce grav
1	Conventional 1.5m-1.8m Bicycle Lanes by Adding Bike Lane Markings and Signs	linear KM	\$7,500.00	Price for both sides of the road, includes signs, stencils and edge line. Price is for conver
12	Conventional 1.5m-1.8m Bicycle Lanes through Lane Conversion from 4 lanes to 3 lanes	linear KM	\$35,000.00	Price for both sides. Includes grinding of existing pavement, markings, signs, line painting
	Convertinged 1.5 m 1.9 m Disvelo Lange in Construction with a New Pand or Read Pagenetruction Project	lineer KM	\$200,000,00	Price for both sides of the road, assumes 1.5m bike lanes on both sides of the roadway (
13			\$300,000.00	only. Road project funds all other improvements
14	Conventional 1.5m-1.8m Bicycle Lanes by Retrofitting / Widening Existing Road	linear KM	\$700,000.00	Price for both sides of the road, includes the cost for excavation, adjust catch basins, lead
15	Wide Bicycle Lane (2.0m - 2.5m BL) in Conjunction with New Road or Road Widening Project	linear KM	\$250,000.00	Price for both sides of the road, assumes 2.0m to 2.5m bike lanes on both sides of the ro
16	Buffered Bicycle Lane with Hatched Pavement Markings - Assumes New Road or Road Reconstruction/Widening already Planned	linear KM	\$350,000.00	Price for both sides of the road, assumes 1.5m bike lanes + 0.5m - 1.0m buffer zone with signs, pavement markings sub-base only. Road project funds all other components
17	Buffered Bicycle Lane with Flex Bollards - Assumes New Road or Road Reconstruction/Widening Already Planned	linear KM	\$365,000.00	Price for both sides of the road, assumes 1.5m bike lanes + flex bollards centred in hatch markings (both sides of buffer zone) sub-base only
18	Buffered Bicycle Lane with Pre-Cast Barrier - Assumes New road or Road Reconstruction/Widening Already Planned	linear KM	\$400,000.00	Price for both sides of the road, assumes 1.5m bike lanes + pre-cast and anchored curb of buffer zone) sub-base only
19	Uni-directional Cycle Tracks: Raised and Curb Separated - Retrofit Existing Roadway	linear KM	\$1,200,000.00	Price varies from \$500,000 - \$ 1,200,000. Both sides. Includes construction but excludes components such as bike signals, upgrade/modification of signal controllers, utility/lighting
20	Two Way Cycle Track - Retrofit Existing Roadway	linear KM	\$800,000.00	Price varies from \$500,000 - \$800,000. One side. Includes construction but excludes de
2	Two Way Active Transportation Multi-use path within road right-of way with sidewalk on one side	linear KM	\$375,000.00	3.0m wide hard surface pathway (asphalt) within road right of way one side of road and 1.
22	Two Way Active Transportation Multi-use path within road right-of-way	linear KM	\$275,000.00	3.0m wide hard surface pathway (asphalt) within road right of way (no utility relocations).
23	Two Way Active Transportation Multi-use path within road right-of-way on one side with removal of existing sidewalk	linear KM	\$320,000.00	3.0m wide hard surface pathway (asphalt) within road right of way on one side of road in p base). Does not include trail lighting.
24	Concrete Splash Strip placed within road right-of-way between Active Transportation Multi-Use Path and Roadway	m²	\$150.00	Colour Stamped Concrete
25	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (New)	linear KM	\$250,000.00	3.0m wide hard surface pathway (asphalt) within park setting (normal conditions) 90mm a
20	Hard Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Urban Setting (Upgrade existing granular surface)	linear KM	\$100,000.00	Includes some new base work (25% approx.), half of the material excavated is removed f
21	Granular Surfaced Off-Koad Multi-Use Trail Outside of Koad Right-of-Way in an Urban Setting	linear KM	\$140,000.00	3.0m wide, compacted stone dust surface normal site conditions
20	On-road Multices and Outside of Road Right-On-Way on Abandoned Rail Bed in a Rufai Setting	linear KM	\$130,000.00	2.4m wide, compacted stone dust surface.
30	Predestrian Boardwalk (Light-Duty)	linear KM	\$1,500,000,00	Structure on footings, 3.0m wide with railings
3	Self weathering steel truss bridge	linear M	\$4,000.00	1.8m wide (footings/abutments additional, assume \$25,000 per side for normal site condi
32	Self weathering steel truss bridge	m²	\$2,500.00	Price varies from \$2,000 - \$2,500. Footings/ abutments additional, assume \$30,000 per
33	Grade separated cycling/overpass of major arterial/highway	each	\$500,000.00	Price varies from \$1,000,000 - \$8,000,000. Requirements and design vary widely, use p
34	Metal stairs with hand railing and gutter to roll bicycle	vertical M	\$3,000.00	1.8m wide, galvanized steel
35	Pathway / Road transition at unsignalized intersection(crosside)	each	\$5,000.00	Typically includes warning signs, curb cuts and minimal restoration (3.0m pathway)
30	Pathway / Road transition at existing signalized intersection (crossinge)	each	\$25,000.00	Typically includes installation of 4 signal neads, 2 poles, 2 foundations, 2 controller connect
38	Ar grade methods clossing	each	\$20,000,00	Average price for basic refuge with curbs, no pedestrian signals
39	Mid-block Pedestrian Signal	each	\$100.000.00	Prices varies from \$75.000 - \$100.000. Varies depending on number of signal heads re-
4(	At grade railway crossing	each	\$120,000.00	Flashing lights, motion sensing switch (C.N. estimate)
41	At grade railway crossing with gate	each	\$300,000.00	Flashing lights, motion sensing switch and automatic gate (C.N. estimate)
42	Below grade railway crossing	each	\$750,000.00	Price varies from \$500,000 to \$750,000. 3.0m wide, unlit culvert style approx. 10 m long
43	Multi use subway under 4 lane road	each	\$1,200,000.00	Price varies from \$1,000,0000 - \$3,000,000. Guideline price only for basic 3.3 m wide, li
44	Retaining Wall	m²	\$600.00	Face metre squared
4	Lockable gate (2 per road crossing)	each	\$5,000.00	Heavy duty gates, price for one side of road (2 required per road crossing). Typically only
46	Metal offset gates	each	\$1,200.00	"P"-style park gate
4	Removable Bollard	each	\$500-\$750	Price varies from \$500 - \$700. Basic style (e.g. 75mm diameter galvanized), with footing
40	Berming/boulders at road crossing	each	\$35,000,00	Basic granular surfaced parking area (i.e. 300mm granular B sub-base with 150mm granu
49		linear M	\$20.00	as garbage receptacles and bike racks.
5	Chain link fencing	linear M	\$100.00	Galvanized, 1.5m height
52	Regulatory and caution Signage (off-road pathway) on new metal post	each	\$250.00	Price varies from \$150 - \$250. 300mm x 300mm metal signboard c/w metal "u" channel
E'	Signboards for interpretive sign	each	\$800.00	Price varies from \$500 - \$800. Does not include graphic design. Based on a 600mm x s
54	Staging area kiosk	each	\$5,000.00	Price varies from \$2,000 - \$10,000. Price depends on design and materials selected. Do
55	Signboards for staging area kiosk sign	each	\$2,000.00	Price varies from \$1,500 - \$2,000. Typical production cost, does not include graphic des for aluminum or aluminum composite panel
56	Pathway directional sign	each	\$750.00	Price varies from \$500 - \$750. Bollard / post (100mm x100mm marker), with graphics or
57	Pathway marker sign (Single sign on new post)	each	\$250.00	Bollard / post (100mm x100mm marker), graphics on one side only

of travel (e.g. 6 signs / km).

of travel (e.g. 4 signs / km)

and sharrow stencil every 75m as per Ministry Guidelines (Painted \$75 each x 26/km = \$1,950 in nt Trading Inc.

id (3.5m to 4.0m)

extensions and driveway ramps

dditional granular base, asphalt and edge line (assume \$110,000 per kilometre if additional

es cycling project pays for additional granular base, asphalt, edge lines and signs (buffer zone

rel on the paved portion of the shoulder and significantly reduce shoulder maintenance.

ntional paint, (assumes painted lane line at \$1 / m + \$75 / symbol x 26 + \$2000 for signs)increase \$1.00/m for paint

g and symbols

1.5m x 2 sides = 3.0m). Includes catch basin leads, asphalt, signs, pavement markings sub-base

d extensions, new curbs/driveway ramps, asphalt and sub-base, pavement markings and signs.

adway . Includes catch basin leads, asphalt, signs, pavement markings sub-base only hatched pavement markings on both sides of the roadway. Includes catch basin leads, asphalt,

ned buffer zone at 10m intervals. Includes catch basin leads, asphalt, signs, edge line pavement

delineators . Includes catch basin leads, asphalt, signs, edge line pavement markings (both sides of

es design and signal modifications. Form of cycle track and materials as well as related g pole relocations, bike boxes etc. are project specific and will impact unit price

esign and signal modifications. Form of cycle track and materials as well as related components tions, bike boxes etc. are project specific and will impact unit price .5m concrete sidewalk on opposite side (no utility relocations)

Does not include trail lighting.

place of 1.5m concrete sidewalk (includes crushing of existing sidewalk and compacting for trail

sphalt depth

rom site. Add trail marker signs

crossings

tions) side for spread footings; \$50,000 - \$90,000 per side for piles vrice as general guideline only

ector and 2 arms. restoration. Does not include median refuge island.

quired

g for single elevated railway track

required in rural settings or city boundary areas

J. Increase budget for decorative style bollards

ular A surface), with precast bumper curbs. Includes minor landscaping and site furnashings, such

post

900mm typical size and embedded polymer material, up to 40% less for aluminum or aluminum

pes not include design and supply of signboards

sign (based on a 900mm x 1500mm typical size and embedded polymer material). Up to 40% less

n all 4 sides

5

# Master Costs Tab

58 Major rough grading (for multi-use pathway)	m <sup>3</sup>	\$25.00	Price varies from \$10 - \$25. Varies depending on a number of factors including site acce
59 Clearing and Grubbing	m²	\$2.00	
60 Bicycle rack (Post and Ring style)	each	\$250.00	Price varies from \$150 - \$250. Holds 2 bicycles , price varies depending on manufacture
61 Bicycle rack	each	\$1,200.00	Price varies from \$1,000 - \$1,200. Holds 6 bicycles, price varies depending on manufact
62 Bicycle Locker	each	\$3,000.00	Price varies depending on style and size. Does not include concrete mounting pad
63 Bench	each	\$2,000.00	Price varies from \$1,000 - \$2,000. Price varies depending on style and size. Does not in
64 Safety Railings/Rubrail	linear M	\$120.00	Price varies from \$100 - \$120. 1.4m height basic post and rail style
65 Small diameter culvert	linear M	\$200.00	Price varies from \$150 - \$250. Price range applies to 400mm to 600mm diameter PVC c
66 Pathway Lighting	linear M	\$130-\$160	Includes cabling, connection to power supply, transformers and fixtures
67 Relocation of Light / Support Pole	each	\$4,000.00	Adjustment of pole offset (distance between pole and roadway)
69 Relocation of Signal Pole / Utility Box	each	\$8,000.00	Adjustment of pole offset (distance between pole and roadway)
70 Pathway marker signs	linear KM	\$1,500.00	Price for both sides of the path, assumes one sign on average, per direction of travel ever
71 Pathway Crossing of Private Entrance	each	\$2,000.00	Price varies from \$1,500 - \$2,000. Adjustment of existing curb cuts to accommodate 3.0
72 Upgrade existing granular surface trail to meet 3.0m wide compacted granular trail standard	linear KM	\$50,000.00	Includes some new base work (25% approx.) and an average of 20 regulatory signs per ki
73 Flexible Bollards	each	\$100.00	Should be placed at 10m intervals where required
74 Pavement Markings	linear M	\$1.00	
75 Granular Surfaced Off-Road Multi-Use Trail Outside of Road Right-of-Way in an Rural Setting (New)	linear KM	\$200,000.00	3.0m wide, compacted stone dust surface in complex site conditions (includes cost of clea
76 Retrofit / Widen Existing Pedestrian / Trail Bridge (29m long, 3m clear width)	m²	\$2,500.00	Price assumes modifications to existing abutments
77 Install Light Pole	linear km	\$200,000.00	Includes installation on both sides of the road at 50 metre intervals
78 Pathway marker sign (Double sided sign on existing post or previously proposed post)	each	\$200.00	Double sided sign on existing post (includes installation of signs)
79 Pathway marker sign (Single sign on existing post or previously proposed post)	each	\$125.00	Single sign on existing post (includes installation of sign)
80 Pathway marker sign (Double sided sign on new post)	each	\$300.00	Double sided sign on new post (includes installation of post and signs)
81 Unit Pavers	m²	\$80-\$120	Includes base. Price range reflects different paver styles.
		-	

ss, disposal location etc.
r (includes installation)
urer (includes installation)
lude footing/concrete mounting pad
r CSP culverts for drainage below trail
/ 0.5 km
n multi-use pathway
lometre
ring and grubbing)

0
מ
ຕ
÷.
σ
(D)
Ť
0
2

.ength_DB 0.041	0.079 0.061	0.154 0.028	0.028	0.017	0.578	0.608 2.545	2.801 0.402	0.034 0.192	0.276	0.249	0.191 0.000	0.028 0.017	0.865	0.648 0.314	0.267	0.007	1.090 1.879	0.157	0.025	0.024 0.782	0.634	0.938	1.047 0.041	1.923	0.780	0.114 0.387	0.114 0.063	0.996	0.294 0.294	1.059 0.071	0.025	0.013	2.9007 0.007	0.009	0.016	0.166	0.315 0.142	0.111 3 726	3.171	8.957 4.620	1.371 3 375	0.186	0.257	0.018	0.025	0.013 0.013	0.009 0.011	0.016	0.112	0.056 0.098	0.055 0.100
Length L 41	79 61	154 28	3 33 6 3 7 6 7 6	18 18	578 578	608 2,545	2,801 402	34 192	276 912	249	219 57	28	865	648 314	267 74	- <u>-</u>	1,090 1,879	157 2.028	25	24 782	634 638	020 938	1,047 41	1,923	673 780	114 387	114 63	996 206	200 294	1,059 71	25 49	13	2,900 7	တထ	16	166	315 142	111 3 726	3,171	8,957 4,620	1,371 3 325	186 186		1.106	25 13	5 13 13	9 11	16 103	112	56 98	55 100
t SegID Aur-1A	Aur-1A Aur-1A	Aur-1T Aur-1X	Aur-1X	Aur-17 Aur-17	Aur-17 Aur-12	Aur-12 Aur-12	Aur-1Z Aur-1Z	Aur-1Z Aur-1Z	Aur-1Z S Aur-2A	SAur-2A	S Aur-2A S Aur-2A	Aur-2X ^2X	Eas-1	Eas-10 Eas-10	Eas-10	Eas-117	Eas-11Z Eas-11Z	Eas-11Z	Eas-3A	Eas-3B Eas-3C	Eas-3D	Eas-5	Eas-6 Eas-6	Eas-7	Eas-o Eas-8	Eas-8 Eas-8	Eas-9A Eas-9A	Eas-9B	Eas-9C	Eas-9D Eas-9E	Eas-9F Fas-9G	Eas-9X	Geo-10X	Geo-10X Geo-10X	Geo-10X	Geo-102 Geo-102	Geo-10Z Geo-10Z	Geo-10Z	Geo-3	Geo-4 Geo-4	Geo-5 Geo-6	Geo-7A	Geo-7C	Geo-7D Geo-7F	Geo-8A	Geo-a7 Geo-8X	Geo-8X Geo-8X	Geo-8X Geo-87	Geo-8Z	Geo-8Z Geo-8Z	Geo-8Z Geo-8Z
Treatment 3.0Asph	3.0Asph	Crossride	Crossride	ExCross	ExAsph	ExAsph ExAsph	ExAsph ExAsph	ExAsph ExAsph	ExAsph 3 NasnhK	3.0AsphK	3.0AsphK 3.0AsphK	Crossride		3.0Asph 3.0Asph	3.0Asph	ExCross	ExAsph ExAsph	ExAsph 2 00 sph	ModDes	ModDes ModDes	3.0Asph		3.0Asph 3.0Asph		3.0Asph	3.0Asph 3.0Asph		3.0Asph	o.uAspin	3.0Asph 3.0Asph	ModDes 3 0Asph	Crossride	Crossride	Crossride	Crossride	ExAsph	ExAsph ExAsph	ExAsph					MUULES	3.0Asph	3.0Asph	Crossride	Crossride Crossride	Crossride ExAsnh	ExAsph	ExAsph ExAsph	ExAsph ExAsph
Phasing ST	ST ST	ST	ST ST	ЪЖ		ХХ	ХЩ	ХX	ЕX	; 5 !	니니	L L	ST	ST ST	ST	ЦХ	ШXX	ы К Ц К	5 - 1	ST	ST °T	с Г	느느	LT ST	sT ST	ST ST	ST ST	ST ST	sT s	ST ST	LT ST	S S S	sT ST	ST ST	ST	ЦЩ	ХX	с Х Т Х	Б Щ I	ХX	ХХ	L S L	ST	ST ST	ST	s ST	ST ST	ST FX	с С С С С С С С С С С	ХX	ХX
Priority Primarv	Primary	Primary Primary	Primary	Primary	Primary	Primary Primary	Primary Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary	Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary Primary	Primary	Primary	Primary	Primary	Primary	Primary Primary	Primary Primary	Primary	Primary	Primary Primary	Primary Primary
FacType Multi-Use Path	Multi-Use Path Multi-Use Path	Trail Connectior Multi-Use Path	Multi-Use Path	Multi-Use Path	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Signed Route	Multi-Use Path Multi-Use Path	Multi-Use Path Trail Connection	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Signed Route	Multi-Use Path Multi-Use Path	Signed Route	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Signed Route Signed Route	Multi-Use Path	Nulli-Use Pain Signed Route	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	signed Route Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Signed Route	Signed Route Signed Route	Signed Route	Signed Route	Signed Route	Multi-Use Path Signed Route	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path	Multi-Use Path Multi-Use Path	Multi-Use Path Multi-Use Path
Status Solid	Solid Solid	Solid	Solid	Solid	Solid	Solid Solid	Solid Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Dashed	Dashed Dashed	Dashed Solid	Solid	Solid	Solid						Solid	Solid Solid	Solid	Solid	Solid Solid	Solid	Solid	Solid	Solid				Solid	Solid	Solid Solid	Solid Solid
ld on_off 0.00 Off	0.00 Off 0.00 Off	0.00 0.00 Off		0.00 Off	0.00 Off	0.00 Off 0.00 Off	0.00 Off 0.00 Off	0.00 Off 0.00 Off		0.00 Off	0.00 Off 0.00 Off	0.00 Off	0.00 On	0.00 Off 0.00 Off	0.00 Off	0.00 Off	0.00 Off 0.00 Off	0.00 Off	0.00 Off	0.00 Off 0.00 Off	0.00 On	0.00 On	0.00 Off 0.00 On	0.00 On	0.00 On	0.00 Off 0.00 On	0.00 On 0.00	0.00 Off	0.00 On	0.00 Off 0.00	0.00	0.00	0.00 0.00	0.00	0.00	0.00 Off	0.00 Off 0.00 Off	0.00 Off	0.00 On	0.00 On 0.00 On	0.00 On	0.00 On	0.00 On	0.00 Off	0.00	0.00	0.00	0.00	0.00 Off	0.00 Off 0.00 Off	0.00 Off 0.00 Off
Shape * 184 Polvline	294 Polyline 309 Polyline	293 Polyline 182 Polyline	183 Polyline	187 Polyline	100 Polyline	102 Polyline 103 Polyline	104 Polyline 105 Polyline	181 Polyline 186 Polyline	188 Polyline	265 Polyline	295 Polyline 308 Polyline	266 Polyline	250 Polyline	22 Polyline 112 Polyline	246 Polyline	237 Polyline	14 Polyline 110 Polyline	111 Polyline	319 Polyline	320 Polyline 118 Polyline	160 Polyline	161 Polyline	115 Polyline 252 Polyline	49 Polyline	20 Polyline 67 Polyline	114 Polyline 164 Polyline	66 Polyline 254 Polyline	24 Polyline	68 Polyline	23 Polyline 240 Polyline	241 Polyline	238 Polyline	7.3 Polyline 281 Polyline	283 Polyline 285 Polyline	287 Polyline	280 Polyline	282 Polyline 284 Polyline	286 Polyline	74 Polyline	72 Polyline 75 Polyline	76 Polyline	77 Polyline	79 Polyline	80 Polyline 35 Polyline	311 Polyline	273 Polyline	275 Polyline 277 Polyline	313 Polyline	271 Polyline	274 Polyline 276 Polyline	278 Polyline 312 Polyline

# Route Data Tab

0.057	0.539	0.055	0.068	0.251	0.019	0.028	0.033	0.014	0.160	0.012	0.298	0.182	0.172	0.024	0.020	0.023	0.03	0.243	0.000	0.018	0.092	0.124	0.030	0.064	001.00	0.031	1.106	0.017	0.125	0.20.0 0.494	0.303	0.328	0.073	0.030	0.029	0.000	0.019	0.343	0.149	0.139	2.969	0.091	0.726	0.354	0.462	0.371	0.021	0.026	0.020	0.017	0.848 1.642	0.263	0.243	0.026	0.299 0.299	0.067	0.442	0.023	0.395	0.0.0	0.064	0.171	0.124	0.036	0.023	0.019	0.149	0.458	0.509	0.067	0.372	0.04 / 0.021	0.018	0.299 0.029
57	539	132 55	68	251	19	28	137	40 14	160	12	298	182 480	409 172	24	20	23	35	243	124	18	92	124	30	64 160	100 31	<u>.</u>	1,106	17	129 2.025	0,020 190	303	328	73	39	59	160	19	343	149	139	2,969 152	91 91	726	354	462	371 37	21	 26	20	17	848 1 642	263	243	26 26	299	67	442	23	395 1 p	665	64	171	124 20	36	12	19	149	458	509	67	372 17	- <del>1</del>	18	299 29
ModDes Geo-9	Mar-10	o.uAspri iviai-1A 2.4Asph Mar-1B	2.4Asph Mar-1B	3.0Asph Mar-1C	Crossride Mar-1X	Crossride Mar-1X	5.UASphke Mar-2A Proseride Mar-2X	Crossride Mar-2X	ModDes Mar-3A	VodDes Mar-3A	3.0AsphKS Mar-4A	3.0AsphKS Mar-4A	o.uAspri iviai-46 3.0Asph Mar-4B	Crossride Mar-4X	Crossride Mar-4X	Crossride Mar-4X	ModDes Mar-5C	3.0Asph Mar-6A	o.uAspri Iviar-oA Procerido Mor.eV	Crossride Mar-6X	ModDes Mar-7A	VodDes Mar-7B	Crossride Mar-7X	2.4Asph Mar-8A	5.UASpring Ivial-6D 8.0AenhKS Mar-8B	Crossride Mar-8X	ExAsph Mar-9Z	ExCross New-1Y	=xAsph New-12	ZASPIL NEW-12 3 ASph New-2A	ExAsph New-2R	ExAsph New-2R	ExAsph New-2R	ExAsph New-2R	ExAsph New-2B	EXASPN New-ZR New-2T	Crossride New-2X	ExAsph New-2Z	New-3T	ExAsph New-3Z	EXASPN New-32	3.0AsphKS Ric-10B	3.0AsphKS Ric-10B	3.0AsphKS Ric-10B	3.0AsphKS Ric-10B	3.UASPNKS KIC-10B Proserida Ric-10X	Crossride Ric-10X	Crossride Ric-10X	Crossride Ric-10X	Crossride Ric-10X	3.0Asph Ric-11 3.0Asph Ric-12	3.0Asph Ric-13A	3.0Asph Ric-13A	Crossride Ric-13X	e.uaspii ric-14A ExAsph Ric-14Z	3.0Asph Ric-15A	3.0AsphKS Ric-15B	3.0Asph Ric-15C	3.0AsphKS Ric-15D	3.0Asph Ric-15F	ModDes Ric-15G	3.0AsphKS Ric-15H	3.0AsphBC Ric-151	Crossride Ric-15X	Crossride Ric-15X Crossride Ric-15X	3.0Asph Ric-16A	3.0AsphBC Ric-16B	2.4Asph Ric-16C	2.4Asph Ric-16C	2.4Asph Ric-16C	2.4Asph Ric-16C	2.4ASpri Ric-100 2.4Asnh Ric-160	2.4Asph Ric-16C	3.0Asph Ric-16D Crossride Ric-16X
mary ST I	mary EX	mary ST	mary ST	mary ST 3	mary ST (	mary ST	mary SI	mary ST (	mary ST	mary ST I	mary ST	mary SI	mary ST	mary ST (	mary ST (	mary ST (	mary ST	mary SI	mary SI	mary ST (	mary ST I	mary ST I	mary ST (	mary ST	mary ST	mary ST (	mary EX I	mary EX I	mary EX	mary CA	marv EX [	mary EX I	mary EX I	mary EX	mary EX I	condary EX	nary ST (	mary EX I	mary	mary EX	mary EX n	mary ST	mary ST	mary ST 3	mary ST	mary SI	mary ST (	mary ST (	mary ST (	mary ST (	mary LI mary IT	mary ST 3	mary ST 3	mary ST (	mary 51	mary ST	mary ST	mary ST	mary ST	mary ST	mary ST N	mary ST 3	mary ST	mary ST (	mary ST	mary ST	mary ST	mary ST 2	mary ST 2	mary ST	mary ST	mary or marv ST	mary ST	mary ST 3
Multi-Use Path Pri	Signed Route Priv	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Prin	Multi-Use Path Prin	Multi-Use Path Prir Multi-Hea Path Driv	Multi-Use Path Prir	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Prin	Multi-Use Path Prir	Multi-Use Path Prii Multi-Use Path Prii	Multi-Use Path Prin	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Pri	Multi-Use Path Prir Multi-Lise Dath Drii	Multi-Use Path Prir	Multi-Use Path Prir	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Prir	Multi-Use Path Pri	Multi-Use Path Ptil	Multi-Use Path Prir	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Path Prii	Multi-Use Fath Priv	Multi-Use Path Prir	Multi-Use Path Prir	Multi-Use Path Prir	Multi-Use Path Prii	Multi-Use Path Prir	Trail Connection Driv	Multi-Use Path Prin	Multi-Use Path Prii	Trail Connection Prir	Multi-Use Path Pri	Multi-Use Path Prii Multi-Lise Dath Drii	Multi-Use Path Prir	Multi-Use Path Prin	Multi-Use Path Prir	Multi-Use Path Prin	Multi-Use Path Prir Multi-Hea Path Prir	Multi-Use Path Prii	Multi-Use Path Pri	Multi-Use Path Pri	Multi-Use Path Pri	Multi-Use Path Prir Multi-Use Path Prir	Multi-Use Path Prin	Multi-Use Path Prir	Multi-Use Path Prii	Multi-Use Path Prir	Multi-Use Path Pri	Multi-Use Path Prir	Multi-Use Path Pri	Multi-Use Path Prii Multi-Lise Path Brii	Multi-Use Path Prir	Multi-Use Path Prin	Multi-Use Path Prir	Multi-Use Path Prin	Multi-Use Path Pri	Multi-Use Path Prii Multi-Hse Path Prii	Multi-Use Path Pri	Multi-Use Path Prin	Multi-Use Path Prin	Multi-Use Path Prir	Multi-Use Path Pri	Multi-Use Path Prir	Multi-Use raure run Multi-Use Path Prii	Multi-Use Path Pri	Multi-Use Path Prin Multi-Use Path Prin
	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	nino			Dashed		Dashed	Dasned	Solid	Solid		Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	C.	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid	Solid Solid
0.00	0.00 On		0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off			0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00 0#		0.00	0.00	0.00 Off	0.00	0.00 Off		0.00 Off	0.00 Off	0.00	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00		0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off	0.00 Off		0.00 Off	0.00 Off 0.00 Off
279 Polyline	0 Polyline	213 Folyline	302 Polyline	121 Polyline	215 Polyline	216 Polyline	120 Polyline	218 Polvline	86 Polyline	230 Polyline	219 Polyline	221 Polyline	4 Folyline 318 Polyline	220 Polyline	222 Polyline	224 Polyline	82 Polyline	83 Polyline	323 Polyline	225 Polvline	84 Polyline	40 Polyline	226 Polyline	317 Polyline	2 Polyline	227 Polvline	1 Polyline	168 Polyline	108 Polyline	177 Polyline	172 Polvline	178 Polyline	289 Polyline	290 Polyline	315 Polyline	316 Polyline	169 Polyline	321 Polyline	292 Polyline	106 Polyline	260 Dolyline	267 Polvline	48 Polyline	194 Polyline	196 Polyline	197 Polyline	195 Polvline	198 Polyline	199 Polyline	300 Polyline	91 Polyline	90 Polyline	154 Polyline	153 Polyline	89 Polyline	305 Polyline	47 Polyline	234 Polyline	129 Polyline	45 Polvline	132 Polyline	131 Polyline	133 Polyline	126 Polyline	120 Polyline	136 Polvline	135 Polyline	61 Polyline	137 Polyline	139 Polyline	140 Polyline	142 ruyine 231 Polyline	236 Polyline	143 Polyline 134 Polyline

# Route Data Tab

0.000 (F)         Solid         Multi-Use Path         Primary         ST         Consorties         Ster-15X         24         0.00           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17A         491         0.00           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17A         491         0.00           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17F         491         0.016           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17F         491         0.016           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17F         41         0.016           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17F         41         0.016           0.000 (F)         Solid         Multi-Use Path         Primary         ST         3.0Asph/K.Rer-17F         43         0.016           0.000 (F)         Solid         Multi-Use Path         Primary         ST         Consaride         Rer-175         41         0.016	olyline	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-16X	24	0.024
0.00001         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17A         491         0.043           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.010           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.010           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.010           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.000           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.000           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asphr         Ric-17C         345         0.001           0.000011         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17C         259         0.022           0.000011         Solid         Multi-Use Path         Primary         <	രാ	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-16X	24	0.024
© 000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17B         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.010           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.010           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         3.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         2.0Asph/K Ric-17F         99         0.00           0.000 0f1         Solid         Multi-Use Path Primary         ST         2.0Asph/K Ric-17F         99         0.	Ð	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17A	491	0.491
0.00001         Solid         Multi-Use Path Primary         ST         3.0Asph/RR:-T7         3.45         0.34           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph/RR:-T7         3.45         0.34           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph/RR:-T7         9         0.000           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph/RR:-T7         9         0.000           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph Re:-T7         9         0.000           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph Re:-T7         3         0.000           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph Re:-T7         3         0.000           0.000011         Solid         Multi-Use Path Primary         ST         3.0Asph Re:-T7         3         0.001           0.000011         Solid         Multi-Use Path Primary         ST         2.0Asph Re:-T7         2         0.022           0.000011         Solid         Multi-Use Path Primary         ST         Crossride Re:-T7         2         0.022 <t< td=""><td>Ð</td><td>0.00 Off</td><td>Solid</td><td>Multi-Use Path</td><td>Primary</td><td>ST</td><td>3.0AsphKS</td><td>S Ric-17B</td><td>66</td><td>0.099</td></t<>	Ð	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0AsphKS	S Ric-17B	66	0.099
0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph KR:172         105         0.103           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-172         105         0.103           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-175         41         0.001           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-175         41         0.001           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-175         41         0.013           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-175         41         0.013           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         29         0.023           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         29         0.023           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         29         0.023           0.000 Off	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17C	345	0.345
0.00001         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17E         109         0.010           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17E         109         0.010           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         41         0.00           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         385         0.00           0.000011         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         385         0.000           0.000011         Solid         Multi-Use Path         Primary         ST         Crosside         Ric-17X         28         0.000           0.000011         Solid         Multi-Use Path         Primary         ST         Crosside         Ric-17X         28         0.000           0.000011         Solid         Multi-Use Path         Primary         ST         Crosside         Ric-17X         28         0.023           0.000011         Solid         Multi-Use Path         Primary         ST	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0AsphK	SRic-17D	105	0.105
0.0000ft         Solid         Multi-Use Path         Primary         ST         3.0AsphK.Ric-17F         5         9         0.000           0.0000ft         Solid         Multi-Use Path         Primary         ST         3.0AsphK.Ric-17F         5         9         0.000           0.0000ft         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         395         0.035           0.0000ft         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         395         0.035           0.0000ft         Solid         Multi-Use Path         Primary         ST         Conside Ric-17X         33         0.001           0.0000ft         Solid         Multi-Use Path         Primary         ST         Conside Ric-17X         33         0.002           0.0000ft         Solid         Multi-Use Path         Primary         ST         Conside Ric-17X         23         0.002           0.0000ft         Solid         Multi-Use Path         Primary         ST         Conside Ric-17X         23         0.023           0.0000ft         Solid         Multi-Use Path         Primary         ST         Consastide Ric-17X         23 <td< td=""><td>Ð</td><td>0.00 Off</td><td>Solid</td><td>Multi-Use Path</td><td>Primary</td><td>ST</td><td>3.0Asph</td><td>Ric-17E</td><td>109</td><td>0.109</td></td<>	Ð	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17E	109	0.109
0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph/KS.Rc-17F         63         0.000           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Rc-17G         341         0.000           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Rc-17G         341         0.001           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Rc-17G         341         0.001           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         38         0.032           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         38         0.032           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         25         0.022           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         25         0.022           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride Ric-17X         25         0.02	Ð	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17E	<b>б</b>	0.009
0.00 Cff         Multi-Use Path         Primary         ST         3.0Asph         Re-17G         41         0.04           0.00 Cff         Solid         Multi-Use Path         Primary         ST         3.0Asph         Re-17G         345         0.03           0.00 Cff         Solid         Multi-Use Path         Primary         ST         3.0Asph         Re-17G         35         0.03           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride         Re-17X         38         0.03           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride         Re-17X         38         0.00           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride         Re-17X         28         0.02           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride         Re-17X         28         0.02           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride         Re-17X         29         0.02           0.00 Cff         Solid         Multi-Use Path         Primary         ST         Crossride	Ð	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0AsphK	S Ric-17F	63	0.063
0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         335         0.038           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         355         0.238           0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         355         0.028           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         28         0.003           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         28         0.003           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.023           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.023           0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.024           0.000 Off         Solid         Multi-Use Path         Primary	Ð	0.00 Off		Multi-Use Path	Primary	ST	3.0Asph	Ric-17G	41	0.041
0.000 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-17G         257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.257         0.207         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         238         0.0037           e         0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         229         0.0027           e         0.000 Off         Solid         Multi-Use Path         Primary         LT         3.0Asph/KSRc-17X         229         0.023           e         0.000 Off         Solid         Multi-Use Path         Primary         LT         3.0Asph/KSRc-16         277         237         0.035           e         0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         229         0.025           e         0.000 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-1X         239	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17G	395	0.395
0.000 /ft         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-175         14         0.01           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         33         0.002           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.002           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.002           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.002           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.02           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.02           0.000 /ft         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.02           0.000 /ft         Solid         Multi-Use Path         Primary	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17G	257	0.257
0.00         0.01         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         33         0.03           0.00         Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00         Solid         Multi-Use Path         Primary         LT         3.0Asph         Ric-14         2.22         0.02           0.00         Signed Route         Primary         ST         3.0Asph         Ric-15         357         0.02           0.00         Signed Route         Primary         ST         3.0Asph         Ric-3         31         0.01           0.00         Signed Route         Primary         ST         3.0Asph         Ric-4         11         0.01           0.00         Signed Route         Primary         ST         3.0Asph         Ric-5         471         0.01	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-17G	14	0.014
0.000         Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         23         0.003           e         0.000         Finality         ST         Crossride         Ric-17X         25         0.002           e         0.000         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         25         0.002           e         0.000         Off         Solid         Multi-Use Path         Primary         LT         3.0AsphKS.Ric-1A         27         0.02           e         0.000         Off         Solid         Multi-Use Path         Primary         LT         3.0AsphKS.Ric-1A         27         0.02           e         0.000         Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-1X         27         0.02           e         0.000         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-1X         27         0.03           e         0.000         Signed Route         Primary         ST         Crossride         Ric-1X         25         0.03           e         0.000	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-17X	33	0.033
0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         29         0.00           0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0Asph/KSRic-1G         357         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph/KSRic-1G         357         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-1X         23         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-1G         37         0.03           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-7A         35         0.01           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-7A         35         0.01 <tr< td=""><td>e</td><td>0.00 Off</td><td>Solid</td><td>Multi-Use Path</td><td>Primary</td><td>ST</td><td>Crossride</td><td>Ric-17X</td><td>38</td><td>0.038</td></tr<>	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-17X	38	0.038
0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         25         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-17X         25         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0AsphKS Ric-16         357         0.02           0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0AsphKS Ric-1C         357         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-1X         27         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-3         298         0.02           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-3         3.00         37         0.03           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-5         11         0.01           0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-7A         35         0.34 <tr< td=""><td>e</td><td>0.00 Off</td><td>Solid</td><td>Multi-Use Path</td><td>Primary</td><td>ST</td><td>Crossride</td><td>Ric-17X</td><td>29</td><td>0.029</td></tr<>	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-17X	29	0.029
<ul> <li>0.00 Off Solid Multi-Use Path Primary ST Crossride Ric-17X 29</li> <li>0.00 Off Solid Multi-Use Path Primary LT 3.0AsphrK SRc-14 27</li> <li>0.00 Off Solid Multi-Use Path Primary LT 3.0AsphrK SRc-14 27</li> <li>0.00 Off Solid Multi-Use Path Primary LT 3.0AsphrK SRc-15 357</li> <li>0.00 Off Solid Multi-Use Path Primary LT 3.0AsphrK SRc-15 357</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0AsphrK SRc-13 357</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asphr SRc-13 357</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asphr SRc-4</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-3 98</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-4</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-4</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-4</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-7</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.00 Off Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.01 Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.01 Solid Multi-Use Path Primary ST 3.0Asph Ric-9</li> <li>0.01 Solid</li></ul>	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-17X	25	0.025
0.00         Solid         Multi-Use Path         Primary         LT         3.0AsphK Ric-1A         27         0.02           ie         0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0AsphK Ric-1A         27         0.02           ie         0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0AsphK Ric-1K         357         0.03           ie         0.00 Off         Solid         Signed Route         Primary         ST         3.0Asph         Ric-1X         31         0.03           ie         0.00 Off         Solid         Nulti-Use Path         Primary         ST         3.0Asph         Ric-3         38         0.02           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-5         471         0.01           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.34           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.01           ie         0.00 Off         Solid	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-17X	29	0.029
0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0Asph Ric-1B         2.28         0.22           0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0Asph Ric-1G         357         0.357         0.357           0.00 Off         Solid         Multi-Use Path         Primary         ET         3.0Asph Ric-1G         357         0.357         0.357           0         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-3         98         0.00           0         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-4         164         0.01           0         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         3 <td>he</td> <td>0.00</td> <td>Solid</td> <td>Multi-Use Path</td> <td>Primary</td> <td>Ľ</td> <td>3.0AsphK</td> <td>S Ric-1A</td> <td>27</td> <td>0.027</td>	he	0.00	Solid	Multi-Use Path	Primary	Ľ	3.0AsphK	S Ric-1A	27	0.027
e         0.00 Off         Solid         Multi-Use Path         Primary         LT         3.0AsphKS Ric-1C         357         0.357           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.035         0.035           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045         Ric-4         164         0.16           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045         Ric-7         3         3.014           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.045         Ric-7         3         3.16           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-7         471         0.014	ne	0.00 Off	Solid	Multi-Use Path	Primary	Ľ	3.0Asph	Ric-1B	228	0.228
e         0.00 Off         Solid         Multi-Use Path         Primary         LT         Crossride         Ric-1         31         0.03           ie         0.00 Off         Solid         Signed Route         Primary         ST         3.0Asph         Ric-2         229         0.03           ie         0.00 Off         Solid         Nulti-Use Path         Primary         ST         3.0Asph         Ric-3         29         0.00           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-5         471         0.471           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.01           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.01           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-7         15         0.01           ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         Crossride         Ric-7         15         0.01 <td>ne</td> <td>0.00 Off</td> <td>Solid</td> <td>Multi-Use Path</td> <td>Primary</td> <td>Ľ</td> <td>3.0AsphK</td> <td>SRic-1C</td> <td>357</td> <td>0.357</td>	ne	0.00 Off	Solid	Multi-Use Path	Primary	Ľ	3.0AsphK	SRic-1C	357	0.357
e         0.00         On         Solid         Signed Route         Primary         ST         Ric-2         229         0.22           e         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-3         98         0.03           e         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-4         164         0.01           e         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-5         471         0.401           e         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.341           e         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         15         0.011           e         0.00         Off         Solid         Multi-Use         Path         Primary         ST         3.0Asph         Ric-7X         15         0.011           e         0.00         Off         Solid         Multi-Use Path         Primary <td>ЭС</td> <td>0.00 Off</td> <td>Solid</td> <td>Multi-Use Path</td> <td>Primary</td> <td>Ľ</td> <td>Crossride</td> <td>Ric-1X</td> <td>31</td> <td>0.031</td>	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	Ľ	Crossride	Ric-1X	31	0.031
e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-3         98         0.00           e         0.00 Off         Solid         Nulti-Use Path         Primary         ST         3.0Asph         Ric-5         11         0.01           e         0.00 Off         Solid         Nulti-Use Path         Primary         ST         3.0Asph         Ric-5         11         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.34           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7         35         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9         3,18         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9         3,138         3,138           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9         3,138         3,138	ЭС	0.00 On	Solid	Signed Route	Primary	ST		Ric-2	229	0.229
e         0.00 On         Solid         Signed Route         Primary         ST         Ric-4         164         0.16           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-5         11         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-5         11         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.34           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.01           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9A         3,18         3,18         3,18           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9A         3,18         3,18         3,18           e         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9A         3,18         3,13	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-3	98	0.098
Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-5         11         0.01           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-7X         3.5         0.34           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-7X         3.5         0.34           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-7X         3.5         0.34           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-7X         15         0.01           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-7X         16         0.01           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.103           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.103           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.103           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.103           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.140           Image: Note of the solid Multi-Use Path Primary ST         3.0Asph Ric-9A         3,188         3.143           Image: Note of the solid Multi-Use Path Primary ST         <	ne	0.00 On	Solid	Signed Route	Primary	ST		Ric-4	164	0.164
Image: Not off         Solid         Signed Route         Primary         ST         Ric-6         471         0.470           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.34           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.01           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-9A         35         0.01           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-9A         3,188         3.03           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-9A         3,188         3.10           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-9A         25         0.01           Image: Not off         Solid         Mutti-Use Path         Primary         ST         3.0Asph         Ric-9A         25         0.01           Image: Not off         Solid         Mutti-Use Path         Primary	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-5	11	0.011
Image: None off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         35         0.34           Image: Im	ЭС	0.00 On	Solid	Signed Route	Primary	ST		Ric-6	471	0.470
Ie         0.00         On         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7B         817         0.817           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         15         0.011           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-7A         15         0.011           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9A         3,188         3.188         3.131           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-9A         140         0.143           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph BC Ric-9B         1.439         1.439         1.439           Ie         0.00         Off         Solid         Multi-Use Path         Primary         ST         3.0Asph BC Ric-9A         140         0.143           Ie         0.00         Off         Solid         Multi-Use	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-7A	35	0.340
Ie         0.00 Off         Solid         Multi-Use Path         Primary         EX         Crossride         Ric-7X         15         0.014           Ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.04sph         Ric-9A         3,188         3.181	ЭC	0.00 On	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-7B	817	0.817
ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       Crossride       Ric-9A       3,188       3.188         ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0Asph       Ric-9A       3,188       3.188         ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0Asph       Ric-9A       140       0.141         ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0Asph Ric-9A       140       0.143         ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0Asph Ric-9A       140       0.143         ie       0.00       Off       Solid       Multi-Use Path       Primary       ST       3.0Asph Ric-9A       143       1.433       1.433         ie       0.0       Solid       Multi-Use Path       Primary       LT       3.0Asph Ric-9A       1.433       1.433         ie       0.0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph Ric-9A       1.433       1.433         ie       0       Off       Solid       Multi-Use Path       Primary       LT<	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ΕX	Crossride	Ric-7X	15	0.015
ie       0.00 Off       Solid       Multi-Use Path       Primary       S1       Crossride       Ric-9A       3,188       3.188       3.181         ie       0.00 Off       Solid       Multi-Use Path       Primary       S7       3.0Asph       Ric-9A       3,188       3.198       191       0.101       0.011			:		1	ļ			:	
ie       0.00 Off       Solid       Multi-Use Path       Primary       S1       3.0Asph       Ric-9A       3,188       3.188       3.188         ie       0.00 Off       Solid       Multi-Use Path       Primary       S7       3.0Asph       Ric-9A       3,188       3.188       3.188         ie       0.00 Off       Solid       Multi-Use Path       Primary       S7       3.0Asph BC Ric-9A       140       0.14         ie       0.00 Off       Solid       Multi-Use Path       Primary       S7       3.0Asph BC Ric-9B       191       0.19         ie       0.00       Solid       Multi-Use Path       Primary       LT       3.0Asph Cri-9B       143         ie       0.00       Solid       Multi-Use Path       Primary       LT       3.0Asph CP-1       0.00       0.38         ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph Geo-7B       59.46       0.03         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph Geo-7B       59.46       0.03         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	Crossride	Ric-8X	18	0.018
Ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph         Ric-9A         25         0.024           Ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0Asph Ric-9A         140         0.14           Ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0AsphBC Ric-9B         191         0.14           Ie         0.00 Off         Solid         Multi-Use Path         Primary         ST         3.0AsphBC Ric-9B         140         0.14           Ie         0.00         Solid         Multi-Use Path         Primary         LT         3.0Asph         Ric-9T         1,439         1.43           Ie         0         Solid         Multi-Use Path         Primary         LT         3.0Asph         Geo-7B         59.46         0.01           Ie         0         Off         Solid         Multi-Use Path         Primary         LT         3.0Asoh         Geo-7B         59.46         0.03           Ie         0         Off         Solid         Multi-Use Path         Primary         LT         3.0Asoh         Geo-7B         59.46         0.03	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-9A	3,188	3.188
ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0Asph Ric-9A       140       0.140         ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0AsphBC Ric-9B       191       0.191         ie       0.00 Off       Solid       Trail Connection Primary       ST       3.0AsphBC Ric-9B       191       0.191         ie       0.0       Solid       Multi-Use Path       Primary       LT       3.0Asph       OP-1       0.00       0.381         ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.01         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.03         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.03         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asbh       Geo-7B       59.46       0.03         ie       0       Off       Solid       Multi-Use Path       Primary       LT	ЭС	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-9A	25	0.025
Ie       0.00 Off       Solid       Multi-Use Path       Primary       ST       3.0AsphBC Ric-9B       191       0.191         Ie       0.00       Solid       Trail Connection Primary       LT       3.0Asph OP-1       1,439       1.431         Ie       0.00       Solid       Multi-Use Path       Primary       LT       3.0Asph       OP-1       0.00       0.381         Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph       OP-2       0.00       1.763         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.013         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.014         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.014         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.0242223         Ie       0       Off       Solid       Multi-Use Path       Prim	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0Asph	Ric-9A	140	0.140
Ie       0.00       Solid       Trail Connection Primary       LT       3.0Asph       0P-1       0.00       0.38         Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph       0P-1       0.00       0.38         Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph       0P-2       0.00       1.76         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.01         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.03         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.03         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.03         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       24       0.024222         Ie       0       Off       Solid       Multi-U	e	0.00 Off	Solid	Multi-Use Path	Primary	ST	3.0AsphB(	C Ric-9B	191	0.191
Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asph       OP-1       0.00       0.381         Ie       0       Solid       Signed Route       Primary       LT       3.0Asph       OP-2       0.00       1.761         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.011         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.011         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.031         Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.014         Ie       0       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       24       0.0242221         Ie       0       Off       Solid       Multi-Use Path       Primary       LT       ModDes       Mar-5B       32       0.033         Ie       0       Off       Solid       Multi-Use P	e	0.00	Solid	Trail Connectior	n Primary			Ric-9T	1,439	1.439
Ie     0     Solid     Signed Route     Primary     LT     OP-2     0.00     1.76       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     3.0Asph     Geo-7B     59.46     0.01       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     3.0Asph     Geo-7B     59.46     0.03       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     3.0Asoh     Geo-7B     59.46     0.03       Ie     0     Solid     Multi-Use Path     Primary     LT     3.0Asoh     Geo-7B     59.46     0.03       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5A     24     0.024222       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.03       Ie     0     Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.03	e	0	Solid	Multi-Use Path	Primary	Ľ	3.0Asph	OP-1	0.00	0.387
Ie       0 Off       Solid       Multi-Use Path       Primary       LT       3.0Asph       Geo-7B       59.46       0.013         ie       0 Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.013         ie       0       Off       Solid       Multi-Use Path       Primary       LT       3.0Asoh       Geo-7B       59.46       0.03         ie       0       Solid       Multi-Use Path       Primary       EX       ExCross       New-1Y       0       0.014         ie       0 Off       Solid       Multi-Use Path       Primary       LT       ModDes       Mar-5A       24       0.0242223         ie       0 Off       Solid       Multi-Use Path       Primary       LT       ModDes       Mar-5B       32       0.033         ie       0 Off       Solid       Multi-Use Path       Primary       SO       3.0Apsh       Aur-1B       29       0.02866	e	0	Solid	Signed Route	Primary	Ŀ		0P-2	0.00	1.767
Ie     0 Off     Solid     Multi-Use Path     Primary     LT     3.0Asoh     Geo-7B     59.46     0.03       ie     0     Solid     Multi-Use Path     Primary     EX     ExCross     New-1Y     0     0.014       ie     0     Solid     Multi-Use Path     Primary     EX     ExCross     New-1Y     0     0.014       ie     0 Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.033       ie     0 Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.033       ie     0 Off     Solid     Multi-Use Path     Primary     SO     3.0Apsh     Aur-1B     29     0.02866	e	0 Off	Solid	Multi-Use Path	Primary	Ľ	3.0Asph	Geo-7B	59.46	0.018
Ie     0     Solid     Multi-Use Path     Primary     EX     ExCross     New-1Y     0     0.01       ie     0 Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5A     24     0.024222       ie     0 Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.03       ie     0 Off     Solid     Multi-Use Path     Primary     LT     ModDes     Mar-5B     32     0.03       ie     0 Off     Solid     Multi-Use Path     Primary     SO     3.0Apsh     Aur-1B     29     0.02866	ē	0 Off	Solid	Multi-Use Path	Primary	Ľ	3.0Asoh	Geo-7B	59.46	0.031
ie 0.0ff Solid Multi-Use Path Primary LT ModDes Mar-5A 24 0.024222 ie 0.0ff Solid Multi-Use Path Primary LT ModDes Mar-5B 32 0.03 ie 0.0ff Solid Multi-Use Path Primary ST 3.0Apsh Aur-1B 29 0.02866	e	0	Solid	Multi-Use Path	Primary	ЕX	ExCross	New-1Y	0	0.014
ie 0 Off Solid Multi-Use Path Primary LT ModDes Mar-5B 32 0.03. ie 0 Off Solid Multi-Use Path Primarv ST 3.0Apsh Aur-1B 29 0.02866	Je	0 Off	Solid	Multi-Use Path	Primary	Ľ	ModDes	Mar-5A	24	0.024225
he 0.0ff Solid Multi-Use Path Primary ST 3.0Apsh Aur-1B 29 0.02866	e	0 Off	Solid	Multi-Use Path	Primary	LT	ModDes	Mar-5B	32	0.032
	e	0 Off	Solid	Multi-Use Path	Primary	ST	3.0Apsh	Aur-1B	29	0.028663




## **APPENDIX B** LAKE TO LAKE CYCLING ROUTE & WALKING TRAIL SIGNING



450 mm



























